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 निरे्दश (1-5): निम्‍िलिखित‍ जािकारी‍ का‍
ध्‍यािपूर्वक‍अध्‍ययि‍करें‍और‍िीच‍ेदिए‍गए‍प्रश्‍िों‍
के‍उत्‍तर‍िें। 

 % - घडी‍की‍या‍तो‍लििट‍या‍घंटे‍की‍सुई‍4 पर‍
है  

 @ - घडी‍की‍या‍तो‍लििट‍या‍घंटे‍की‍सुई‍12 पर‍
है  

 $ - घडी‍की‍या‍तो‍लििट‍या‍घंटे‍की‍सुई‍5 पर‍है  
 # - घडी‍की‍या‍तो‍लििट‍या‍घंटे‍की‍सुई‍9 पर‍

है  
 & - घडी‍की‍या‍तो‍लििट‍या‍घंटे‍की‍सुई‍6 पर‍

है  
 िोट‍ –‍पहिा‍ प्रतीक, घंटे‍को‍और‍िसूरा‍ प्रतीक, 

लििट‍को‍िर्ावता‍है।  
 उिाहरण:‍सिय‍“#&” 9 घंटे‍30 लििट‍को‍िर्ावता‍

है।  
1. एक‍टे्रि‍स्‍टेर्ि‍से‍“#&” पर‍चिती‍है‍िेककि‍कुछ‍

तकिीकी‍ सिस्‍या‍ के‍ कारण‍ टे्रि‍ 3‍ घंटे‍ िेरी‍ से‍
चिती‍है, तो‍टे्रि, स्‍टेर्ि‍से‍ककतिे‍बजे‍चिी‍है? 

 A. “$%” B. “$#” 
C. “@&” D. “&$” 
E. इििें‍से‍कोई‍िहीं 

2. एक‍बस‍का‍ “#$” बजे‍ दिल्‍िी‍पहंुचिा‍ निर्ावररत‍
था।‍बस, अंबािा‍से‍दिल्‍िी‍पहंुचिे‍िें‍2‍घंटे‍40‍
लििट‍का‍सिय‍िेती‍है।‍निर्ावररत‍सिय‍से‍कि‍
से‍कि‍25‍ लििट‍पहिे‍ दिल्‍िी‍पहंुचिे‍ के‍ लिए‍
बस‍को‍अंबािा‍से‍ककतिे‍बजे‍चििा‍चादहए? 

 A. “$%” B. “&%” 
C. “&$” D. “$@” 
E. “#@” 

3. यदि‍एक‍व्‍यक्तत‍को‍रेिर्‍ेस्‍टेर्ि‍पहंुचिे‍िें‍25‍
लििट‍का‍सिय‍िगता‍है‍और‍टे्रि‍का‍निर्ावररत‍
सिय‍“$%” बजे‍है।‍तो‍10‍लििट‍पहिे‍स्‍टेर्ि‍
पहंुचिे‍ के‍ लिए‍ उसे‍ ककतिे‍ बजे‍ घर‍ से‍ चििा‍
चादहए? 

 A. “%$” B. “%&” 
C. “%@” D. “%#” 
E. इििें‍से‍कोई‍िहीं 

4. र्ताब्‍िी‍एत‍सपे्रस‍80‍कक.िी./घं.‍की‍अपिी‍सािान्‍य‍
गनत‍ से‍ बबिा‍ ककसी‍ स्‍टेर्ि‍ पर‍ रूके‍ 6‍ घंटे‍ िें‍
अपिी‍यात्रा‍पूरी‍करती‍है‍िेककि‍रु्क्रर्ार‍को‍दिल्‍िी‍
और‍िुरािाबाि‍के‍बीच‍प्रत्‍येक‍पांच‍स्‍टेर्ि‍पर‍टे्रि‍
15‍लििट‍के‍लिए‍रूकती‍है।‍अत:‍प्रत्‍येक‍रु्क्रर्ार‍
को‍अपिी‍सािान्‍य‍गनत‍से‍टे्रि‍ककतिे‍सिय‍पर‍
दिल्‍िी‍पहंुचगेी‍यदि‍र्ह‍प्रत्‍येक‍रु्क्रर्ार‍को‍“$&” 
बजे‍छूटती‍है? 

 A. “@&” B. “@$” 
C. “@#” D. “#@” 
E. “#&” 

5. एक‍उद्घाटि‍सिारोह‍“$$” बजे‍होिा‍निर्ावररत‍है‍
िेककि‍बाररर्‍के‍कारण‍सिारोह‍ रु्रू‍होिे‍िें‍1‍
घंटा‍20‍लििट‍की‍िेरी‍हो‍गई।‍अब‍सिारोह‍‍ककतिे‍
बजे‍रु्रू‍होगा? 

 A. “&$” B. “&%” 
C. “#%” D. “$#” 
E. “&#” 

 निरे्दश (6-10): निम्‍िलिखित‍ जािकारी‍ का‍
ध्‍यािूपर्वक‍अध्‍ययि‍करें‍और‍िीच‍ेदिए‍गए‍प्रश्‍िों‍
के‍उत्‍तर‍िें।  

 िस‍र्ाहि‍जैसे:‍साइककि, स्‍कूटर, कार, ऑटो, टे्रि, 

िार्, ट्रक, हेिीकॉप्‍टर, िोटरसाइककि‍ और‍ हर्ाई‍
जहाज‍की‍सापेक्ष‍गनत‍जैसे:‍9, 17, 30, 35, 45, 

55, 70, 224, 367‍और‍575‍है‍िेककि‍जरूरी‍
िहीं‍ है‍ कक‍ इसी‍क्रि‍िें‍ हों।‍ इि‍ र्ाहिों‍को‍ िो‍
पंक्ततयों‍ िें‍ इस‍ प्रकार‍ िडा‍ ककया‍ जाता‍ है‍ कक‍
प्रत्‍येक‍पंक्तत‍िें‍पाच‍र्ाहि‍हैं‍और‍एक‍पंक्तत‍का‍
प्रत्‍येक‍ र्ाहि‍ अन्‍य‍ पंक्तत‍ के‍ प्रत्‍येक‍ र्ाहि‍ के‍
वर्परीत‍िडा‍ है।‍सभी‍र्ाहिों‍को‍पूर्व‍ से‍पक्श्चि‍
की‍ओर‍उिकी‍गनत‍(कक.िी./घं.)‍के‍बढ़त‍ेहुए‍क्रि‍
िें‍िडा‍ककया‍जाता‍है। कार, अंनति‍छोर‍से‍तीसरे‍
स्‍थाि‍ पर‍ है।‍ कार‍ का‍ िुि, िार्‍ के‍ निकटति‍
पडोसी‍की‍ओर‍है‍क्जसकी‍गनत‍17‍कक.िी/घं.‍है।‍
िोटरसाइककि‍ और‍ हेिीकॉप्‍टर‍ एक-िसूरे‍ के‍
निकटति‍पडोसी‍ हैं‍और‍इििें‍ से‍ एक‍की‍गनत‍
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सि‍अंकों‍िें‍और‍अन्‍य‍की‍गनत‍वर्षि‍अंकों‍िें‍
है।‍टे्रि‍इंजि‍और‍िार्‍के‍बीच‍िें‍केर्ि‍एक‍र्ाहि‍
है, इििें‍ से‍ ककसी‍ की‍ भी‍ गनत‍ 55अथर्ा‍
35कक.िी./घं.‍िहीं‍है।‍साइककि‍और‍िार्‍एक-िसूरे‍
के‍निकटति‍पडोसी‍हैं।‍क्जस‍र्ाहि‍का‍िुि‍टे्रि‍
इंजि‍की‍ओर‍है, र्ह‍स्‍कूटर‍के‍िादहिे‍तीसरा‍है‍
और‍िोिों‍र्ाहि‍स्‍कूटर और‍टे्रि‍इंजि‍की‍गनत‍5‍
के‍गुणज‍िें‍ है।‍ट्रक‍का‍िुि‍कार‍की‍ओर‍ है।‍
हर्ाई‍जहाज‍ ककसी‍अंनति‍छोर‍पर‍िडा‍ है‍और‍
उसकी‍गनत‍सबसे‍अधर्क‍है।‍क्जि‍र्ाहिों‍की‍गनत‍
35‍और‍45कक.िी/घं.‍है, र्े‍एक-िसूरे‍के‍निकटति‍
पडोसी‍हैं।‍िोटर‍साइककि‍की‍गनत, टे्रि‍इंजि‍से‍
अधर्क‍ है।िोटरसाइककि और ट्रक‍ की‍ गनत‍
50कक.िी./घं.‍ से‍अधर्क‍ है। हेिीकॉप्टर‍और‍कार‍
की‍गनत‍क्रिर्ः‍367‍ककिी‍/‍घंटा‍और‍45‍ककिी‍
है।‍स्कूटर‍की‍सबसे‍कि‍गनत‍िहीं‍है|  

6. िोटरसाइककि‍और‍ट्रक‍की‍गनत‍िें‍अंतर‍ज्ञात‍
करें? 

 A. 170कक.िी./घं. B. 171कक.िी./घं. 
C. 169कक.िी./घं. D. 168कक.िी./घं. 
E. 165कक.िी./घं. 

7. वर्षि‍पि‍चुनिए? 

 A. साइककि  B. हर्ाई‍जहाज  

C. हेिीकॉप्‍टर  D. ऑटो  
E. स्‍कूटर 

8. ऑटो‍की‍गनत‍त‍या‍है? 

 A. 224कक.िी./घं.  B. 35कक.िी./घं.  
C. 70कक.िी./घं.  D. 45कक.िी./घं.  
E. 55कक.िी./घं.  

9. निम्‍ि‍िें‍से‍कौि‍िार्‍के‍ठीक‍बांए‍है? 

 A. टे्रि  B. साइककि  

C. स्‍कूटर  D. साइककि  

E. ट्रक  

10. कार‍और‍साइककि‍की‍गनत‍का‍योग‍त‍या‍है? 

 A. 95कक.िी./घं.  B. 54कक.िी./घं.  
C. 36कक.िी./घं.  D. 39कक.िी./घं.  
E. 64कक.िी./घं.  

 निरे्दश (11-15): दिए‍गए‍प्रश्‍िों‍के‍उत्‍तर‍िेिे‍के‍
लिए‍ निम्‍िलिखित‍ जािकारी‍ का‍ ध्‍यािपूर्वक 

अध्‍ययि करें। 
 P, Q, R, S, T, U, V और‍W एक‍र्गावकार‍िेज‍

के‍चारों-ओर‍इस‍प्रकार‍बैठे‍हैं‍ कक‍इििें‍से‍चार‍
व्‍यक्तत‍ िेज‍ के‍ ककिारों‍ पर‍ और‍ चार‍ व्‍यक्तत‍
भुजाओं‍ के‍ िध्‍य‍ िें‍ बैठे‍ हैं।‍ ककिारों‍ पर‍ बैठे‍
व्‍यक्ततयों‍का‍िुि‍कें द्र‍की‍ओर‍और‍भुजाओं‍के‍
िध्‍य‍िें‍बैठे‍व्‍यक्ततयों‍का‍िुि‍कें द्र‍से‍बाहर‍की‍
ओर‍है।‍प्रत्‍येक‍व्‍यक्तत‍का‍अिग-अिग‍िकी‍िम्‍बर‍
1, 2, 3, 4, 5, 6, 7‍और‍8‍है, िेककि‍जरूरी‍िहीं‍
है‍कक‍सिाि‍क्रि‍िें‍हों। 

 S की‍पुत्री‍का‍िकी‍िम्‍बर‍1‍है।‍P और‍U के‍बीच‍
िें‍केर्ि‍एक‍व्‍यक्तत‍बैठा‍है।‍W का‍भाई‍S, अपिी‍
िाता‍के‍ठीक‍बांए‍बैठा‍है‍क्जिका‍िकी‍िम्‍बर‍6‍
है।‍P, V का‍वपता‍है‍और‍W की‍िाता‍और‍T के‍
बीच‍िें‍केर्ि‍एक‍व्‍यक्तत‍बैठा‍है।‍T, उस‍व्‍यक्तत‍
के‍ठीक‍िादहिे‍बैठा‍है‍क्जसका‍िकी‍िम्‍बर‍2‍है।‍
कोई‍भी‍िदहिा, Q की‍निकटति‍पडोसी‍िहीं‍है, 
जो‍िेज‍के‍ककिारे‍पर‍बैठा‍है।‍S की‍पुत्री, U के‍
िादहिे‍िसूरे‍स्‍थाि‍पर‍बैठी‍है‍और‍उस‍व्‍यक्तत‍के‍
ठीक‍बांए‍बैठी‍है‍क्जसका‍िकी‍िम्‍बर‍3है।‍Q, W 

के‍पनत‍के‍बांए‍िसूरा‍बैठा‍है‍क्जसका‍िकी‍िम्‍बर‍
ि‍तो‍4है‍ि‍ही‍7है।‍U, जो‍V की‍बहि‍है, उसका‍
िकी‍िम्‍बर‍7‍है‍और‍र्ह, W के‍पनत‍की‍निकटति‍
पडासी‍िहीं‍ है।‍W और‍V के‍बीच‍िें‍केर्ि‍एक‍
व्‍यक्तत‍बैठा‍ है।‍V, उस‍व्‍यक्तत‍के‍िादहिे‍िसूरा‍
बैठा‍है‍क्जसका‍िकी‍िम्‍बर‍8‍है।‍V, R का‍वपता‍
है‍और‍र्ह‍T का‍निकटति‍पडोसी‍िहीं‍है।‍P का‍
वर्र्ाह‍W से‍हुआ‍है।  
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11. Q, U से‍ककस‍प्रकार‍संबंधर्त‍है? 

 A. िाता B. बहि 

C. पुत्री D. िािी/िािी 
E. इििें‍से‍कोई‍िहीं 

12. P के‍िादहिे‍िसूरे‍स्‍थाि‍पर‍कौि‍बैठा‍है? 

 A. U B. Q 

C. W D. V 

E. R 

13. W का‍िकी‍िम्‍बर‍त‍या‍है? 

 A. 2 B. 4 

C. 3 D. 7 

E. 8 

14. निम्‍ि‍पांच‍िें‍से‍चार‍ककसी‍निक्श्चत‍प्रकार‍से‍
एक-सिाि‍हैं‍और‍एक‍सिूह‍बिात‍ेहैं।‍निम्‍ि‍िें‍
से‍कौि‍सिूह‍से‍संबंधर्त‍िहीं‍है? 

 A. W B. V 

C. R D. P 

E. S 

15. निम्‍ि‍िें‍से‍कौि‍सा‍कथि‍सत्‍य‍है? 

 A. V का‍िकी‍िम्‍बर‍5है। 
 B. U, Q की‍पुत्री‍है। 
 C. P, T के‍ठीक‍बांए‍बैठा‍है। 
 D. R का‍िुि‍कें द्र‍की‍ओर‍है। 
 E. P और‍T एक-िसूरे‍के‍वर्परीत‍बैठे‍हैं। 
 निरे्दश (16-20): निम्‍िलिखित‍ जािकारी‍ का‍

ध्‍यािपूर्वक‍अध्‍ययि‍करें‍और‍िीच‍ेदिए‍गए‍प्रश्‍िों‍
के‍उत्‍तर‍िें। 

 दिए‍गए‍प्रश्‍िों‍िें‍िो‍पंक्ततयां‍िी‍गई‍हैं‍और‍दिए‍
गए‍नियिों‍का‍अिुसरण‍करत‍े हुए‍वर्र्ेष‍पंक्तत‍
का‍पररणाि‍ज्ञात‍करें। 

 चरण‍1 – यदि‍एक‍वर्षि‍संख्‍या‍का‍सि‍संख्‍या‍
द्र्ारा‍अिुसरण‍ ककया‍जाता‍ है‍ तो‍संख्‍याओं‍का‍
गुणा‍करि‍ेपर‍पररणाि‍प्राप्‍त‍होगा।  

 चरण‍2 – यदि‍एक‍सि‍संख्‍या‍का‍एक‍वर्षि‍गैर-
अभाज्‍य‍संख्‍या‍द्र्ारा‍अिुसरण‍ककया‍जाता‍है‍तो‍
िोिों‍संख्‍याओं‍का‍अंतर‍पररणाि‍होगा।  

 चरण‍3 – यदि‍एक‍सि‍संख्‍या‍का‍एक‍अभाज्‍य‍
संख्‍या‍(2‍को‍छोडकर)‍द्र्ारा‍अिुसरण‍ककया‍जाता‍
है‍तो‍िोिों‍संख्‍याओं‍का‍योग‍पररणाि‍होगा।  

 चरण‍4 – यदि‍एक‍वर्षि‍संख्‍या‍का‍एक‍पूणव‍घि‍
द्र्ारा‍अिुसरण‍ककया‍जाता‍है‍तो‍पररणाि, िोिों‍
संख्‍याओं‍का‍अंतर‍होगा।  

 चरण‍5 – यदि‍एक‍वर्षि‍सखं्‍या‍का‍अन्‍य‍वर्षि‍
संख्‍या‍द्र्ारा‍अिुसरण‍ककया‍जाता‍है‍तो‍पररणाि, 

िोिों‍संख्‍याओं‍का‍योग‍होगा।  
16. िो‍पंक्ततयों‍ के‍पररणाि‍का‍अंतर‍ज्ञात‍कीक्जए, 

यदि‍पहिी‍पंक्तत‍का‍पररणाि‍A है?  

 9 216 6 A 5 11 

 A. 15 B. 16 

C. 13 D. 14 

E. 12 

17. िो‍पंक्ततयों‍के‍पररणाि‍का‍योग‍ज्ञात‍कीक्जए?  

15 08 15  

35 45 13 

 A. 191 B. 195 

C. 198 D. 207 

E. 205 

18. िो‍पंक्ततयों‍के‍पररणाि‍का‍अतंर‍ज्ञात‍कीक्जए?  

08 11 8  

26 21 7 

 A. 0 B. 1 

C. 2 D. 5 

E. 6 

19. यदि‍ X, िसूरी‍ पंक्तत‍ का‍ पररणाि‍ है।‍ तो‍ िोिों‍
पंक्ततयों‍के‍पररणाि‍का‍गुणिफि‍ज्ञात‍कीक्जए? 

 X 06 15  

 45 33 03 

 A. 38151 B. 38150 

C. 37541 D. 38521 

E. 38542 

20. यदि‍िोिों‍पंक्ततयों‍के‍पररणाि‍का‍योग‍30 है‍तो‍
X का‍िाि‍ज्ञात‍कीक्जए?  

3 27 15  

7 03 X 

 A. 10 B. 11 

C. 12 D. 14 

E. 16 
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 निरे्दश (21-25): दिए‍गए‍प्रश्‍िों‍के‍उत्‍तर‍िेिे‍के‍
लिए‍ निम्‍िलिखित‍ जािकारी‍ का‍ ध्‍यािपूर्वक‍
अध्‍ययि‍करें। 

 6‍घोड‍ेP, Q, R, S, T और‍U को‍एक‍पंक्तत‍िें‍
उत्‍तर‍की‍ओर‍िुि‍करके‍िडा‍ककया‍जाता‍है‍और‍
बांए‍से‍िादहिी‍ओर‍िो‍आसन्‍ि‍घोडों‍के‍बीच‍की‍
िरूी‍4के‍क्रिागत‍पूणव‍गुणज‍के‍रूप‍िें‍बढ़ती‍जाती‍
है।‍R और‍S के‍बीच‍की‍िरूी‍60‍िीटर‍है‍और‍
इिके‍बीच‍िें‍केर्ि‍िो‍घोड‍ेिड‍ेहैं।‍U, R के‍ठीक‍
बांए‍बैठा‍है।‍P, U के‍िादहिे‍ककसी‍स्‍थाि‍पर‍िडा‍
है‍और‍इिके‍बीच‍की‍िरूी‍6‍के‍गुणज‍िें‍है।‍R 

और‍Q के‍बीच‍की‍िरूी‍44‍िी.‍है।‍घोडा‍P पूर्व‍
की‍ओर‍चििा‍रु्रू‍करता‍है, 12‍िीटर‍चििे‍के‍
बाि‍ र्ह‍ अपिे‍ िादहिे‍ िुडता‍ है‍और‍ 60‍ िीटर‍
चिता‍है।‍यहां‍से‍अपिे‍बांए‍िुडिे‍के‍बाि‍और‍5‍
िीटर‍ िरूी‍ तय‍करि‍े के‍ बाि‍ बबिं‍ुX पर‍आकर‍
वर्श्राि‍करता‍है।‍घोडा‍U, उत्‍तर‍दिर्ा‍िें‍20‍िीटर‍
की‍िरूी‍तय‍करता‍है‍और‍अपिे‍बांए‍िुडकर‍26‍
िीटर‍चिता‍है, एक‍बार‍और‍बांए‍िुडिे‍के‍बाि‍
5‍िीटर‍चिकर‍र्ह‍बबिं‍ुY पर‍रूकता‍है।  

21. घोड‍ेS और‍R के‍बीच‍की‍िरूी‍ककतिी‍है? 

 A. 50 िीटर B. 70 िीटर 
C. 40 िीटर D. 60 िीटर 
E. 30 िीटर 

22. अब‍घोड ेP का‍िुि‍ककस‍दिर्ा‍िें‍है? 

 A. उत्‍तर  B. िक्षक्षण  

C. उत्‍तर-पूर्व  D. पूर्व  
E. पक्श्चि  

23. निम्‍ि‍िें‍से‍कौि Q के‍ठीक‍िादहिे‍है? 

 A. S  B. R  
C. U  D. T  

E. P  

24. यहां‍पर S और P के‍बीच‍िें‍ककतिे‍घोड‍ेहैं? 

 A. कोई‍िहीं  B. एक  

C. िो  D. तीि  

E. चार  

25. बबिं ुY, X के‍सापेक्ष‍ककस‍दिर्ा‍िें‍है? 

 A. उत्‍तर  B. उत्‍तर-पूर्व  
C. उत्‍तर-पक्श्चि  D. िक्षक्षण-पूर्व  
E. पक्श्चि  

 निरे्दश (26-29): दिए‍गए‍प्रश्‍िों‍के‍उत्‍तर‍िेिे‍के‍
लिए‍ निम्‍िलिखित‍ जािकारी‍ का‍ ध्‍यािपूर्वक‍
अध्‍ययि‍करें। 

 आठ‍व्‍यक्तत‍P, Q, R, S, T, U, V और‍W एक‍
िस‍िंक्जिा‍इिारत‍िें‍रहत‍ेहैं, भूति‍को‍क्रिांक‍
1‍और‍सबसे‍ऊपरी‍ति‍को‍क्रिांक‍10दिया‍गया‍
है।‍इिारत‍िें‍िो‍ति‍िािी‍हैं।‍यहां‍पर‍8फि-‍
सेब, आि, केिा, पपीता, संतरा, चरेी, स्‍ट्राबेरी‍और‍
अिरूि‍हैं, इििें‍से‍एक‍व्‍यक्तत‍केर्ि‍एक‍ही‍फि‍
पसंि‍करता‍ है, िेककि‍जरूरी‍िहीं‍ है‍ कक‍सिाि‍
क्रि‍िें‍हों। 

 जो‍व्‍यक्तत‍अिरूि‍पसंि‍करता‍है‍र्ह, पपीता‍पसंि‍
करि‍ेर्ािे‍व्‍यक्तत‍के‍िीच‍ेरहता‍है‍िेककि‍स्‍ट्रॉबेरी‍
पसंि‍करि‍े र्ािे‍ व्‍यक्तत‍ के‍ िीच‍ेिहीं‍ रहता‍ है।‍
यहां‍ पर‍P और‍Q के‍बीच‍िें‍तीि‍ति‍हैं।‍जो‍
व्‍यक्तत‍आि‍पसंि‍करता‍है‍र्ह, P और‍Q िोिों‍के‍
िीच‍ेरहता‍है।‍U और‍केिा‍पसंि‍करि‍ेर्ािे‍व्‍यक्तत‍
के‍बीच‍िें‍केर्ि‍तीि‍तिों‍का‍अंतर‍है।‍U, केिा‍
पसंि‍करि‍ेर्ािे‍व्‍यक्तत‍के‍िीच‍ेककसी‍एक‍ति‍
पर‍रहता‍है।‍U और‍S के‍बीच‍िें‍केर्ि‍3‍ति‍
हैं।‍V, चरेी‍पसंि‍करि‍ेर्ािे‍व्‍यक्तत‍के‍ठीक‍िीच‍े
रहता‍है।‍U और‍केिा‍पसंि‍करि‍ेर्ािे‍व्‍यक्तत‍के‍
बीच‍िें‍ रहिे‍ र्ािे‍ व्‍यक्ततयों‍की‍संख्‍या, U और‍
संतरा‍ पसंि‍ करि‍े र्ािे‍ व्‍यक्तत‍ के‍ बीच‍ रहिे‍
व्‍यक्ततयों‍की‍संख्‍या‍के‍बराबर‍ है।‍S, केिा‍िहीं‍
पसंि‍करता‍है।‍जो‍व्‍यक्तत‍चरेी‍पसंि‍करता‍है‍र्ह, 
सबसे‍ऊपरी‍ति‍पर‍िहीं‍ रहता‍ है।‍यहां‍पर‍W 

और‍R के‍बीच‍िें‍िो‍ति‍हैं।‍जो‍व्‍यक्तत‍सेब‍पसंि‍
करता‍है‍र्ह, P और‍W के‍ठीक‍बीच‍िें‍रहता‍है।‍
W, आि‍पसंि‍करता‍है‍और‍र्ह‍सबसे‍िीच‍ेर्ािे‍
ति‍पर‍रहता‍है| Q, P के‍ऊपर‍रहता‍है|  
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26. निम्‍ि‍िें‍से‍कौि‍पपीता‍पसंि‍करता‍है? 

 A. P B. V 

C. Q D. S 

E. R 

27. निम्‍ि‍िें‍से‍कौि‍िािी‍ति‍के‍ठीक‍ऊपर‍रहता‍
है? 

 A. S   

 B. T  

C. जो‍व्‍यक्तत‍पपीता‍पसंि‍करता‍है  
D. R  

E. जो‍व्‍यक्तत‍आि‍पसंि‍करता‍है  
28. निम्‍ि‍िें‍से‍कौि‍सा‍ति‍िािी‍है? 

 A. 2  B. 7  

C. 6  D. 9  

E. 4  

29. T और‍अिरूि‍पसंि‍करि‍ेर्ािे‍व्‍यक्तत‍के‍बीच‍
िें‍ककतिे‍व्‍यक्तत‍रहत‍ेहैं? 

 A. िो  B. तीि  

C. चार  D. एक  

E. पांच  

30. निरे्दश: िीच‍े दिए‍गए‍प्रत्‍येक‍िें‍ एक‍कथि तीि 

निष्‍कषव‍।‍और‍।।‍दिए‍गए‍हैं| आपको‍कथि‍िें‍िी‍
गई‍संपूणव‍जािकारी‍को‍सत्‍य‍िाििा‍है‍और‍कथि‍
िें‍िी‍गई‍जािकारी‍ के‍आर्ार‍पर‍यह‍निर्ावररत‍
करिा‍है‍कक‍कौि‍सा‍निष्‍कषव‍उधचत‍संिेह‍से‍परे‍
होकर‍ताककव क‍रूप‍से‍अिुसरण‍करता‍है।‍उत्‍तर‍िें।  

 कथि:  
भारत‍पहिी‍बार‍गणतंत्र‍दिर्स‍2018 सिारोह‍पर‍
िस‍एलर्याई‍िेर्ों‍के‍प्रिुिों‍को‍आिंबत्रत‍करेगा।‍
आलसयाि, िक्षक्षणपूर्व‍ एलर्याई‍ िेर्ों‍ का‍ संघ‍ है।‍
वर्यतिाि, िाओस, कफिीपींस, लसगंापुर, थाईिैंड, 
इंडोिेलर्या, कंबोडडया, ब्रुिेई, ििेलर्या‍और‍म्यांिार‍
इसके‍सिस्य‍हैं। 

 निम्िलिखित‍कथि‍िें‍से‍ककससे‍अिुिाि‍िगाया‍
जा‍सकता‍है? 

 निष्कर्ष:  
 (i) गणतंत्र‍दिर्स‍2018 पर‍पहिी‍बार‍ऐसा‍होगा‍

कक‍इतिे‍सारे‍िेताओ‍ंको‍परेड‍िें‍िुख्य‍अनतधथ‍के‍
रूप‍िें‍आिंबत्रत‍ककया‍गया‍है, जो‍भारत‍की‍सैन्य‍
र्क्तत‍प्रिलर्वत‍करेगी।  

 (ii) िक्षक्षणपूर्व‍एलर्याई‍िेर्ों‍िें‍केर्ि‍भारत‍ही‍एक‍
ऐसा‍िेर्‍है‍जो‍गणतंत्र‍दिर्स‍ििाता‍है।  

 (iii) भारत‍और‍आलसयाि‍सकक्रय‍आधथवक‍साझिेारी‍
िें‍ सकक्रय‍ रूप‍ से‍ र्ालिि‍ हैं, क्जसके‍ सबसे‍ बडी‍
क्षेत्रीय‍ व्यापार‍ व्यर्स्था‍ के‍ रूप‍ िें‍ उभरि‍े की‍
उम्िीि‍है। 

 A. यदि‍केर्ि‍निष्‍कषव‍II अिुसरण‍करता‍है। 
B. यदि‍केर्ि‍निष्‍कषव‍I, III अिुसरण‍करत‍ेहैं। 
C. यदि‍केर्ि‍निष्‍कषव‍I अिुसरण‍करता‍है। 
D. यदि‍केर्ि‍निष्‍कषव‍III अिुसरण‍करता‍है। 
E. यदि‍ि‍तो‍I ि‍ही‍II और‍III अिुसरण‍करत‍े
हैं। 

31. निरे्दश:‍निम्‍िलिखित‍प्रश्‍िों‍िें‍दिए‍गए‍उत्‍तरों‍के‍
वर्कल्‍पों‍िें‍से‍सबसे‍उपयुत‍त‍उत्‍तर‍चुिें। 

 पीएिओएस‍िेडडलसि‍िें‍प्रकालर्त‍एक‍अध्ययि‍िें‍
पाया‍गया‍कक‍संयुतत‍राज्य‍अिेररका‍िें‍होिे‍र्ािी 
10 िें‍ से 1 िौत‍ का‍ कारण‍ िोटापा‍ था।‍ उच्च‍
रततचाप‍और‍रू्म्रपाि‍के‍बाि, पुरुषों‍और‍िदहिाओं‍
िें‍ िोटापा‍ ितृ्‍यु‍ का‍ तीसरा‍ प्रिुि‍ कारण‍ था।‍
इसलिए, कई‍ डॉतटरों‍ का‍ िाििा‍ है‍ कक‍ गंभीर‍
बीिाररयों‍की‍शे्रणी‍िें‍िोटापे‍को‍र्ालिि‍करि‍ेका‍
सिय‍आ‍ गया‍ है‍ तयोंकक‍ यह‍ ि‍ केर्ि‍ जीर्ि‍
प्रत्यार्ा‍को‍कि‍करता‍है‍बक्ल्क‍र्रीर‍की‍सािान्य‍
कायवप्रणािी‍को‍भी‍प्रभावर्त‍करता‍है। 

 निम्िलिखित में से कौि सा कथि सही है यदर्द यह 
दर्दए गए तकष  को कमजोर करता है? 

 A. अत्‍यधर्क‍ िोटापा, ककसी‍ व्‍यक्तत‍ की‍ जीर्ि‍
प्रत्‍यार्ा‍को 10 साि‍तक‍कि‍कर‍सकता‍है। 

 B. िोटापा‍ बहुत‍ ज्यािा‍ िाि‍े और‍ आसन्ि‍
जीर्िरै्िी‍का‍ितीजा‍है‍और‍इसे‍प्रनत‍बीिारी‍के‍
रूप‍िें‍पररभावषत‍िहीं‍ककया‍जा‍सकता‍है। 
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 C. िोटापा‍एक‍अिुर्ांलर्क‍वर्कार‍हो‍सकता‍है‍जैसे‍
कक‍लसकि‍सेि‍एिीलिया‍और‍टैचस, क्जन्हें‍रोगों‍
के‍रूप‍िें‍र्गीकृत‍ककया‍गया‍है। 

 D. िाद्य‍एर्ं‍िर्ा‍प्रर्ासि, अिेररकी‍हृिय‍संघ, 

अिेररकि‍ कॉिेज‍ ऑफ‍ काडड वयोिॉजी, ओबेलसटी‍
सोसाइटी, िेर्िि‍हाटव, फेफड,े और‍ब्िड‍इंस्टीट्यूट, 
और‍ अिेररकि‍ कॉिेज‍ ऑफ‍ गैस्ट्रोएंटेरोिॉजी‍ िे‍
िोटापे‍को‍बीिारी‍के‍रूप‍िें‍पहचािा‍है। 

 E. िोटापा‍ और‍ िोटापे‍ से‍ संबंधर्त‍ स्र्ास््य‍
क्स्थनतयों‍ िें‍ संयुतत‍ राज्य‍ अिेररका‍ िें‍ र्ावषवक‍
धचककत्सा‍िचव‍का‍िगभग 10% िचव‍होता‍है। 

 निरे्दश (32-36): दिए‍गए‍प्रश्‍िों‍के‍उत्‍तर‍िेिे‍के‍
लिए‍ निम्‍िलिखित‍ जािकारी‍ का‍ ध्‍यािपूर्वक‍
अध्‍ययि‍करें। 

 आठ‍व्‍यक्तत‍A, B, C, D, E, F, G और‍H का‍
जन्‍ि‍तीि‍ वर्लभन्‍ि‍िहीिों‍जैसे:‍िाचव, जूि‍और‍
दिसंबर‍(सिाि‍र्षव‍के)‍िें‍ हुआ।‍िाचव, जूि‍और‍
दिसंबर‍िें‍जन्‍ि‍इस‍प्रकार‍हुआ‍है‍कक‍एक‍िहीिे‍
िें‍ि‍तो‍िो‍ से‍कि‍और‍ि‍ही‍तीि‍ से‍अधर्क‍
व्‍यक्ततयों‍का‍जन्‍ि‍हुआ‍है।‍इििें‍से‍प्रत्‍येक‍व्‍यक्तत‍
अिग-अिग‍ रंग‍ जैसे:‍ िाि, हरा, िीिा, िारंगी, 
गुिाबी, सफेि, कािा‍और‍ गे्र‍ रंग‍ पसिं‍ करत‍े हैं‍
िेककि‍जरूरी‍िहीं‍है‍कक‍इसी‍क्रि‍िें‍हों।‍र्‍ेअिग-
अिग‍ व्‍यर्साय‍ जैसे:‍ डॉत‍टर, इंजीनियर, 
आई.ए.एस, पी.सी.एस, र्ैज्ञानिक, प्रोफेसर, लर्क्षक‍
और‍फैर्ि‍डडजाइिर‍हैं‍िेककि‍जरूरी‍िहीं‍है‍कक‍
सिाि‍क्रि‍िें‍हों। 

 जो‍व्‍यक्तत‍लर्क्षक‍है‍उसका‍जन्‍ि‍उस‍िहीिे‍िें‍
हुआ‍है‍क्जसिें‍30‍से‍अधर्क‍दिि‍होत‍ेहैं‍और‍जो‍
व्‍यक्तत‍इंजीनियर‍है‍उसका‍भी‍जन्‍ि‍उस‍िहीिे‍िें‍
हुआ‍है‍क्जसिें‍30‍से‍अधर्क‍दिि‍होत‍ेहैं।‍C, गे्र‍
रंग‍पसंि‍करता‍है‍और‍इसका‍जन्‍ि‍उसी‍िहीिे‍
िें‍ हुआ‍ है‍ क्जस‍िहीिे‍िें‍E का‍जन्‍ि‍ हुआ‍ है।‍
केर्ि‍B और‍H का‍जन्‍ि‍िाचव‍िें‍ हुआ‍ है।‍जो‍
व्‍यक्तत‍गुिाबी‍रंग‍पसंि‍करता‍है‍उसका‍जन्‍ि‍उस‍

िहीिे‍िें‍हुआ‍है‍क्जसिें‍केर्ि‍30‍दिि‍होत‍ेहैं।‍F 

का‍जन्‍ि, E के‍सिाि‍िहीिे‍िें‍िहीं‍हुआ‍है।‍B, 

एक‍र्ैज्ञानिक‍है‍और‍जो‍व्‍यक्तत‍गुिाबी‍रंग‍पसंि‍
करता‍है‍र्ह‍डॉत‍टर‍है।‍D, िारंगी‍रंग‍पसंि‍करता‍
है‍और‍उसका‍जन्‍ि, F के‍सिाि‍िहीिे‍िें‍ हुआ‍
है।‍G, गुिाबी‍रंग‍िहीं‍पसंि‍करता‍है।‍कािा‍और‍
िीिा‍ रंग‍ पसंि‍ करि‍े र्ािे‍ व्‍यक्ततयों‍ का‍ जन्‍ि‍
सिाि‍िहीिे‍िें‍ हुआ‍ है।‍जो‍ व्‍यक्तत‍कािा‍ रंग‍
पसंि‍करता‍ है‍जोकक‍आई.ए.एस‍ है, जन्‍ि‍H के‍
सिाि‍िहीिे‍िें‍िहीं‍हुआ‍है।‍जो‍व्‍यक्तत‍िाि‍रंग‍
पसंि‍करता‍है, उसका‍जन्‍ि‍A के‍सिाि‍िहीिे‍िें‍
हुआ‍है।‍B, हरा‍रंग‍िहीं‍पसंि‍करता‍है‍और‍E, 

गुिाबी‍ रंग‍ िहीं‍ पसंि‍ करता‍ है।‍ जो‍ व्‍यक्तत‍
र्ैज्ञानिक‍ है‍ उसका‍जन्‍ि‍ उस‍िहीिे‍ िें‍ हुआ‍ है‍
क्जसिें‍30‍से‍अधर्क‍दिि‍होत‍ेहैं‍और‍जो‍व्‍यक्तत‍
प्रोफेसर‍ है, उसका‍ जन्‍ि‍ उस‍ िहीिे‍ िें‍ हुआ‍ है‍
क्जसिें‍ 31‍ से‍ कि‍ दिि‍ होत‍े हैं।‍ जो‍ व्‍यक्तत‍
आई.पी.एस‍है‍उसका‍जन्‍ि‍उस‍िहीिे‍िें‍हुआ‍है‍
क्जसिें‍31‍से‍कि‍दिि‍होते‍हैं‍और‍जो‍व्‍यक्तत‍
आई.ए.एस‍है‍उसका‍जन्‍ि‍उस‍िहीिे‍िें‍ हुआ‍है‍
क्जसिें‍30‍से‍अधर्क‍दिि‍होत‍ेहैं।‍C ि‍तो‍फैर्ि‍
डडजाइिर‍ है‍ ि‍ ही‍ आई.पी.एस‍ है।‍ H, फैर्ि‍
डडजाइिर‍है।‍F, कािा‍रंग‍िहीं‍पसंि‍करता‍है‍और‍
जो‍व्‍यक्तत‍िारंगी‍रंग‍पसंि‍करता‍है‍र्ह‍इंजीनियर‍
है।‍C का‍जन्‍ि‍दिसंबर‍िें‍िहीं‍हुआ‍है।  

32. निम्‍ि‍िें‍से‍कौि‍आई.ए.एस‍है? 

 A. E B. G 
 C. C D. A 

 E. F 

33. निम्‍ि‍िें‍से‍कौि‍िारंगी‍रंग‍पसंि‍करता‍है? 

 A. E  B. H  
C. D  D. F  

E. B  

34. निम्‍ि‍िें‍से‍ककसका‍जन्‍ि‍दिसंबर‍िें‍हुआ‍है? 

 A. C  B. A  
C. B  D. E  

E. इििें‍से‍कोई‍िहीं  
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35. निम्‍ि‍िें‍से‍कौि‍सिूह‍से‍सबंंर्‍िहीं‍रिता‍है? 

 A. जो‍व्‍यक्तत‍आई.पी.एस‍है  
B. जो‍गुिाबी‍गुिाबी‍रंग‍पसिं‍करता‍है  
C. E  

D. क्जस‍व्‍यक्तत‍का‍जन्‍ि‍जूि‍िें‍हुआ‍है  
E. जो‍व्‍यक्तत‍इंजीनियर‍है  

36. C कौि‍सा‍रंग‍पसंि‍करता‍है? 

 A. िीिा  B. गे्र  

C. गुिाबी  D. सफेि  

E. िाि  

37. निरे्दश: िीच‍ेदिए‍गए‍प्रश्‍ि‍िें‍एक‍कथि‍दिया‍गया‍
है‍क्जसका‍तीि‍कायवर्ादहयां‍अिुसरण‍करती‍हैं।‍एक‍
कायवर्ाही‍सुर्ार, निकट‍होिे‍आदि‍के‍लिए‍िी‍गई‍
है।‍कथि‍को‍ध्‍यािपूर्वक‍पढे़‍और‍अपिा‍उत्‍तर‍िें।  

 कथि:  

एक‍चाकू‍चिािे‍र्ािे‍हििार्र‍िे‍र्निर्ार‍की‍रात‍
पुलिस‍द्र्ारा‍िारे‍जािे‍से‍पहिे‍पेररस‍के‍प्रलसद्र्‍
ओपेरा‍गानिवयर‍के‍पास‍एक‍जीर्ंत‍पडोस‍िें‍एक 

29 र्षीय‍व्यक्तत‍को‍िार‍ दिया‍और‍चार‍अन्य‍
व्‍यक्ततयों‍को‍घायि‍कर‍दिया। 

 कायषवाही:  
।.‍सरकार‍को‍सभी‍प्रिुि‍र्हरों‍िें‍चाकू‍की‍बबक्री‍
पर‍प्रनतबंर्‍िगा‍िेिा‍चादहए।  

 ।।.‍चाकू‍ िेकर‍जािे‍ र्ािे‍ ककसी‍भी‍ व्यक्तत‍को‍
तुरंत‍पुलिस‍दहरासत‍िें‍िेिा‍चादहए।  

 ।।।.‍ ऐसी‍ अिजाि‍ घटिाओं‍ से‍ बचिे‍ के‍ लिए‍
पुलिसकलिवयों‍को‍सभी‍प्रिुि‍पयवटक‍स्थिों‍के‍पास‍
तैिात‍ककया‍जािा‍चादहए। 

 A. केर्ि‍कायवर्ाही I अिुसरण‍करती‍है।  
B. केर्ि‍कायवर्ाही II अिुसरण‍करती‍है।  
C. िोिो I और II अिुसरण‍करत‍ेहैं।  
D. िोिो II और III अिुसरण‍करत‍ेहैं।  
E. इििें‍से‍कोई‍अिुसरण‍िहीं‍करता‍है।  

38. निरे्दश:‍एक‍कथि‍के‍बाि‍तीि‍अिुिाि‍संख्‍या‍I, 
II, और‍III दिए‍गए‍हैं।‍कथि‍को‍ज्ञात‍त्‍यों‍से‍
लभन्‍ि‍होिे‍पर‍भी‍सत्‍य‍िािते‍हुए‍आपको‍यह‍तय‍
करिा‍है‍कक‍कौि‍सा‍अिुिाि, यदि‍कोई‍है, दिए‍
गए‍कथि‍का‍अिुसरण‍करता‍है।  

 कथि:‍डोिाल्‍ड‍ट्रम्‍प‍िे‍व्‍िादििीर‍पुनति‍को‍गिे‍
िगािे‍के‍राजद्रोह‍के‍िोषारोपण‍का‍साििा‍करत‍े
हुए‍सप्‍ताह‍की‍रु्रुआत‍की‍और‍रूसी‍तािार्ाहों‍को‍
व्‍हाइट‍ हाउस‍ िें‍ आिंबत्रत‍ करके‍ अपिे‍ कईं‍
आिोचकों‍को‍उंगिी‍दििात‍ेहुए‍इसे‍सिाप्‍त‍ककया। 

 अिुिाि:  
I. अिेररका‍और‍रूस‍सहयोगी‍िहीं‍हैं।  

 II. इससे‍पहिे‍ककसी‍भी‍अिेररकी‍राष्‍ट्रपनत‍िे‍रूसी‍
सिकक्ष‍को‍गिे‍िहीं‍िगाया‍है।  

 III. रुसी‍राष्‍ट्रपनत, व्‍िादििीर‍पुनति‍िंबे‍सिय‍से‍
अिेररकी‍र्त्रु‍रहे‍हैं। 

 A. केर्ि‍ I का‍ अिुिाि‍ िगाया‍ जा‍ सकता‍ है।  
B. I और‍II िोिों‍का‍अिुिाि‍िगाया‍जा‍सकता‍
है।  
C. केर्ि‍ III का‍अिुिाि‍िगाया‍जा‍सकता‍ है।  
D. I और‍II िोिों‍का‍अिुिाि‍िगाया‍जा‍सकता‍
है।  
E. II और‍III िोिों‍का‍अिुिाि‍िगाया‍जा‍सकता‍
है।  

 निरे्दश (39-43) : दिए‍गए‍प्रश्‍िों‍के‍उत्‍तर‍िेिे‍
के‍ लिए‍ निम्‍िलिखित‍ जािकारी‍ का‍ ध्‍यािपूर्वक‍
अध्‍ययि‍करें। 

 छह‍वर्षय‍गखणत, दहिंी, अंगे्रजी, वर्ज्ञाि, र्ाखणज्‍य‍
और‍अथवर्ास्‍त्र‍एक‍कोधचगं‍सेंटर‍िें‍पढ़ाए‍जात‍ेहैं।‍
प्रत्‍येक‍ वर्षय‍ को‍ एक‍ निक्श्चत‍ और‍ निरंतर‍
सियार्धर्‍प्रिाि‍की‍गई‍है।‍एक‍दिि‍िें‍14घंटे‍
कक्षा‍ िगािा‍ निर्ावररत‍ ककया‍ गया‍ है।  
एक‍ वर्षय‍अपिी‍सियार्धर्‍को‍ केर्ि‍एक‍पूणव‍
घंटे‍ अथर्ा‍आरे्‍ घंटे‍ (अथावत‍ एक‍ वर्षय‍ या‍ तो‍
िोपहर‍िें‍2बज‍े से‍या‍2:30‍बजे‍ से‍ रु्रू‍होगा‍
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िेककि‍यह‍ िोपहर‍2:07लििट‍ पर‍िहीं‍ रु्रू‍ हो‍
सकता‍है)‍से‍ही‍रु्रू‍हो‍सकता‍है।‍गखणत‍की‍कक्षा‍
सुबह‍11बजे‍ से‍िोपहर‍12:30‍बजे‍तक‍िगती‍
है।‍गखणत‍और‍वर्ज्ञाि‍के‍बीच‍िें‍केर्ि‍एक‍कक्षा‍
िगती‍है।‍वर्ज्ञाि‍की‍कक्षा‍की‍सियार्धर्, गखणत‍
की‍कक्षा‍की‍सियार्धर्‍से‍िोगुिी‍है।‍र्ाखणज्‍य‍की‍
कक्षा‍र्ाि‍को‍5:30बज‍ेरु्रू‍होती‍है।‍अंगे्रजी‍की‍
कक्षा, गखणत‍और‍र्ाखणज्‍य‍की‍कक्षा‍के‍बीच‍िें‍
कही‍िगती‍है‍िेककि‍यह‍कक्षा, र्ाखणज्‍य‍के‍ठीक‍
पहिे‍अथर्ा‍ठीक‍बाि‍िें‍िहीं‍िगती‍है।‍दहिंी‍और‍
अथवर्ास्‍त्र‍की‍कक्षा‍की‍कुि‍सियार्धर्‍4.5‍घंटे‍
है।‍अथवर्ास्‍त्र‍और‍र्ाखणज्‍य‍ के‍बीच‍िगि‍ेर्ािी‍
कक्षाओं‍की‍संख्‍या, अंगे्रजी‍और‍अथवर्ास्‍त्र‍के‍बीच‍
िगि‍ेर्ािी‍कक्षाओं‍की‍संख्‍या‍के‍बराबर‍है।‍अंगे्रजी‍
की‍ कक्षा‍ की‍ सियार्धर्, वर्ज्ञाि‍ की‍ कक्षा‍ की‍
सियर्ाधर्‍से‍1घंटा‍कि‍है।  

39. र्ाखणज्‍य‍की‍कक्षाओं‍की‍सियार्धर्‍ककतिी‍है? 

 A. 2 घंटे B. 1.5 घंटे 

C. 3 घंटे D. 1 घंटा 
E. निर्ावररत‍िहीं‍ककया‍जा‍सकता 

40. निम्‍ि‍िें‍ से‍कौि‍सी‍कक्षा, अंगे्रजी‍की‍कक्षा‍के‍
ठीक‍बाि‍िगती‍है? 

 A. र्ाखणज्‍य  B. अथवर्ास्‍त्र  

C. वर्ज्ञाि  D. दहिंी  
E. गखणत  

41. वर्ज्ञाि‍और‍र्ाखणज्‍य‍के‍बीच‍ककतिी‍कक्षाएं‍िगती‍
हैं? 

 A. कोई‍िहीं  B. एक  

C. िो  D. तीि  

E. चार  
42. दहिंी‍की‍कक्षा‍ककतिे‍बजे‍रु्रू‍होती‍है? 

 A. िोपहर 2:30 – र्ाि 5:30  

 B. सुबह 6:30 – सुबह 9:30  

 C. सुबह 9:30 – सुबह 11:00  

 D. िोपहर 12:30 – िोपहर 2:30  

 E. सुबह 6:00 – सुबह 9:00 

43. अंगे्रजी‍और‍ दहिंी‍ की‍ कक्षा‍ की‍ कुि‍ सियार्धर्‍
ककतिी‍है? 

 A. 2 घंटे  B. 1.5 घंटे  
C. 4 घंटे  D. 3.5 घंटे  
E. 3 घंटे  

44. निरे्दश: िीच‍ेदिए‍गए‍प्रश्ि‍िें‍एक‍कथि‍दिया‍गया‍
हैं, क्जसका‍िो‍तकव ‍संख्या I और II अिुसरण‍करता‍
हैं।‍आपको‍यह‍तय‍करिा‍है‍कक‍कौि‍सा 'िजबूत‍
तकव ' है‍और‍कौि‍सा 'किजोर‍तकव ' है।  

 कथि:‍अगर‍िदहिायें‍सभी‍िािकों‍को‍पूरा‍करती‍
हैं‍तो‍तया‍उन्हें‍हधथयारों‍के‍साथ‍िडिे‍की‍अिुिनत‍
िी‍जािी‍चादहए?  

 तकष : 
 I. हां, िदहिाएं‍पहिे‍ही‍िडाई‍िें‍अपिी‍सक्षिता‍

लसद्र्‍ चुकी‍ है-र्े‍ पहिे‍ से‍ ही‍ इराक‍ और‍
अफगानिस्ताि‍िें‍िडाई‍का‍साििा‍कर‍चुकी‍हैं, 
इसलिए‍उन्हें‍आधर्काररक‍रूप‍से‍बाहर‍रििे‍का‍
कोई‍आर्ार‍िहीं‍है।  

 II. िहीं, औसत‍िदहिा, औसत‍पुरुष‍की‍तुििा‍िें‍
र्ारीररक‍रूप‍से‍किजोर‍होती‍है। 

 A. केर्ि‍तकव  I िजबूत‍हैं।  
 B. केर्ि‍तकव  II िजबूत‍हैं।  
 C. या‍तो‍तकव  I या II िजबूत‍हैं।  
 D. ि‍तो‍तकव  I ि‍ही II िजबूत‍हैं।  
 E. िोिों‍तकव  I और II िजबूत‍हैं।  
45. र्ालर्गंटि‍ अफगानिस्‍ताि‍ िें‍ अपिी‍ सैन्‍य‍

गनतवर्धर्यों‍का‍वर्स्‍तार‍करिे‍की‍योजिा‍बिा‍रहा‍
है‍ और‍ इस‍ तरह‍ से‍ राज्‍य‍ िीनत‍ के‍ अंतगवत‍
आतंकर्ाि‍ का‍ सिथवि‍ करिे‍ के‍ कारण‍ र्ह‍
पाककस्‍ताि‍पर‍लर्कंजा‍कस‍रहा‍है।‍र्ालर्गंटि‍और‍
काबुि‍िोिों, िईं‍दिल्‍िी‍को‍अब‍एक‍ऐसे‍राज्‍य‍की‍
दृक्ष्ट‍से‍िेित‍ेहैं‍जो‍उभरती‍हुई‍क्षेत्रीय‍गनतर्ीिता‍
का‍काफी‍िाभ‍उठा‍रहा‍है।‍टं्रप‍प्रर्ासि‍की‍िईं‍
अफगानिस्‍ताि‍िीनत‍की‍यह‍िुख्‍य‍वर्र्ेषता, भारत‍
के‍लिए‍एक‍कुटिीनतक‍बढ़त‍है। 
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 अन् य रे्दशों से पाककस् ताि के संबंध कैसे हैं?  

 A. पाककस्‍ताि‍और‍अिेररका‍के‍बहुत‍घनिष्‍ठ‍संबंर्‍
हैं 

 B. पाककस्‍ताि‍अन्‍य‍िेर्ों‍पर‍र्ासि‍करिा‍चाहता‍
है 

 C. आतंकर्ाि‍के‍कारण‍संबंर्‍बबगडत‍ेजा‍रहे‍हैं 
 D. पाककस्‍ताि‍ककसी‍अन्‍य‍िेर्‍से‍कोई‍संबंर्‍िहीं‍

रििा‍चाहता‍है 
 E. उपयुवत‍त‍सभी 
 निरे्दश (46-50): दिए‍गए‍प्रश्‍िों‍के‍उत्‍तर‍िेिे‍के‍

लिए‍ निम्‍िलिखित‍ जािकारी‍ का‍ ध्‍यािपूर्वक‍
अध्‍ययि‍करें।  

 आठ‍व्‍यक्तत-‍A, B, C, D, E, F, G और‍H एक‍
र्तृ्‍ताकार‍िेज‍के‍चारों‍ओर‍बैठे‍हैं‍िेककि‍जरूरी‍
िहीं‍है‍कक‍इसी‍क्रि‍िें‍हों।‍इििें‍से‍कुछ‍व्‍यक्ततयों‍
के‍िुि‍कें द्र‍की‍ओर‍और‍कुछ‍व्‍यक्ततयों‍के‍िुि‍
कें द्र‍से‍बाहर‍की‍ओर‍हैं।‍इििें‍से‍प्रत्‍येक‍अिग-
अिग‍ इंजीनियररगं‍ र्ािाओं‍ जैसे:‍ लसवर्ि, 

िैकेनिकि, केलिकि, इिेक्त‍ट्रकि, ऑक्प्टकि, 

पॉर्र, कंप्‍यूटर‍ और‍ भू-र्ैज्ञानिक‍ पसंि‍ करते‍ हैं।  
F, A के‍ठीक‍आगे‍िहीं‍बैठा‍है।‍G और‍H के‍बीच‍
िें‍केर्ि‍िो‍व्‍यक्तत‍बैठे‍हैं।‍A के‍ठीक‍बांए‍बैठा‍
व्‍यक्तत, िैकेनिकि‍र्ािा‍पसंि‍करता‍ है‍ क्जसका‍
िुि‍कें द्र‍की‍वर्परीत‍दिर्ा‍िें हैं।‍F और‍E के‍िुि‍
सिाि‍दिर्ाओं‍िें‍हैं‍और‍उिके‍बीच‍िें‍केर्ि‍िो‍
व्‍यक्तत‍बैठे‍हैं।‍जो‍व्‍यक्तत‍पॉर्र‍र्ािा‍पसंि‍करता‍
है‍र्ह, कंप्‍यूटर‍र्ािा‍पसंि‍करि‍ेर्ािे‍व्‍यक्तत‍के‍
ठीक‍आगे‍बैठता‍ है‍िेककि‍केलिकि‍र्ािा‍पसंि‍
करि‍ेर्ािे‍व्‍यक्तत‍की‍ओर‍िुि‍करके‍िहीं‍बैठता‍
है।‍ E, A के‍ बांए‍ िसूरा‍ बैठा‍ है।‍ जो‍ व्‍यक्तत‍
ऑक्प्‍टकि‍र्ािा‍पसंि‍करता‍ है‍उसका‍िुि, भू-
र्ैज्ञानिक‍र्ािा‍पसंि‍करिे‍र्ािे‍व्‍यक्तत‍की‍ओर‍
है।‍D, B के‍ वर्कणवत:‍ वर्परीत‍बैठा‍ है, जो‍E के‍
ठीक‍िादहिे‍बैठा‍है‍और‍उि‍िोिों‍व्‍यक्ततयों‍E और‍
B के‍ िुि‍ एक‍ दिर्ा‍ की‍ ओर‍ हैं।‍ जो‍ व्‍यक्तत‍
केलिकि‍र्ािा‍पसंि‍करता‍ है‍र्ह, F और‍B के‍

बीच‍िें‍बैठा‍ है।‍जो‍ व्‍यक्तत‍ लसवर्ि‍र्ािा‍पसंि‍
करता‍है‍र्ह, F िहीं है।‍A और‍C के‍िुि‍बाहर‍की‍
ओर‍हैं‍िेककि‍F के‍सिाि‍िहीं‍हैं।‍C, G के‍बांए‍
िसूरे‍स्‍थाि‍पर‍बैठा‍ है।‍जो‍ व्‍यक्तत‍भू-र्ैज्ञानिक‍
र्ािा‍पसंि‍करता‍है‍र्ह, केलिकि‍पसंि‍करि‍ेर्ािे‍
व्‍यक्तत‍के‍िादहिे‍िसूरे‍स्‍थाि‍पर‍बैठा‍है।D और‍F 

के‍िुि‍एक‍दिर्ा‍की‍ओर‍हैं| G केलिकि र्ािा‍
पसंि‍िहीं‍करता‍है|  

46. निम्‍ि‍ िें‍ से‍ कौि‍ सा‍ व्‍यक्तत‍ इिेक्त‍ट्रकि‍ पसंि‍
करता‍है? 

 A. C B. B 
C. A D. H 
E. F 

47. निम्‍ि‍िें‍से‍कौि‍A और‍G के‍िध्‍य‍िें‍बैठता‍
है? 

 A. B B. D 

C. C D. H 

E. F 

48. िी‍गई‍व्‍यर्स्‍था‍के‍संिभव‍िें‍निम्‍ि‍िें‍से‍कौि‍सा‍
कथि‍सत्‍य‍िहीं‍है? 

 A. A, H के‍ठीक‍आगे‍बैठता‍है। 
 B. G और‍C का‍िुि‍सिाि‍दिर्ा‍िें‍है। 
 C. D का‍िुि‍उस‍व्‍यक्तत‍की‍ओर‍है‍जो‍लसवर्ि‍

पसंि‍करता‍है। 
 D. E और‍G एक-िसरे‍के‍वर्परीत‍बैठे‍हैं। 
 E. उपयुवत‍त‍सभी 
49. निम्‍ि‍िें‍से‍ककस‍व्‍यक्तत‍का‍िुि, उस‍व्‍यक्तत‍

की‍ओर‍है‍जो‍C के‍बांए‍से‍िसूरे‍स्‍थाि‍पर‍
बैठता‍है? 

 A. A B. D 

C. E D. G 

E. F 

50. निम्‍ि‍पांच‍िें‍से‍चार‍ककसी‍निक्श्चत‍प्रकार‍से‍
एक-सिाि‍हैं‍और‍र्े‍एक‍सिहू‍बिात‍ेहैं।‍निम्‍ि‍
िें‍से‍कौि‍सिूह‍से‍संबधर्त‍िहीं‍है? 

 A. F B. D 
C. G D. C 

 E. B 
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51. Direction: In the following question, a 

sentence is given with some bold words 

which may contain errors. Below the 

sentence, a table is given with two 

columns in which column 'A' contains the 

list of bold words, and in column 'B' the 

suggested corrections are listed. You 

have to choose the best alternative 

among the four given options. If no 

correction is required against the given 

bold words, mark (E), i.e., "None of the 

above" as your answer. 

 On the occasion of his golden jubilee, 

the generous king Maharaja of Bikaner 

Ganga Singh, participated in the ancient 

Hindu TulaDaan ceremony whereby he 

sat on a large set of scales and was 

measured against gold bars, whose 

cash equivalent was then donated to 

the charitable Golden Jubilee Fund. 
 

 
 

 A. Both (1)-(5) and (4)-(8) 

B. (4)-(8) 

C. (1)-(5) 

D. (3)-(7) 

E. None of these 

52. Direction: In the following question, a 

sentence is given with some bold words 

which may contain errors. Below the 

sentence, a table is given with two 

columns in which column 'A' contains the 

list of bold words, and in column 'B' the 

suggested corrections are listed. You 

have to choose the best alternative 

among the four given options. If no 

correction is required against the given 

bold words, mark (E), i.e., "None of the 

above" as your answer. 

 The Bill states that companies with more 

than 10 employees would periodically 
debate specific terms with their 

workers, publish their own charter, and 
create an Employee Welfare Committee 
consisting of representatives of the 
company’s workforce. 

 
 A. Both (1)-(5) and (4)-(8) 

 B. (4)-(8) 
 C. (1)-(5) 

 D. (3)-(7) 
 E. None of these 
53. Direction : In the following question, a 

sentence is given with some bold words 

which may contain errors. Below the 

sentence, a table is given with two 

columns in which column 'A' contains the 

list of bold words, and in column 'B' the 

suggested corrections are listed. You 

have to choose the best alternative 

among the four given options. If no 

correction is required against the given 

bold words, mark (E), i.e., "None of the 

above" as your answer. 
 A warm story of humility and 

forgiveness comes from the US city of 
Fort Smith where a Masjid not only 
forgave the young man who 

vandalised the mosque but also helped 
pay his fine so that he doesn't get 
charged to jail and his future is saved. 

 
 A. Both (1)-(5) and (4)-(8) 
 B. (2)-(6) 

 C. (1)-(5) 
 D. (4)-(8) 
 E. None of these 
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54. Direction: In the following question, a 
sentence is given with some bold words 
which may contain errors. Below the 
sentence, a table is given with two 
columns in which column 'A' contains the 
list of bold words, and in column 'B' the 
suggested corrections are listed. You 
have to choose the best alternative 
among the four given options. If no 
correction is required against the given 
bold words, mark (E), i.e., "None of the 
above" as your answer. 

 After learning that Ranjhi Rajak, a 
pilgrim from Madhya Pradesh had 
collapsed near Bhairo temple and 
needed immediate medical attention, 
SI Bahuguna carried Rajak on his back 
and walked uphill for over 2 kms till they 
reached the nearby hospital. 

 
 A. Both (1)-(5) and (4)-(8) 
 B. (2)-(6) 
 C. (1)-(5) 
 D. (3)-(7) 
 E. None of these 
55. Direction: In the following question, a 

sentence is given with some bold words 
which may contain errors. Below the 
sentence, a table is given with two 
columns in which column 'A' contains the 
list of bold words, and in column 'B' the 
suggested corrections are listed. You 
have to choose the best alternative 
among the four given options. If no 
correction is required against the given 
bold words, mark (E), i.e., "None of the 
above" as your answer. 

 The condition of the hospital and its 
services reflecting on the inadequacy 
of Bihar's healthcare system, with 
patients usually increasing the number 
of beds available being treated on the 
floor, insipid food and long bill of 
medication and services. 

 
 A. Both (1)-(5) and (4)-(8) 
 B. (2)-(6) 
 C. (1)-(5) 

 D. Both (4)-(8) and (1)-(5) 
 E. None of these 
 Directions (56-62): Read the given 

passage carefully and answer the 

questions that follow. Certain words/ 

group of words are printed in bold to 

help you locate them while answering 

some of these. 
 Despite the fact that India’s rank in the 

Global Hunger Index has fallen to 103 
(ranked out of 119) countries, the issue 
of hunger is often relegated to the 
background. In terms of policy, hunger, 
as an issue, is not dealt with directly, 
and with urgency. Instead, it is kept 
under the larger purview of economic 
development which expects that wealth 
will percolate to solve the problem of 
hunger. This formulation makes a 
number of incorrect assumptions about 
the relationship between hunger and 
other social structures. It is, at best, an 
indirect method that does nothing to 
immediately address the alarming issue 
of hunger that India is facing at present.  
When the Food Security Bill was 
being debated in Parliament, there 
was a need to conceptualise hunger 
and malnutrition in such a way that 
would enable the estimation of 
entitlements that would be made 
available by the government. In this 
context, an article titled Lessons on Food 
and Hunger in 2013 tried to understand 
the “unconscionable reality” of those 
who grapple with critical hunger to fill 
the gaps in the discourse around 
hunger. The study found out that natural 
and intimate narrative of food and 
hunger, reflecting the lives of a majority 
of children, are generally absent from 
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the discourse of education. What can be 
found, instead, are clinical and 
insensitive descriptions of what 
constitutes a healthy diet, often 
illustrated with visuals of food far 
beyond the reach of most children.  
Contrary to the popularly held belief that 
food insecurity is a symptom of poverty, 
we have found that there is a growing 
divergence in the relationship between 
poverty and hunger in India. According 
to a study, India is currently 
experiencing a “food-budget squeeze” 
owing to shrinking social expenditure by 
the government. This makes the urban 
and rural poor dependent on private 
entities for essential services like 
education and transportation. 
Consequently, the portion of income 
that can be spent on food also shrinks.  
Between 2008 and 2014, India’s position 
on the Global Hunger Index (GHI) 
seemed to have been improving. 
Thereafter, India’s position began to 
deteriorate again. Researchers explain 
that India’s rank fell from 2016 because, 
from 2015, the conception of 
malnutrition was reformulated. New 
parameters were introduced to expand 
what is understood as hunger to include 
stunting and wasting in children, 
because of which a more accurate 
perception of the extent of the problem 
could be estimated. The inclusion of 
stunting ensures consideration of rigid 
cultural factors, while that of wasting 
represents aspects of diet quality as 
well. Also, stunting is an indicator of 
long-term growth failure, and therefore, 
must be accounted for in any analysis of 
potential threat a given level of child 
malnutrition poses for a country.  
Despite the fact that the rate of global 
food production has been consistently 
higher than the rate of population 
growth, there is a persistent and 
pervasive crisis when it comes to food 
security. It is suggested that hunger can 
only be dealt with by, “carrying out 
policies of income redistribution, which 
respond to objectives of social justice 

rather than economic efficiency as 
perceived by neo-liberalism.” In most 
developing countries one of the biggest 
issues, with respect to public 
provisioning towards social protection, 
to address hunger and food insecurity is 
organically connected with that of 
adequate “fiscal” or “expenditure” 
space. Hence, a substantial push in 
public provisioning towards social 
protection might go a long way in 
ensuring food security. 

56. Which of the following statements can 
be inferred from the passage?  

 I. The article, Lessons on Food and 

Hunger, looked at the theme of food and 

hunger in the lives of young children and 
how it formed an interface to their 
understanding their community and 
place in society.  

 II. Hunger is both a cause and a 
symptom of poverty.  

 III. A country need not wait to reach 

relatively high levels of per capita 
income before it can make adequate 
progress in public provisioning towards 
social protection. 

 A. Only I B. Both I and II 
C. Both II and III D. Both I and III 

E. All of the above 

57. Which of the following statements is 
neither an assumption nor an inference 
from the third paragraph?  
I. Rather than being a matter of choice, 

the poor have been increasingly forced 
to spend more on non-food essential 
items such as education, healthcare, 
transportation, fuel and lighting.  

II. Non-food essential items absorb all 
the increases in household incomes and 
keep real expenditures on food from 

rising.  
III. The food budget squeeze could be 

driven by both demand and supply-side 
factors.  

IV. Private entities are likely to be more 
expensive than public entities. 

 A. Only I  B. Both I and II  

C. Both I and III  D. Both I and IV  
E. Both II and III  
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58. Which of the following statement cannot 

be inferred from the passage?  

 I. Given that malnutrition is a 

multidimensional phenomenon, the 

revised GHI formula is able to depict a 

relatively truer state of hunger in 

countries across the globe.  

 II. Wasting and stunting are two forms 

of malnutrition.  

 III. “Chronic” hunger is the elephant in 

the room that the neo-liberals prefer to 

brush off.  

 IV. That hunger exists at all shows the 

urgency of redistributing income and 

assets to achieve a fairer world. 

 A. Both I and II  B. Both II and III  

 C. Only I  D. Both II and IV  

 E. Both I and III 

59. What does the author mean by the last 

line of the first paragraph? 

 A. The purview of economic 

development does not address the 

alarming issue of hunger.  

 B. Economic growth does not 

necessarily trickle down to the hungry 

poor.  

 C. Economic efficiency is an indirect 

method to solve the problem of hunger.  

 D. The relationship between hunger and 

other social structures is an indirect 

method that does not immediately 

address the problem of hunger.  

 E. Economic growth alone may not 

necessarily lead to poverty reduction. 

60. Which of the following statements can 

replace the highlighted statement from 

the passage:  

 When the Food Security Bill was 

being debated in Parliament, there 

was a need to conceptualise hunger 

and malnutrition in such a way that 

would enable the estimation of 

entitlements that would be made 

available by the government.? 

 A. The Food Security Bill failed to ensure 

the right to food as part of the right to 

life.  

B. The debates on Food Security Bill 

failed to address the unconscionable 

reality of the unrelentingly precarious 

and uncertain existence of those who 

grapple with critical hunger and 

starvation as a part of their lived 

everyday experience.  

 C. During the debates on Food Security 

Bill, there was a need to ensure that the 
rights of children become entitlements 
through transformative justice.  

 D. With the unprecedented stocks of 
food-grains, the paradox of high levels 
of hunger and malnutrition in times of 
abundance has raised serious concerns 

about policy discourse and public 
perceptions that shape the Food 
Security Bill.  

 E. None of these. 

61. Which of the following correctly 
describes the tone of the passage? 

 A. Disdainful  B. Evocative  

C. Partisan  D. Pragmatic  
E. Peremptory  

62. Which of the following expresses a 
meaning similar to “percolate” as used 
in the passage?  

 I. Permeate  II. Filter  
 III. Spread 

 A. Only III  B. Both I and III  
C. Both II and III  D. Both I and II  
E. All of the above  

63. Direction: Choose the option that best 

captures the essence of the text.  
 Issue of money, in the form of 

banknotes and current accounts subject 
to cheque or payment at the customer's 
order. These claims on banks can act as 
money because they are negotiable 
and/or repayable on demand, and hence 
valued at par and effectively 
transferable by mere delivery in the case 
of banknotes, or by drawing a cheque 
that the payee may bank or cash. Banks 
act as both collection and paying agents 
for customers, participating in interbank 
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clearing and settlement systems to 
collect, present, be presented with, and 
pay payment instruments. This enables 
banks to economize on reserves held for 
settlement of payments, since inward 
and outward payments offset each 
other. It also enables ____________. 

 A. The offsetting of payment flows 
between geographical areas, increasing 
the cost of settlement between them.  

 B. The offsetting of payment flows 
between geographical areas, reducing 
the cost of settlement between them. 

 C. The offsetting of payment flows only 
in urban areas, reducing the cost of 
settlement between them. 

 D. The offsetting of payment flows only 
in rural areas, increasing the cost of 
settlement between them.  

 E. None of these 
64. Direction: Read the following passage 

and complete the paragraph with the 
help of correct options given below.  

 Working overseas is always a challenge 
for any professional and if you are an 
Indian, always strive to give-your best 
as Indians have always been considered 
intelligent, hardworking, talented and 
spiritual. 

 Working overseas was something many 
Indians desired but few achieved until 
the information technology boom 
opened several white-collar job 
opportunities for them in global 
markets. However, securing 
employment abroad may be an 
achievement but retaining it is quite a 
challenge as a professional requires 
constant demonstration of 
professionalism and exact the standards 
of competence. 

 A. Indians have always excelled in a 
competitive working environment.  

 B. This makes them more enjoyable 
company.  

 C. Indians have always tried to bring out 
their best in competitive working 
environment.  

 D. Indians are hard-working, 
competitive and professional 
employees.  

 E. Indians love to work overseas and 
therefore they come in cheap too. 

65. Direction: In the following question, a 

short passage with one of the lines in the 

passage missing and represented by a 

blank is given. Select the best out of the 

five answer choices given, to make the 

passage complete and coherent 

(coherent means logically complete and 

sound). 

 There is a fairly universal sentiment that 

the use of nuclear weapons is clearly 

contrary to mortality and that its 

production probably so, does not go far 

enough. These activities are not only 

opposed to mortality but also to the law. 

If the legal objection can be added to the 

moral, the argument against the use and 

manufacture of these weapons will 

considerably be reinforced. Now the 

time is ripe to evaluate the responsibility 

of scientists who knowingly use their 

expertise for the construction of such 

weapons, which has a deleterious effect 

on mankind. 

 How appropriate it is that all this 

valuable skill should be devoted to the 

manufacture of weapons of death in a 

world of poverty is a question that must 

touch the scientific conscience. 

 A. Almost 50% of the skilled scientific 

manpower in the world is now engaged 

in the armaments industry.  

 B. To think that majority of the scientists 

are promoting the manufacturing of the 

armaments is hurtful.  

 C. Scientists should use their conscience 

before taking up these contracts to 

manufacture the weapons of mass 

destruction.  

 D. Scientific manpower is used to the 

interests of some selfish and careless 

people who want to threaten the 

existence of homo-sapiens.  

 E. Scientists must take action and follow 

their conscience to abandon all nuclear 

related projects. 
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66. Direction: In the question given below, 

three paragraphs are given, which are 

jumbled. Find the correct sequence of 

these paragraphs so that they form a 

meaningful passage.  

 A. Climate change is warming the ocean, 

but it’s warming land faster and that’s 
really bad news for air quality all over 

the world, says a new University of 

California, Riverside study. The study, 

published February 4 in Nature Climate 

Change, shows that the contrast in 

warming between the continents and 

sea, called the land-sea warming 

contrast, drives an increased 

concentration of aerosols in the 

atmosphere that cause air 

pollution.  Aerosols affect the climate 

system, including disturbances to the 

water cycle, as well as human health. 

They also cause smog and other kinds of 

air pollution that can lead to health 

problems for people, animals, and 

plants. 

B. To determine this, the researchers 

ran simulations of climate change under 

two scenarios. The first assumed a 

business-as-usual warming model, in 

which warming proceeds at a constant, 

upward rate. The second model probed 

a scenario in which the land warmed less 

than expected. In the business-as-usual 

scenario, enhanced land warming 

increased continental aridity and, 

subsequently, the concentration of 

aerosols that leads to more air pollution. 

 C. A robust response to an increase in 

greenhouse gases is that the land is 

going to warm faster than the ocean. 

This enhanced land warming is also 

associated with increased continental 

aridity. The increase in aridity leads to 

decreased low cloud cover and less rain, 

which is the main way that aerosols are 

removed from the atmosphere. 

 A. ACB B. BCA 

C. BAC D. CAB 

E. CBA 

67. Direction: In the question given below, 

three paragraphs are given, which are 

jumbled. Find the correct sequence of 

these paragraphs so that they form a 

meaningful passage.  

 A. The power of compounding works the 

way it does because you are reinvesting 

the interest that you earn back into the 

instrument, besides giving it time to 

grow. Let’s simplify it further. Say in the 
first year you invest ₹100 and you get 
10% annual return of ₹10. Next year, 
along with ₹110 (the first year principal 
amount and the interest amount), you 

will put another ₹100. The ₹10 you 
earned as interest gets reinvested, 

helping you grow your money faster. 

 B. To get a perspective, let’s turn to 
some numbers. Say you started 

investing ₹3,000 a month when you 
were 25, and go on till you are 60. At an 

average annual rate of 7% returns, your 

corpus will grow to ₹53.24 lakh. If you 

decide to start investing at the age of 35 

years, even if you put aside double the 

amount— ₹6,000 per month — till the 

age of 60, the value of your corpus will 

be only ₹48.72 lakh. The example shows 
that you would need half the amount to 

get more in returns if you start investing 

early. 

 C. Adulting can’t wait when it comes to 
savings and investing. Why you may 

ask? If you delay your investments, how 

will you see the magic of compounding? 

When it comes to investing, you need to 

start early. In fact, you should start 

saving and investing as soon as you 

start earning. Compounding allows you 

to build a bigger corpus with a smaller 

amount. 

 A. BAC B. CAB 

C. BCA D. ABC 

E. CBA 
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68. Direction: A passage with three blanks, 

followed by five options, each containing 

one word, is given. Choose the word that 

can fill all the three blanks.  

 An __________ is a process of buying 

and selling goods or services by offering 

them up for bid, taking bids, and then 

selling the item to the highest bidder. 

Participants bid openly against one 

another, with each subsequent bid 

required to be higher than the previous 

bid. An auctioneer may announce prices, 

bidders may call out their bids 

themselves (or have a proxy call out a 

bid on their behalf), or bids may be 

submitted electronically with the highest 

current bid publicly displayed. In a 

Dutch ____________, the auctioneer 

begins with a high asking price for some 

quantity of like items; the price is 

lowered until a participant is willing to 

accept the auctioneer's price for some 

quantity of the goods in the lot or until 

the seller's reserve price is met. In 

economic theory, an ____________ 

may refer to any mechanism or set of 

trading rules for exchange. 

 A. Assets B. Auction 

C. Autarky D. Arbitrage 

E. Amortisation 

69. Direction: A passage with three blanks, 

followed by five options, each containing 

one word, is given. Choose the word that 

can fill all the three blanks.  

 In finance, a __________ is an 

instrument of indebtedness of the issuer 

to the holders. The ___________ is a 

debt security, under which the issuer 

owes the holders a debt and is obliged 

to pay them interest (the coupon) or to 

repay the principal at a later date, 

termed the maturity date. Interest is 

usually payable at fixed intervals (semi-

annual, annual, sometimes monthly). 

Very often it is negotiable, that is, the 

ownership of the instrument can be 

transferred in the secondary market. 

This means that once the transfer 

agents at the bank medallion stamp the 

same, it is highly liquid on the secondary 

market. Thus, a __________ is a form 

of loan or IOU. 

 A. Brand B. Stock 

C. Bond D. Barter 

E. Bankruptcy 

70. Direction: A passage with three blanks, 

followed by five options, each containing 

one word, is given. Choose the word that 

can fill all the three blanks.  

 Emission ____________ are the legal 

requirements governing air pollutants 

released into the atmosphere. Emission 

___________ set quantitative limits on 

the permissible amount of specific air 

pollutants that may be released from 

specific sources over specific 

timeframes. They are generally 

designed to achieve air quality 

standards and to protect human life. 

Many emissions ____________ focus on 

regulating pollutants released by 

automobiles (motor cars) and other 

powered vehicles. Others regulate 

emissions from industry, power plants, 

small equipment such as lawn mowers 

and diesel generators, and other sources 

of air pollution. While this have been 

used to dictate limits for conventional 

pollutants such as oxides of nitrogen and 

oxides of sulphur (NOx and SOx), this 

regulatory technique may be used to 

regulate greenhouse gasses, particularly 

carbon dioxide (CO2). In the US, this is 

given in pounds of carbon dioxide per 

megawatt-hour (lbs. CO2/MWhr), and 

kilograms CO2/MWhr elsewhere. 

 A. Norms B. Pollutants 

C. Factors D. Standards 

E. Limits 
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71. Direction: A passage with three blanks, 

followed by five options, each containing 

one word, is given. Choose the word that 

can fill all the three blanks.  
 The ability of humans to ___________ 

the landscape and recognize the 
consequences of doing so puts us in a 

peculiar position. There are several 
animals on earth that show this same 
kind of intelligence. Some animals have 

extensions to ___________ their 
environment and some do not. As a 
species we are assigned the duty to 
provide and proliferate. Our goal is to 

achieve stability for ourselves and our 

kin. However, we also have an obligation 
to maintain the environment, as we 

depend on the resources and services it 
provides. The question then becomes: 
what is our role in nature? Do we have 
the right to _________ the land, factory 

farm animals, and pollute waterways? 
Or do we have an obligation to reduce 
our numbers and merely subsist? In 
order to answer these questions, we 

must rely on our knowledge of Earth, 
evolution, and our influence on the 
environment. 

 A. Aspects B. Pollutants 

C. Employ D. Operate 
E. Manipulate 

72. Direction: A passage with three blanks, 

followed by five options, each containing 

one word, is given. Choose the word that 

can fill all the three blanks.  

 Modern public administration has taken 
a leaf not only from the legislature’s 
book but also from that of the judiciary. 
Administrative _____________ is the 

latest addition to the admin istrative 
techniques. Administrative 
____________ means the 
determination of questions of a judicial 

or quasi-judicial nature by an 
administrative department or agency. 
Like a regular court, administrative 

bodies hear the parties, sift evidence, 
and pronounce a decision in cases where 
legal rights or duties are involved. The 

main point of difference between 

administrative _____________ and 
administration of justice by the courts is 

that administrative justice is 
administered by administrative agencies 
instead of regular courts. The 
administrative courts follow the 

principles of natural justice and common 
good whereas the courts of law follow 
the settled principles of law and 

evidence. The administrative courts are 
manned by officers belonging to the 
executive branch whereas the judges 
are the members of the judiciary 

independent of executive control. 

 A. Adjudication B. Division 
C. Hearing D. Service 

E. Legislation 
73. Direction: In each of the questions 

given below, a passage has been given 

which are either situational based or 

describes a scenario. Below each 

passage, a question has been given 

which is framed to make you to infer 

something out of it. Mark out the correct 

inference as your answer. 
 A former lawmaker, Rewati Raman 

Bhandari, who drafted the measure that 

criminalised chhaupadi, said the push to 

eradicate the practice from villagers, the 
police and local politicians was still far 
too muted. 

 Which of the following describes the 
reaction of the authorities of towards the 
eradication of chhaupadi? 

 A. Subdued  B. Softened  
C. Dampened  D. Quite  
E. Silenced  

74. Direction: In each of the questions 

given below, a passage has been given 

which are either situational based or 

describes a scenario. Below each 

passage, a question has been given 

which is framed to make you to infer 

something out of it. Mark out the correct 

inference as your answer. 
 India's leading and most popular food 

delivery start-up, Swiggy landed in a 
soup on Wednesday, after four people 
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claiming to be current and former 
employees allegedly revealed fraudulent 
and unethical means practiced at the 
company, in a blog post. 

 Which of the following can be said about 
the allegations? 

 A. Defragmented  B. Ambiguous  
C. Definitive  D. Anecdotal  
E. Speculative  

75. Direction: In each of the questions 
given below, a passage has been given 
which are either situational based or 
describes a scenario. Below each 
passage, a question has been given 
which is framed to make you to infer 
something out of it. Mark out the correct 
inference as your answer. 

 Set in the glittering balls of genteel rural 
society of 18th century England and 
verdant landscape of the idyllic 
Pemberley, “Pride and Prejudice” is the 
story of young Elizabeth Bennett whose 
property is entailed to the nearest male 
heir. 
What can be said about the position 
of young Elizabeth Bennett in the rural 
society of 18th century England? 

 A. Marginal  B. Immaterial  
C. Unrelated  D. Extraneous  
E. Academic  

76. Direction: In the following question, a 
passage is given which describes a 
situation. From the given options, mark 
the correct inference that can be drawn 
from the passage. If none of the 
inferences follow, mark option E, “None 
of these” as the answer.  

 In nearly all human populations a 
majority of individuals can taste the 
artificially synthesized chemical 
phenylthiocarbonide (PTC). However, 
the percentage varies dramatically--
from as low as 60% in India to as high 
as 95% in Africa. That this 
polymorphism is observed in non-
human primates as well indicates a long 
evolutionary history which, although 
obviously not acting on PTC, might 
reflect evolutionary selection for taste 
discrimination of other, more significant 
bitter substances, such as certain toxic 
plants. 

 A. Human beings show the same taste 

profile as primates.  

 B. Humans prefers substances that are 

naturally sweet.  

 C. Only a minority of the human 

population have an indeterminant taste 

profile.  

 D. A majority of the human population 

have an indeterminant taste profile.  

 E. None of these  

77. Direction: In the following question, a 

passage is given which describes a 

situation. From the given options, mark 

the correct inference that can be drawn 

from the passage. If none of the 

inferences follow, mark option E, “None 
of these” as the answer.  

 The philosophy of pragmatism goes 

something like this. The mind is such 

that it deals only with ideas. It is not 

possible for the mind to relate to 

anything other than ideas. Therefore, it 

is not correct to think that the mind 

actually can ponder reality. All that the 

mind can ponder is its ideas about 

reality. (Whether or not that is the way 

reality actually is, is a metaphysical 

issue). Therefore, whether or not 

something is true is not a matter of how 

closely it corresponds to the absolute 

truth, but of how consistent it is with our 

experience. 

 A. Our experiences define our concept of 

reality.  

B. Reality is a metaphysical issue.  

 C. Pragmatism and reality are two sides 

of the same coin.  

 D. Our experiences enable us to 

determine the truth.  

 E. None of these. 

78. Direction: In the question below, there 

is a word given in bold which is followed 

by five options. In each of the options, a 

pair of words is given which is either the 

pair of synonyms or antonyms or 

synonym & antonym of the word given 

in bold. Choose that pair as your 

answer.  
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 Tremulous 

 A. Stringent, Garrulous  
 B. Quivery, Steady  

 C. Conjunctive, Desist  
 D. Abstain, Defer  
 E. Terse, Abrupt 
79. Direction: In the question below, there 

is a word given in bold which is followed 

by five options. In each of the options, a 

pair of words is given which is either the 

pair of synonyms or antonyms or 

synonym & antonym of the word given 

in bold. Choose that pair as your 

answer.  

 Histrionic 

 A. Melodramatic, Theatrical  
 B. Conscientious, Diligent  

 C. Tenacious, Retentive  
 D. Thrive, Tussle  
 E. Pertinent, Appropriate  
80. Direction: In the question below, there 

is a word given in bold which is followed 

by five options. In each of the options, a 

pair of words is given which is either the 

pair of synonyms or antonyms or 

synonym & antonym of the word given 

in bold. Choose that pair as your 

answer.  

 Nefarious 

 A. Sloppy, Flurry  
 B. Unassertive, Ignoble  
 C. Modest, Subtle  

 D. Gregarious, Magnanimous  
 E. Iniquitous, Atrocious 
81. Direction: In the question below, there 

is a word given in bold which is followed 

by five options. In each of the options, a 

pair of words is given which is either the 

pair of synonyms or antonyms or 

synonym & antonym of the word given 

in bold. Choose that pair as your 

answer.  
 Recalcitrant 

 A. Peculiar, Convivial  
 B. Amenable, Docile  
 C. Taciturn, Withering  

 D. Voluble, Turgid  
 E. Pendulous, Jocular 

82. Direction: In the question below, there 
is a word given in bold which is followed 
by five options. In each of the options, a 
pair of words is given which is either the 
pair of synonyms or antonyms or 
synonym & antonym of the word given 
in bold. Choose that pair as your 
answer.  

 Zealous 
 A. Droopy, Gigantic  
 B. Tenacity, Assiduity  
 C. Fervent, Apathetic  
 D. Conceited, Capacious  
 E. Hilarity, Livid 
83. Direction: In the following questions a 

part of a sentence is given in bold, it is 
then followed by four sentences which 
try to explain the meaning of the 
idiom/phrase given in bold. Choose the 
alternative from the four given below 
each question which explains the 
meaning of the phrase correctly without 
altering the meaning of the sentence 
given as question. If none of the 
sentence explains the meaning of the 
highlighted phrase, choose option (e) 
i.e., “None of these” as your answer 
choice  

 We are used to giving benefit of a 
doubt to people we are closest to, the 
ones who we know very well. This comes 
to us naturally as we know for a fact they 
are good people; and even more - we 
know they like/ love us so they wouldn't 
do anything against us. 

 A. Since we love and trust our close 
ones, we often tend to believe them, 
even when we are not sure what they 
are saying is true.  

 B. Given that we are very attached to 
our relatives, we often try to hide their 
crimes and cover up for their lies.  

 C. Since humans are inherently 
doubting, there is a tendency to be 
sceptic about anyone.  

 D. Humans have nepotism ingrained in 
them, which means that they would 
favour only their relatives over and 
above a fool proof evidence against 
them.  

 E. None of these 
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84. Direction: In the following questions a 

part of a sentence is given in bold, it is 

then followed by four sentences which 

try to explain the meaning of the 

idiom/phrase given in bold. Choose the 

alternative from the four given below 

each question which explains the 

meaning of the phrase correctly without 

altering the meaning of the sentence 

given as question. If none of the 

sentence explains the meaning of the 

highlighted phrase, choose option (e) 

i.e., “None of these” as your answer 
choice  

 At the start of his presentation, it 

seemed that he’s out of his mind, but 
when he finished, we saw that 

there’s method in his madness. 
 A. After the presentation, we realised 

that he deliberately chose to be vague 
and absurd.  

 B. Though his presentation appeared a 
little absurd in the beginning, we 
ultimately found out that he had a 
rational purpose behind it 

 C. There was a stark difference between 
what he started with and how he 
concluded his presentation. 

 D. Since he was not completely in his 

senses, he presented in an awkward 
manner. 

 E. None of these 

85. Direction: In the following questions a 

part of a sentence is given in bold, it is 

then followed by four sentences which 

try to explain the meaning of the 

idiom/phrase given in bold. Choose the 

alternative from the four given below 

each question which explains the 

meaning of the phrase correctly without 

altering the meaning of the sentence 

given as question. If none of the 

sentence explains the meaning of the 

highlighted phrase, choose option (e) 

i.e., “None of these” as your answer 
choice  

 I wouldn't be caught dead wearing 
an outfit like that – it's like something 
my grandmother would also not wear! 

 A. Though the outfit is classy, the 

speaker does not prefer wearing it.  
 B. The speaker finds wearing the dress 

very shameful as people would 
disapprove of it.  

 C. The speaker dislikes wearing the 
particular outfit.  

 D. Wearing the particular outfit wouldn’t 
be a great deal as it will not kill her.  

 E. None of these 

 Directions (86-90): Read the given 

passage carefully and answer the 

questions that follow. 
 Over the past few years, the popularity 

of online social networks (OSNs) such as 

Facebook, Twitter, and Orkut have 
grown tremendously. OSNs are built on 

real-world social relationships and 
provide their users with a wide variety of 
virtual-interaction mechanisms. As 
OSNs have become critical online 

communication platforms integrated 
into society’s daily life, the security risks 
accompanying such developments have 
raised concerns in industry, academia, 

and government.   
 Users provide an astonishing amount of 

personal information voluntarily, and 

OSN service providers store this 

information. Ralph Gross and Alessandro 

Acquits studied the Facebook users in 

the Carnegie Mellon University network 

and discovered that 90.8 percent of 

users uploaded their images, 87.8 

percent revealed their birth dates, 39.9 

percent shared their phone numbers, 

and 50.8 percent listed their current 

addresses. Such an abundance of readily 

available personal information makes 

privacy breach a unique angle of attack 

in OSNs. Three primary parties interact 

with one another in an OSN: the service 

provider, the users, and third-party 

applications. Because OSNs are formed 

by real people, they are tempting 

targets for viral marketing, which has 

therefore easily invaded them. The 

public perception that OSNs encompass 

friends, family, and acquaintances 
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makes users prone to trust messages 

they receive in OSNs. In addition, aided 

with the information extracted from user 

profiles, spammers can often exploit 

social-engineering tricks to enhance 

viral marketing’s effectiveness. A 
phishing attack targets OSN users’ 
confidential information (OSN account 

credentials, email address, online 

banking, and so on). If it targets OSN 

account credentials, such an attack is 

usually combined with spamming to 

complete the viral-marketing process. 

Plausible defence mechanisms for 

phishing attacks are mostly on the client 

side, given the voluntary nature of 

users’ sharing their confidential 
information. Digitally signed emails can 

prevent spoofed email messages from 

fooling recipients; browser toolbars can 

also alert users when they’re prompted 
for usernames and passwords at 

suspicious sites.  

 OSNs are playing an increasingly 

important role in the Internet 

community today. Their future 

development hinges on their ability to 

deliver enjoyable services without 

undermining users’ information security. 
86. Which of the following statements can 

be correctly inferred from the passage?  

I. If you receive friend requests from 

strangers, it's best to stay away.  

II. Viruses and malware often find their 

way onto your computer through those 

annoying, but sometimes enticing ads.  

III. Once an account has been 

compromised, it is best to presume all 

your passwords are compromised. 

 A. Only I B. Only II 

C. Only III D. Both I and II 

E. Both II and III 

87. Which of the following statements is 

NOT true with respect to the passage? 

 A. The number of users of the online 

social networks like Facebook, twitter, 

google, LinkedIn are going on increasing 

tremendously.  

 B. To become member of the OSN the 

user has to create his profile by entering 
information like name, photo, date of 

birth, Email ID, place of work, home 
town and so on.  

 C. Spam is abuse of electronic 
messaging systems to send unsolicited 

bulk messages indiscriminately.  
 D. To avoid such malicious access, it is 

necessary to be careful while selecting 

security settings for various fields in the 
profile.  

 E. Whenever a user accepts friend 
request it is assumed that he is having 

distrust in that user so such access is not 

provided.  
88. On what does the future development of 

OSNs depend? 
 A. The ability to provide enjoyable 

services without compromising user 
security. 

 B. The ability to provide cashless 
entertainment on the go. 

 C. The ability to provide high level 
security features to those users who can 

pay for the same. 
 D. The ability to provide free 

downloadable music as a way to stop 

music piracy. 

 E. The ability to provide wireless 
entertainment without comprising the 
speed and efficiency of the servers. 

89. Which of the following options is a good 
way of preventing spoofed email 
messages from fooling recipients? 

 A. Link to another established account  
 B. Digitally signed emails  
 C. Network rerouting techniques  
 D. Automatic resend to the spam folder  

 E. Digitally verified emails  
90. Which of the following would be the most 

appropriate title of the passage? 
 A. Online security breaches  

 B. Common security problems  
 C. Security issues in online social 

networks  

 D. Connecting with strangers online  
 E. Zendesk, Facebook and more 

http://www.gradeup.com/
https://xu75j.app.goo.gl/8sA6


www.gradeup.co 

 

 
(23) 

 

91. निम्‍ि‍िें‍से‍ककस‍दिि‍भारत‍िें‍राष्‍ट्रीय‍सांक्ख्यकी‍
दिर्स‍(एिएसडी)‍ििाया‍जाता‍है ? 

 A. 15 िई  B. 10 जूि  

C. 27 जूि  D. 29 जूि  

E. इििें‍से‍कोई‍िहीं  
92. निम्ि‍िें‍से‍ककि‍िेर्ों‍िे‍23र्ें‍फीफा‍वर्श्र्‍कप‍

2026 की‍िेजबािी‍के‍लिए‍एक‍संयुतत‍बोिी‍जीती‍
है? 

 A. ब्राजीि, फ्ांस‍और‍अजेंटीिा  
 B. ब्राजीि, िेक्तसको‍और‍स्पेि  

 C. स्पेि, पुतवगाि‍और‍जिविी  
 D. यू.एस, िेक्तसको‍और‍किाडा  
 E. बब्रटेि, जिविी‍और‍फ्ांस  

93. निम्‍ि‍िें‍से‍ककस‍भारतीय‍भुगताि‍तथा‍र्ाखणज्‍य‍
कम्‍पिी‍िे‍पहिे‍र्ि‍प्रबंर्ि‍उत्‍पाि‍‘डडजीटि‍गोल्‍ड’‍
का‍रु्भारंभ‍ककया‍है ? 

 A. डारेकपे‍(DirecPay)   

 B. भीि  

 C. पेयू‍इंडडया‍(PayU India)  

 D. पेटीएि‍(Paytm)  

 E. इििें‍से‍कोई‍िहीं  
94. जूि 2018िें, अिुभर्ी‍पत्रकार‍ रु्जात‍बुिारी‍का‍

निर्ि‍हो‍गया।‍र्ह‍ककस‍सिाचार-पत्र‍के‍संपािक‍
थे? 

 A. झिेि‍पोस्ट  B. कश्िीर‍पयवर्ेक्षक  

C. कश्िीर‍िाइफ  D. राइक्जंग‍कश्िीर  
E. इििें‍से‍कोई‍िहीं 

95. LRS भारतीय‍ररजर्व‍बैंक‍द्र्ारा‍सभी‍निर्ासी‍
व्यक्ततयों‍को‍चािू‍या‍पूंजीगत‍िाता‍िेििेि‍के‍
अंतगवत‍कुछ‍निक्श्चत‍रालर्‍को‍प्रत्येक‍वर्त्तीय‍र्षव‍
िें‍अिेररकी‍डॉिर‍के‍रूप‍िें, स्र्तंत्र‍रूप‍से, 

पे्रवषत‍करि‍ेके‍लिए‍प्रिाि‍की‍जािे‍र्ािी‍सुवर्र्ा‍
है।‍यहां LRS ____ का‍ितिब‍है। 

 A. Liquidity Remittance Scheme 
 B. Liberalised Remittance Scheme 
 C. Liberalised Remittance Source 
 D. Liberalised Revenue Scheme 
 E. Liberalised Revenue Source 

 

96. एलर्यि इन्‍फ्ास्‍ट्रत‍चर इन्‍र्ेस्‍टिेंट बैंक (एआईआईबी) 
का िुख्‍यािय कहां क्स्थत है ? 

 A. बीक्जंग  B. रं्घाई  
C. क्जनिक्जयांग  D. होंगकोंग  

E. क्जयाि  

97. 2018 आलसयाि इंडडया कफल्ि फेक्स्टर्ि ककस र्हर 
िें आयोक्जत ककया गया था? 

 A. िििऊ  B. िईं दिल्िी  
C. पुणे  D. गुरुग्राि  

E. िुंबई  
98. निम्ि‍िें‍से‍कौि‍सा‍िरूसंचार‍सभी‍सात‍सककव िों‍

िें‍एक‍अज्ञात‍रालर्‍ के‍द्र्ारा‍भारत‍ के‍ टेिीिॉर‍
व्यापार‍का‍अधर्ग्रहण‍करेगी? 

 A. बीएसएिएि  B. टाटा‍डोकोिो  
C. भारती‍एयरटेि  D. एिटीएस‍इंडडया  
E. इििें‍से‍कोई‍िहीं  

99. भारत‍का‍पहिा‍राष्ट्रीय‍िेि‍वर्श्र्वर्द्यािय‍ककस‍
भारतीय‍राज्य‍िें‍स्थावपत‍ककया‍जािा‍है? 

 A. बबहार  B. पंजाब  

C. असि  D. िखणपुर  
E. उत्तर‍प्रिेर्  

100. डब्ल्यू.डब्ल्यू.एफ-भारत‍के‍साथ‍ककस‍राज्य‍सरकार‍
िे‍अपिी‍जिसंख्या‍पर‍लसरुं्‍डॉक्ल़्िि‍के‍संरक्षण‍
के‍ लिए‍पहिी‍संगदठत‍जिगणिा‍आयोक्जत‍की‍
है? 

 A. िहाराष्ट्र  B. केरि  

C. पंजाब  D. ओडडर्ा  
E. राजस्थाि  

101. निम्ि‍से‍कौि‍भारत‍िें‍सभी‍िुिरा‍भुगताि‍प्रणािी‍
के‍लिए‍एक‍िुख्य‍संगठि‍है? 

 A. भारतीय‍ररजर्व‍बैंक  B. एिपीसीआई  
C. सेबी  D. िीती‍आयोग  

E. इििे‍से‍कोई‍िहीं  
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102. निम्ि‍ िें‍ से‍ कौि‍ सा‍ िेर्‍ सूचिा‍ और‍ संचार‍
प्रौद्योधगकी‍(आई.सी.टी)‍पर‍अंतरावष्ट्रीय‍सम्िेिि‍
की‍िेजबािी‍करेगा? 

 A. भारत  B. िेपाि  

C. िॉररर्स  D. बांग्िािेर्  

E. िाििीर्  

103. आधथवक‍सहयोग‍तथा‍ वर्कास‍संगठि‍ (ओईसीडी)‍
का‍िुख्‍यािय‍कहां‍पर‍है। 

 A. िंिि, यू.के  B. वर्यिा, ऑक्स्ट्रया  
C. पेररस, फ्ांस  D. बीक्जंग, चीि  

E. रोि, इटिी  
104. निम्िलिखित‍ िें‍ से‍ ककस‍ राज्य‍ िें‍ पत्रातु‍ थिवि‍

पार्र‍प्िान्ट‍की‍स्थापिा‍प्रस्तावर्त‍है ? 

 A. िध्य‍प्रिेर् B. बबहार  
C. झारिंड D. पक्श्चि‍बंगाि  

E. केरि  

105. अंतरावष्ट्रीय‍योग‍दिर्स‍2018 का‍वर्षय‍तया‍है? 

 A. र्ांनत‍के‍लिए‍योग (Yoga for Peace)  

 B. युर्ाओं को‍जोडें‍(Connect the Youth)  

 C. स्र्ास््य‍के‍लिए‍योग (Yoga For Health)  

 D. पयावर्रण‍ के‍ लिए‍ योग (Yoga For 

Environment)  

 E. इििें‍से‍कोई‍िहीं 
106. हीराकंुड‍बांर्‍ककस‍राज्‍य‍िें‍क्स्थत‍है ? 

 A. झारिंड  B. छत्‍तीसगढ़  

C. ओडडर्ा  D. पक्श्चि‍बंगाि  

E. किावटक  

107. िरु्र्ा‍राष्‍ट्रीय‍उद्याि‍निम्‍ि‍िें‍से‍ककस‍राज्‍य‍िें‍
क्स्थत‍है? 

 A. अरूणाचि‍प्रिेर्  B. िध्‍य‍प्रिेर्  

C. उत्‍तर‍प्रिेर्  D. आंध्र‍प्रिेर्  

E. इििें‍से‍कोई‍िहीं  

108. उस‍िेर्‍का‍तया‍िाि‍है‍क्जसकी‍राजर्ािी‍िुसाका‍
है‍और‍िुद्रा‍तर्ाचा‍(Kwacha) है? 

 A. यिि  B. युगांडा  
C. जाक्म्बया  D. सोिालिया  
E. इििें‍से‍कोई‍िहीं  

109. बीिा‍ वर्पणि‍ फिों‍ (आई.एि.एफ)‍ को‍ नियंबत्रत‍
करि‍ेर्ािे‍नियिों‍की‍सिीक्षा हेतु बीिा‍नियािक‍
और‍वर्कास‍प्राधर्करण‍(आई.आर.डी.ए.आई)‍द्र्ारा‍
निम्ि‍िें‍से‍कौि‍सी सलिनत गदठत‍की‍गई‍है? 

 A. बिर्ंत‍राय‍िेहता‍सलिनत  

 B. र्ीरप्पा‍िोइिी सलिनत  

 C. अर्ोक‍चव्हाण‍सलिनत  

 D. सच्चर‍सलिनत  

 E. सुरेर्‍िाथुर‍सलिनत 

110. स्कोच‍ सिूह‍ िे‍ निम्‍ि‍ िें‍ से‍ ककस‍ िंत्रािय‍ को‍
सर्वशे्रष्‍ठ‍सािाक्जक‍क्षेत्र‍प्रिर्वि‍िंत्रािय‍पुरस्‍कार‍
प्रिाि‍ककया‍है? 

 A. िदहिा‍एर्ं‍बाि‍वर्कास‍ितं्रािय  

 B. स्र्ास््य‍और‍पररर्ार‍कल्याण‍िंत्रािय  

 C. पयावर्रण, र्ि‍और‍जिर्ायु‍पररर्तवि‍िंत्रािय  

 D. सािाक्जक‍न्याय‍और‍सर्क्ततकरण‍िंत्रािय  

 E. इििें‍से‍कोई‍िहीं  
111. कौि‍ सा‍ िेर्‍ आई.सी.सी‍ िदहिा‍ वर्श्र्‍ टी-20 

टूिाविेंट‍2018 की‍िेजबािी‍करेगा? 

 A. न्यूजीिैंड  B. भारत  

C. श्रीिंका  D. इंग्िैंड  
E. र्ेस्टइंडीज  

112. जिा प्रिाण पत्र (सीडी) एक परक्राम्य िुद्रा बाजार के 

सार्ि और ........................ के रूप िें जारी 
ककया जाता है? 

 A. व्युत्पन्ि िुद्ित र्चिपत्र  

 B. िुद्ित र्चिपत्र  

 C. िांग र्चि िोट  
 D. A और B िोिों  
 E. उपरोतत िें से कोई िहीं 
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113. 105 र्ीं‍ भारतीय‍ वर्ज्ञाि‍ कांगे्रस‍ बैठक‍ कहां‍
आयोक्जत‍की‍गई‍थी। 

 A. आईआईएि, अहििाबाि  

 B. िखणपुर‍वर्श्‍र्वर्द्यािय, इम्फाि 

 C. आईआईटी, बॉम्‍बे  

 D. जर्ाहर‍िाि‍िेहरू‍वर्श्‍र्वर्द्यािय, दिल्‍िी  
 E. उपरोत‍त‍िें‍से‍कोई‍िहीं  
114. आईआरडीएआई‍िे‍एिआईसी‍को‍दहस्सेिारी‍िरीििे‍

के‍लिए‍िंजूरी‍िे‍िी‍है, जो‍निम्िलिखित‍राज्य‍के‍
स्र्ालित्र्‍र्ािे‍बैंकों‍िें‍से‍10,000- 13,000 करोड‍
रुपये‍का‍पूंजीगत‍सिथवि‍पािे‍िें‍ििि‍करेगी? 

 A. यूनियि‍बैंक‍ऑफ‍इंडडया 
 B. आई.डी.बी.आई.‍बैंक 

 C. यूिाइटेड‍बैंक‍ऑफ‍इंडडया 
 D. इंडडयि‍बैंक 

 E. आई.डी.एफ.सी.‍बैंक 

115. साकव ‍वर्कास‍निधर्‍िुख्यािय‍ककस‍िेर्‍िें‍क्स्थत‍
है? 

 A. काठिांडु, िेपाि 

 B. इस्िािाबाि, पाककस्ताि 

 C. धथपं,ू भूटाि  

 D. िई‍दिल्िी, भारत 

 E. िािे, िाििीर् 

116. भूलि‍ पंडरेकर‍को‍ ककस‍ कफल्ि‍ के‍ लिए‍सर्वशे्रष्ठ‍
अलभिेत्री‍का‍िािा‍साहेब‍फाल्के‍पुरस्कार‍लििा‍है? 

 A. टॉयिेट‍एक‍पे्रि‍कथा  
 B. रुस्ति  

 C. िि‍िगाके‍हइसा  
 D. िस्ट‍स्टोरीज़  

 E. रु्भ‍िंगि‍सार्र्ाि  

117. एक‍गैर-व्यापाररक‍कंपिी‍वर्लभन्ि‍वर्त्तीय‍चािकों‍
के‍लिए‍र्ाहि‍के‍रूप‍िें‍उपयोग‍की‍जाती‍है‍या‍
भवर्ष्य‍िें‍ककसी‍अन्य‍क्षिता‍िें‍भवर्ष्य‍के‍उपयोग‍
के‍लिए‍निक्ष्क्रय‍रहती‍है? 

 A. धचट‍फंड B. रै्ि कंपिी 
C. निधर्‍कंपनियां D. स्र्िेर्ी‍बैंकरों 
E. असंरधचत‍NBFC 

 

118. इंदिरा‍सागर‍बांर्‍ककस‍भारतीय‍राज्य‍िें‍क्स्थत‍
है? 

 A. छत्तीसगढ़  B. गुजरात  

C. िहाराष्ट्र  D. िध्य‍प्रिेर्  

E. आंध्र‍प्रिेर्  

119. एसम्र्ि‍द्र्ीप‍ककस‍िेर्‍िें‍क्स्थत‍है? 

 A. सेर्ेल्स B. िाििीर् 

C. िारीर्स D. श्रीिंका 
E. िोिाको  

120. उत्तर‍ प्रिेर्‍िें‍ िो‍ दिर्सीय‍कबीर‍िहोत्सर्‍ ककस‍
िंत्रािय‍द्र्ारा‍आयोक्जत‍ककया‍गया‍था? 

 A. जिजानत‍िाििे‍िंत्रािय  

 B. सांस्कृनतक‍िंत्रािय  

 C. िािर् संसार्ि‍वर्कास‍िंत्रािय  

 D. गहृ‍िंत्रािय  

 E. पयवटि‍िंत्रािय  

121. पीिीभीत‍र्न्यजीर्‍अभ्यारण्य‍ककस‍भारतीय‍राज्य‍
िें‍क्स्थत‍है? 

 A. उत्तर‍प्रिेर्  B. िध्य‍प्रिेर्  

C. गुजरात  D. छत्तीसगढ़  

E. उपरोतत‍िें‍से‍कोई‍िहीं  
122. इंडडयि‍िदहिा‍हॉकी‍टीि‍की‍कप्ताि‍कौि‍है? 

 A. सुिीता‍िकडा  B. गुरजीत‍कौर  
C. रािी‍रािपाि  D. िीप‍गे्रस‍एतका  
E. रीिा‍िोिर  

123. वर्तटोररयि‍और‍आटव‍डकेो‍एिसेंबि‍यूिेस्को‍की‍
वर्श्र्‍ र्रोहर‍ स्थिों‍ के‍ रूप‍ िें‍ उत्कीणव‍ हैं।‍
वर्तटोररयि‍गोधथक‍और‍आटव‍डकेो‍ककस‍र्हर‍िें‍
क्स्थत‍है? 

 A. िुंबई B. पुणे 

C. बंगिौर D. हैिराबाि 

E. अहििाबाि 
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124. भारत‍सिार्ेर्ी‍पहि‍ककस‍ससं्थाि‍िे‍रु्रू‍की‍
है? 

 A. आई.आई.टी.‍बॉम्बे 

 B. आई.आई.एि.‍अहििाबाि 

 C. आई.आई.टी.‍िडगपुर 
 D. आई.आई.एि.‍किकत्ता 
 E. आई.आई.टी.‍हैिराबाि 

125. अजय‍ठाकुर‍ककस‍िेि‍से‍जुड‍ेहैं? 

 A. हॉकी  B. कक्रकेट  
C. तैराकी  D. कबड्डी  
E. र्ॉिीबॉि  

126. CBLO िें‍ 'C' का‍अथव‍तया‍ है, एक‍ििी‍िाकेट‍
इंस्ूिेंट‍जो‍उर्ारकताव‍और‍ऋणिाता‍के‍बीच‍ऋण‍
के‍ नियिों‍ और‍ र्तों‍ के‍ बीच‍ एक‍ िानयत्र्‍ का‍
प्रनतनिधर्त्र्‍करता‍है? 

 A. Clearing B. Culminative 

C. Collateralized D. Credit 

E. Call 

127. PMLA िें L का‍अथव‍तया‍है? 

 A. Leverage  B. Limit  

C. Lending  D. Liberalized  

E. Laundering  

128. प्रर्ाििंत्री‍र्यो‍र्ंििा‍योजिा‍(पी.एि.र्ी.र्ाई.र्ाई.)‍
पेंर्ि‍सीिा‍ककस‍सियसीिा‍तक‍बढ़ा‍िी‍गई‍है? 

 A. िाचव, 2021 B. िाचव, 2019 

C. िाचव, 2022 D. िाचव, 2020 

E. िई,2019 

129. भारत‍और‍अिेररका‍के‍वर्िेर्‍एर्ं‍रक्षा‍िंबत्रयों‍के‍
िध्य‍होिे‍र्ािी‍संचार‍अिुकूिता‍एर्ं‍सुरक्षा‍प्रबंर्ि‍
सिझौता‍र्ाताव‍निम्िलिखित‍िें‍से‍ककस‍स्थाि‍पर‍
आयोक्जत‍होगी? 

 A. िई‍दिल्िी  B. िुंबई  
C. र्ालर्गंटि  D. जेिेर्ा  
E. पेररस  

130. अंतरावष्ट्रीय‍ पिायि‍ संगठि‍ का‍ िुख्यािय‍ ककस‍
र्हर‍िें‍क्स्थत‍है? 

 A. रोि B. िंिि 

C. र्ालर्गंटि D. जेिेर्ा 
E. ब्रुसेल्स 

131. ििाबो‍ककस‍िेर्‍की‍राजर्ािी‍है? 

 A. रर्ांडा B. जाक्म्बया 
C. इतर्ेटोररयि‍धगिी D. पिािा 
E. िोरतको 

132. अिौपचाररक‍र्ाताव‍ककस‍र्हर‍िें‍आयोक्जत‍हुई‍थी? 

 A. िास्को  B. सोची  
C. िई‍दिल्िी  D. सेंट‍वपट्सबगव  
E. हैिराबाि  

133. CAGR िें‍C का‍तया‍अथव‍है, जो‍एक‍ज्यालितीय‍
प्रगनत‍ अिुपात‍ के‍ लिए‍ वर्लर्ष्ट‍ अर्धर्‍ है‍ जो‍
वर्लर्ष्‍ट‍सिय‍अर्धर्‍के‍िौराि‍र्ापसी‍की‍निरंतर‍
िर‍प्रिाि‍करता‍है? 

 A. Control B. Compound 
C. Credit D. Call 
E. Culminative 

134. योग‍ िें‍ िािर्‍ प्रर्ीणता‍ पर‍ पांचर्ा‍ अंतरावष्ट्रीय‍
सम्िेिि‍(2019) का‍आयोजि‍कहां‍होगा? 

 A. उत्तर‍प्रिेर्  B. चंडीगढ़  

C. िई‍दिल्िी  D. उत्तरािंड  
E. िध्य‍प्रिेर्  

135. ककर्ोरी‍अिोिकर‍की‍हाि‍ही‍िें‍ितृ्यु‍हो‍गयी।‍
र्ह‍निम्िलिखित‍िें‍से‍ककस‍क्षेत्र‍से‍जुड‍ेथे? 

 A. र्ास्त्रीय‍गायि  B. र्ास्त्रीय‍ितृ्य  

C. िेि  D. राजिीनत  

E. धचत्रकार  
136. प्रर्ाििंत्री‍की‍अध्यक्षता‍र्ािी‍कैबबिेट‍सलिनत‍िे‍

ककस‍र्हर‍िें‍राष्ट्रीय‍िािलसक‍स्र्ास््य‍पुिर्ावस‍
संस्थाि‍ (एि.आई.एि.एच.आर.)‍ की‍ स्थापिा‍ को‍
अिुिनत‍िे‍िी? 

 A. ग्र्ालियर  B. भोपाि  

C. जम्िू  D. िई‍दिल्िी  
E. बंगिुरू  
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137. SAWEN िें‍E का‍तया‍अथव‍है? 

 A. Economic B. Enforcement 
C. Elephant D. Enactment 
E. Effective 

138. जिर्री 2019 िें‍ प्रर्ासी‍ भारतीय‍ दिर्स‍ की‍
िेजबािी‍ककस‍र्हर‍िे‍की? 

 A. र्ाराणसी B. कोिकाता 
C. चेन्‍िई D. बेंगिुरू 

E. िई‍दिल्‍िी 
139. प्रर्ाििंत्री‍िरेंद्र‍िोिी‍िे‍ककस‍राज्य‍िें‍भारत‍के‍

सबसे‍िंबे‍रेि-रोड‍बब्रज‍बोगीबीि‍बब्रज‍का‍उद्घाटि‍
ककया? 

 A. बत्रपुरा  B. लसक्तकि  

C. असि  D. अरुणाचि‍प्रिेर्  

E. िखणपुर  
140. पुिबीिा‍..................‍के‍लिए‍िाि‍दिया‍गया‍है: 
 A. एक‍व्यक्तत‍का‍िसूरी‍बार‍के‍लिए‍बीिा‍िेिा  
 B. एक‍बीिाकताव‍का‍अन्य‍बीिाकताव‍के‍साथ‍बीिा‍

जोडिा  
 C. जब‍सरकार‍अपिे‍किवचाररयों‍ के‍ लिए‍ बबिा‍

पालिसी‍िरीिती‍हैं  
 D. उपरोतत‍क्स्थनतयााँ  
 E. इििें‍से‍कोई‍िहीं 
 निरे्दश (141-145): दिए गए द्वर्घात सिीकरणों 

को हि करें और अपिे उत्तर के आर्ार पर सही वर्कल्प 

को धचक्नित करें-  
141. I. (x − 2)² = 9 
 𝐈𝐈. (2y + 8)² = 16 
 A. x < y  

 B. x और y के‍बीच‍कोई‍संबंर्‍स्थावपत‍िहीं‍ककया‍
जा‍सकता‍है।  

 C. x > y  
 D. x ≤ y  
 E. x ≥ y 
142. I. x² − 16x + 64 = 0 . 𝐈𝐈. y² − 16y + 63 = 0 
 A. x > y B. x ≤ y 
 C. x ≥ y D. x < y 

 E. x और y के‍बीच‍कोई‍संबंर्‍स्थावपत‍िहीं‍ककया‍
जा‍सकता‍है। 

143. I. 25/x² − 15/x + 2 = 0  𝐈𝐈. 40/y² + 1 = 13/y 
 A. x < y 
 B. x ≥ y 

 C. x और y के‍बीच‍कोई‍संबंर्‍स्थावपत‍िहीं‍ककया‍
जा‍सकता‍है। 

 D. x ≤ y 
 E. x > y 
144. I. 48/x² − 14/x + 1 = 0 
 𝐈𝐈. 45/y² + 1/y = 2 

 A. x और y के‍बीच‍कोई‍संबंर्‍स्थावपत‍िहीं‍ककया‍
जा‍सकता‍है।  

 B. x ≤ y  
 C. x < y  
 D. x > y  
 E. x ≥ y  
145. I. x² + 3x – 4 = 0  

II. y² + 10y + 24 = 0 
 A. x ≤ y  
 B. x < y 
 C. x > y 

 D. x और y के‍बीच‍कोई‍संबंर्‍स्थावपत‍िहीं‍ककया‍
जा‍सकता‍है। 

 E. x ≥ y 

146. एक‍बतवि‍िें 165 िीटर‍िरू्‍है।‍िरू्‍की‍कुछ‍िात्रा‍
निकाि‍िी‍जाती‍ है‍और‍िरू्‍की‍आर्ी‍िात्रा‍के 

बराबर पािी को बतवि‍िें‍डाि‍दिया‍जाता‍है।‍अब‍
बतवि‍िें‍पािी‍और‍िरू्‍का‍अिुपात 5:‍3 हो‍जाता‍
है।‍इसिें‍ककतिी पािी‍की‍िात्रा‍डािी‍गई‍है? 

 A. 40 िीटर  B. 45 िीटर  
C. 60 िीटर  D. 30 िीटर  
E. 90 िीटर  

147. िो‍बॉतस‍िें‍क्रिर्ः 4 और 16 गेंि‍हैं।‍पहिे‍बॉतस‍
िें‍िो‍गेंि‍और‍िसूरे‍िें‍चार‍गेंि, कािी‍हैं।‍यदि‍
ककसी‍बॉतस‍को‍यादृक्च्छक‍रूप‍से‍चुिा‍जाता‍है‍
और‍उसिें‍से‍िो‍गेंिों‍को‍यादृक्च्छक‍रूप‍से‍निकािा‍
जाता‍ है,तो‍ तया‍ संभाव्यता‍ है‍ कक‍ यदि‍ गेंि‍ को‍
प्रनतस्थावपत‍िहीं‍ ककया‍गया‍ है‍तो‍कि‍ से‍कि‍
एक‍गेंि‍कािी‍होगी? 

 A. 11/20  B. 43/120  
C. 77/120  D. 9/20  

E. इििें‍से‍कोई‍भी‍िहीं  
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148. 84 ककिी‍प्रनत‍घंटे‍की‍रफ़्तार‍से‍चििे र्ािी टे्रि 

A िे एक ही दिर्ा िें जा रही टे्रि B को 10 सेकंड‍िें‍
पार ककया| अगर‍टे्रि B अपिी‍गनत‍से‍िगुुिी‍गनत‍
से‍यात्रा‍कर‍रही‍होती, तो‍टे्रि A को‍इससे‍आगे‍
निकििे‍िें 22.5 सेकंड‍का‍सिय‍िगता।‍ टे्रि B 

की‍िंबाई‍ज्ञात‍कीक्जए, यह‍िेित‍ेहुए‍कक‍यह‍टे्रि 

A की‍िंबाई‍से आर्ी‍है। 
 A. 180 िीटर B. 100 िीटर 

C. 200 िीटर D. 150 िीटर 
E. 50 िीटर 

149. 6 सेिी‍बत्रज्या‍के एक‍ठोस‍गोिे‍को‍वपघिाया‍जाता‍
है‍और‍सिाि‍िोटाई‍के‍िोििे‍बेिि‍िें‍कफर‍से‍
डािा‍ जाता‍ है।‍ यदि‍ बेिि‍ के‍आर्ार‍ की‍ बाहरी‍
बत्रज्या 5 सेिी‍है‍और‍इसकी‍ऊंचाई 32 सेिी‍है, तो‍
बेिि‍की‍एक‍सिाि‍िोटाई‍ज्ञात‍करें? 

 A. 3 सेिी B. 1.5 सेिी 
C. 1 सेिी D. 2.5 सेिी 
E. इििें‍से‍कोई‍िहीं 

150. X और Y िे‍क्रिर्ः 700 रुपये‍और 600 रुपये‍की‍
साझिेारी‍िें‍ प्रर्ेर्‍ ककया। 3 िहीिे‍ के‍बाि, X िे‍
अपिे‍ स्टॉक‍ के 2/7र्ें‍ दहस्से‍ को‍ निकाि‍ लिया, 
िेककि 3 िहीिे‍ बाि‍ उसिे‍ क्जतिा‍ निकािा‍ था, 
उसके 3/5र्ें‍ दहस्से‍को‍र्ापस‍डाि‍ दिया।‍र्षव‍ के‍
अंत‍ िें‍ कुि‍ िाभ 726 रुपये‍ है। X को‍ ककतिा‍
लिििा‍चादहए? 

 A. 336 रु.  B. 366 रु.  
C. 633 रु.  D. 663 रु.  
E. इििें‍से‍कोई‍िहीं  

 निरे्दश (151-155): िीच‍ेिी‍गई‍तालिका‍तीि‍
अिग-अिग‍िहीिों‍िें‍कायव‍करिे‍र्ािे‍पुरुषों‍की‍
संख्‍या‍िें‍से‍वर्षि‍दििों‍िें‍कायव‍करिे‍र्ािे‍पुरुषों‍
का‍प्रनतर्त‍िर्ावती‍है‍और‍र्ेष‍पुरुष‍संबंधर्त‍िहीिों‍
के‍सि‍दििों‍िें‍कायव‍करत‍ेहैं।‍िी‍गई‍तालिका‍को‍
ध्‍यािपूर्वक‍पढ़ें‍और‍निम्‍िलिखित‍प्रश्‍िों‍के‍उत्‍तर‍
िें।  

 

 िोट:‍प्रत्‍येक‍पुरुष‍प्रनतदिि‍8‍घंटे‍कायव‍करता‍है।  
कुि‍कायव‍घंटे‍=‍पुरुषों‍की‍कुि‍संख्‍या‍× कुि‍
कायव‍दिर्स‍× 8‍घंटे  
(Total man-hours = Total man worked 

× Total day of work × 8 hours) 

151. िाचव‍िहीिे‍के‍वर्षि‍दििों‍िें‍कुि‍कायव‍घंटे‍अप्रैि‍
िहीिे‍के‍सि‍दििों‍िें‍कुि‍कायव‍घंटे‍का‍ककतिा‍
प्रनतर्त‍है? 

 A.  B.  

C.  D.  

E.  

152. अप्रैि‍िहीिे‍िें‍कुि‍कायव‍घंटे‍अगस्‍त‍िहीिे‍िें‍
कुि‍कायव‍घंटे‍से‍ककतिा‍अधर्क‍या‍कि‍है? 

 A. 80,000  B. 83,200  

 C. 84,800  D. 86,400  

 E. 88,000  

153. िाचव‍िहीिे‍के‍सि‍दििों‍िें‍कुि‍कायव‍ घंटे‍और‍
अगस्‍त‍िहीिे‍के‍सि‍दििों‍िें‍कुि‍कायव‍घंटे‍का‍
अिुपात‍ज्ञात‍करें? 

 A. 6 : 1 B. 7 : 3  

 C. 8 : 3  D. 3 : 7  

 E. 9 : 2 

154. अप्रैि‍ िहीिे‍ के‍ वर्षि‍ दििों‍ िें‍ कुि‍ कायव‍ घंटे‍
अगस्‍त‍िहीिे‍के‍वर्षि‍दििों‍िें‍कुि‍कायव‍घंटे‍से‍
ककतिे‍प्रनतर्त‍कि‍है? 

 A.   B. 40%  

C. 37.5%  D. 62.5%  

E. 60%  
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155. तीिों‍िहीिों‍के‍एक-साथ‍सि‍दििों‍िें‍कुि‍कायव‍
घंटे‍का‍औसत‍ज्ञात‍करें? 

 A. 88,000  B. 66,000  

C. 86,000  D. 78,000  

E. 74,000 

 निरे्दश (156-160): निम्िलिखित‍प्रश्िों‍को‍साथ‍
तीि‍ कथि (I), (II), और (III) दिए‍ गए‍ हैं।‍
आपको‍यह‍निर्ावररत‍करिा‍ है‍कक‍इि‍प्रश्िों‍का‍
उत्तर‍िेिे‍के‍लिए‍कौि‍सा‍कथि‍पयावप्त/आर्श्यक‍
है।  

156. A और B के‍बीच‍की‍िरूी‍ककतिी‍है? 

 I. िो‍ व्यक्ततयों‍ अलित‍ और‍ अलभ‍ िे 4:‍ 5 के‍
अिुपात‍िें‍अपिी‍गनत‍के‍साथ A से B तक‍एक‍
साथ‍चििा‍रु्रु‍ककया। 

 II. अलभ‍अलित‍ से‍एक‍ घंटा‍पहिे B तक‍पहंुच‍
गया। 

 III. अलित‍और‍अलभ‍की‍गनत‍के‍बीच‍का‍अंतर 
20 ककिी/घंटा‍है। 

 A. केर्ि I और II. 
 B. केर्ि II और III 
 C. सभी I, II और III 
 D. तीिों‍कथिों‍के‍बाि‍भी‍उत्तर‍भी‍िहीं‍दिया‍जा‍

सकता‍है। 
 E. इििें‍से‍कोई‍िहीं 
157. आयत‍का‍क्षेत्रफि‍ककतिा‍है? 

 I. यदि‍आयत‍की‍िंबाई‍और‍चौडाई‍का‍अिुपात 

3: 2 है। 
 II. र्तृ्त‍की‍पररधर् 440 िीटर‍है‍और‍आयत‍की‍

चौडाई‍र्तृ्त‍की‍बत्रज्या‍का 1/7 र्ा‍भाग‍है। 
 III. यदि‍िंबाई‍चौडाई‍से 50% अधर्क‍है। 
 A. केर्ि III  

 B. केर्ि II और‍या‍तो I या III  
 C. केर्ि II  

 D. सभी I, II और III  
 E. इििें‍से‍कोई‍िहीं  

158. 11 र्ीं‍कक्षा‍िें‍ककतिे‍छात्र‍फेि‍हुए? 

 I. कक्षा 11र्ीं‍िें 400 छात्र‍उत्तीणव‍हुए। 
 II. 11र्ीं‍कक्षा‍िें‍अिुत्तीणव‍छात्रों‍की‍संख्या 12र्ी‍ं

कक्षा‍िें‍अिुत्तीणव‍होिे‍र्ािों‍िें‍से 20% है। 
 III. कक्षा 11र्ीं‍िें‍र्ालिि‍और‍फेि‍हुए‍छात्रों‍का‍

अिुपात 5:‍3 है। 
 A. केर्ि I और III  
 B. केर्ि II  

 C. केर्ि I और II  
 D. सभी I, II और III  
 E. तीिों‍कथिों‍का‍र्ालिि‍करके‍भी‍उत्तर‍िहीं‍

दिया‍जा‍सकता। 
159. ब्याज‍िर‍ककतिी‍है? 

 I. सिाि‍ब्याज‍िर‍पर‍ककसी‍रालर्‍पर‍िो‍र्षों‍िें‍
अक्जवत‍एस.आई.‍44,000 रुपये‍है। 

 II. S.I पर‍कुछ‍र्षों‍के‍बाि‍की‍रालर् 154000 

रु‍है। 
 III. उसी‍रालर्‍पर‍िो‍साि‍िें‍उसी ब्याज िर पर 

C.I.और S. I. के‍बीच‍का‍अंतर 120 रुपये‍है। 
 A. केर्ि I और III 
 B. केर्ि III 

 C. केर्ि II और III 
 D. सभी‍कथिों‍को‍र्ालिि‍करि‍ेके‍बाि‍भी‍उत्तर‍

िहीं‍दिया‍जा‍सकता 
 E. इििें‍से‍कोई‍भी‍िहीं 
160. िो‍संख्याओं‍का‍योग‍ककतिा‍है? 

 I. बडी‍संख्या‍छोटी‍संख्या‍से 6 अधर्क‍है। 
 II. छोटी‍संख्या‍का 40% बडी‍संख्या‍के 30% के‍

बराबर‍है। 
 III. बडी‍संख्या‍का आर्ा‍और‍छोटी‍संख्या‍का‍एक‍

नतहाई‍के बीच का अिुपात 2:‍1 है| 
 A. केर्ि II और III  
 B. केर्ि I और II  
 C. तीिों‍कथिों‍िें‍से‍कोई‍िो  
 D. सभी‍कथि‍आर्श्यक‍हैं।  
 E. इििेि‍से‍कोई‍िहीं 
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 निरे्दश (61-66): िीच‍ेिी‍गई‍जािकारी‍के‍आर्ार‍
पर‍प्रश्‍िों‍के‍उत्‍तर‍िें:  

 राहुि‍क्जि‍जाता‍ है‍और‍टे्रडलिि‍पर‍40‍लििट‍
िौडता‍ है।‍ प्रारंभ‍ के‍ 15‍ लििट‍ के‍ लिए‍ र्ह‍ 5‍
कक.िी/घंटे‍की‍एक-सिाि‍गनत‍से‍िौडता‍ है‍और‍
इसके‍बाि‍र्ह‍र्ेष‍सिय‍के‍लिए‍9‍कक.िी/घंटा‍
की‍एक-सिाि‍गनत‍से‍िौडता‍है।‍र्ह‍टे्रडलिि‍पर‍
कुि‍ (A) कक.िी‍िौडता‍ है।‍इसके‍बाि‍र्ह‍अपिे‍
घर‍आता‍है‍और‍कायाविय‍के‍लिए‍तैयार‍होता‍है‍
जो‍उसके‍घर‍से‍45‍कक.िी‍की‍िरूी‍पर‍है।‍र्ह‍
सुबह‍9:30‍बज‍े1.5‍घंटे‍िें‍कायाविय‍पहंुचता‍है।‍
कायाविय‍िें‍र्ह‍अपिे‍अर्ीिस्थ‍P1‍और‍P2‍को‍
(B) पर‍कुछ‍काि‍िेता‍ है।‍P1‍उस‍काि‍को‍6‍
घंटे‍िें‍पूरा‍कर‍सकता‍है‍जबकक‍P1‍और‍P2‍की‍
क्षिता‍का‍अिुपात‍5:4‍है।‍P1‍और‍P2‍एक-साथ‍
उस‍काि‍का‍75%‍भाग‍िोपहर‍12:30‍बजे‍पूरा‍
करत‍ेहैं।‍राहुि‍और‍P2‍एक-साथ‍उसी‍काि‍को‍3‍
घंटे‍िें‍पूरा‍कर‍सकत‍ेहैं।‍राहुि‍P1‍की‍तुििा‍िें‍
(C)% अधर्क‍कुर्ि‍है।‍उस‍काि‍के‍बाि‍र्ह‍र्ारा‍
की‍वर्परीत‍दिर्ा‍िें‍घर‍र्ापस‍आता‍है‍(र्ारा‍की‍
गनत‍3‍कक.िी/घंटा‍है‍और‍क्स्थर‍पािी‍िें‍उसकी‍
गनत‍और‍उसके‍घर‍और‍कायाविय‍के‍बीच‍की‍िरूी‍
पहिे‍के‍सिाि‍ है)।‍उसे‍घर‍पहंुचिे‍िें‍ (D) घंटे‍
िगत‍े हैं।‍ जब‍ र्ह‍ घर‍ पहंुचता‍ है, तो‍ उसके‍ िो‍
िोस्त‍अिि‍और‍रिि‍उसके‍घर‍पर‍आत‍ेहैं, तीिों‍
एक‍िेि‍िेििा‍रु्रू‍करत‍ेहैं‍क्जसिें‍प्रत्येक‍व्यक्त‍त‍
द्र्ारा‍2‍ पासे‍ उपयोग‍ ककए‍जात‍े हैं। जब‍ केर्ि‍
राहुि‍और‍अिि‍िेि‍ रहे‍ थे, (E) पररणािों‍की‍
संख्या‍थी‍क्जसिें‍पहिे‍राहुि‍और‍कफर‍अिि‍िे‍
अपिे-अपिे‍पासे‍फें के।‍िेि‍िें, तीिों‍अपिे‍पासा‍
फें कत‍ेहैं‍और‍प्रत्येक‍के‍पासों‍िें‍संख्याओं‍के‍योग‍
के‍रूप‍िें‍8‍आता‍है‍और‍िोिों‍िें‍से‍ककसी‍एक‍
का‍पररणाि‍सिाि‍िहीं‍ है।‍ वर्जेता‍र्ह‍ है‍ क्जसे‍
पासे‍िें‍प्राप्‍त‍संख्या‍ के‍र्गव‍ के‍योग‍ के‍रूप‍िें‍
सबसे‍बडी‍संख्या‍प्राप्‍त‍होती‍है।‍यदि‍रिि‍िेि‍
का‍वर्जेता‍है, तो‍रिि‍के‍पासे‍का‍पररणाि‍(F) 

होिा‍चादहए।  

161. ‘A’के‍स्‍थाि‍पर‍त‍या‍िाि‍आएगा? 

 A. 4.25 कक.िी B. 3.75 कक.िी 
C. 5 कक.िी D. 5.25 कक.िी 
E. दिए‍गए‍वर्कल्‍पों‍िें‍से‍कोई‍िहीं 

162. ‘B’के‍स्‍थाि‍पर‍त‍या‍िाि‍आएगा? 

 A. 10.45  

 B. दिए‍गए‍वर्कल्‍पों‍िें‍से‍कोई‍िहीं  
 C. सुबह‍11 बजे  
 D. सुबह‍10.30 बजे  
 E. सुबह‍10 बजे  
163. ‘C’के‍स्‍थाि‍पर‍त‍या‍िाि‍आएगा? 

 A.   B. 20%  

C. 25%  D.   

E. 50%  

164. ‘D’के‍स्‍थाि‍पर‍त‍या‍िाि‍आएगा? 

 A. 2 घंटे  B. 1.5 घंटे  

C.  घंटे  D.  घंटे  
E.  घंटे  

165. ‘E’ के‍स्‍थाि‍पर‍त‍या‍िाि‍आएगा? 

 A. 72  B. 42  

C. 36  D. 108  

E. 54  

166. ‘F’के‍स्‍थाि‍पर‍त‍या‍िाि‍आएगा? 

 A. दिए‍गए‍वर्कल्‍पों‍िें‍से‍कोई‍िहीं  
 B. ज्ञात‍िहीं‍ककया‍जा‍सकता  
 C. 3 और‍5  

 D. 4 और‍4  

 E. 2 और‍6  

 निरे्दश (167-170): निम्िलिखित‍ प्रश्िों‍ िें‍ िो‍
िात्राएाँ I और II िी‍ गई‍ हैं।‍ छात्रों‍ से‍अपेक्षा‍की‍
जाती‍ है‍ कक‍ र्े‍ िात्राओं‍को‍ हि‍करें‍और‍ उिके‍
संख्यात्िक‍िािों‍की‍तुििा‍करके‍दिए‍गए‍वर्कल्पों‍
के‍अिुसार‍उत्तर‍िें।  
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167. 𝟑𝒙+𝟓. 𝟗𝟐𝒙−𝟒= 𝟗𝟓𝒙−𝟏𝟒 और, 𝟐𝒚𝟐 − 𝟏𝟓𝒚 − 𝟐𝟖 = 𝟑𝒚𝟐 − 𝟐𝟑𝒚 − 𝟏𝟑 

 मात्रा I: ‘x’ का‍िाि 

 मात्रा II: ‘y’ का‍िाि 

 A. िात्रा I > िात्रा II 
 B. िात्रा I < िात्रा II 
 C. िात्रा I ≥ िात्रा II 
 D. िात्रा I ≤ िात्रा II 
 E. िात्रा I = िात्रा II या कोई‍संबंर्‍िहीं 
168. मात्रा I: जब‍कोई‍र्स्तु 28% छूट‍पर‍बेची‍जाती‍है‍

तो‍अक्जवत‍िाभ 29.6% होता‍है। ‘X’ िाभ % है‍जब‍
र्स्तु‍को 30% छूट‍पर‍बेचा‍जाता‍है। 

 मात्रा II : 38 

 A. िात्रा I = िात्रा II या कोई‍संबंर्‍िहीं 
 B. िात्रा I < िात्रा II 
 C. िात्रा I ≤ िात्रा II 
 D. िात्रा I ≥ िात्रा II 
 E. िात्रा I > िात्रा II 
169. 12 आििी‍ ककसी‍काि‍को 10 दििों‍िें‍ पूरा‍कर‍

सकत‍ेहैं। 18 िदहिाएं‍उसी‍काि‍को 20 दििों‍िें‍
कर‍सकती‍हैं। 27 बच्च‍ेउसी‍काि‍को 20 दििों‍िें‍
कर‍सकत‍ेहैं। 9 िदहिाएं‍और 9 बच्च‍ेएक‍साथ‍
लििकर‍उसी‍काि‍को 16 दििों‍िें‍करत‍ेहैं। 

 मात्रा I: र्ेष‍काि‍को‍एक‍दिि‍िें‍पूरा‍करि‍ेके‍
लिए‍आर्श्यक‍पुरुषों‍की‍संख्या 

 मात्रा II: 36 

 A. िात्रा I > िात्रा II 
B. िात्रा I ≤ िात्रा II 
C. िात्रा I = िात्रा II या‍कोई‍संबंर्‍िहीं 
D. िात्रा I < िात्रा II 
E. िात्रा I ≥ िात्रा II 

170. मात्रा I: टैंक‍को‍भरि‍ेके‍लिए‍लिया‍गया‍सिय‍
जब A, B और C को A से‍ रु्रू‍करि‍ेऔर C पर‍
सिाप्त‍होिे‍पर‍हर‍र्ैकक्ल्पक‍लििट‍िें‍िोिा‍जाता‍
है। टैंक‍को‍भरि‍ेके‍लिए A, B और C को‍अकेिे 

20लििट, 15 लििट‍और 12 लििट‍िगत‍ेहैं। 

 मात्रा II: अपलर्ष्ट‍पाइप‍द्र्ारा पूरे‍टैंक‍को‍िािी‍
करि‍ेिें‍िगि‍ेर्ािा‍सिय‍ज्ञात‍करें।‍अकेिे‍िो‍
पाइप‍क्रिर्ः 10 लििट‍और 15 लििट‍िें‍टैंक‍भर‍
सकत‍ेहैं।‍जब‍अपलर्ष्ट‍पाइप के‍साथ‍इि‍िो‍पाइपों‍
को‍िोिा‍जाता‍है, तो 18 लििट‍िें‍टैंक‍भर‍जाता‍
है। 

 A. िात्रा I > िात्रा II 
B. िात्रा I < िात्रा II 
C. िात्रा I ≥ िात्रा II 
D. िात्रा I ≤ िात्रा II 
E. िात्रा I = िात्रा II या‍कोई‍संबंर्‍िहीं 

 निरे्दश (171-175): िीच‍ेिी‍गई‍जािकारी‍तीि‍
अिग-अिग‍ घरों‍ िें‍ पंिों, िाइटों‍ और‍ अन्‍य‍
उपकरणों‍की‍बबजिी‍िपत‍यूनिटों‍को‍िर्ावती‍है।‍
जािकारी‍ का‍ ध्‍यािपूर्वक‍ अध्‍ययि‍ करें‍ और‍
निम्‍िलिखित‍प्रश्‍िों‍के‍उत्‍तर‍िें:  

 घर‍A - घर‍’A’ िें‍कुि‍यूनिट‍िपत‍250 यूनिट‍
है, क्जसिें‍ से‍120 यूनिट‍अन्य‍ उपकरणों‍ द्र्ारा‍
िपत‍की‍जाती‍हैं।‍पंिों‍की‍यूनिट‍िपत‍िाइटों‍
की‍ यूनिट‍ िपत‍ की‍ तुििा‍ िें‍ 30 कि‍ है।  
घर‍B - घर‍’A’ और‍घर‍'B' िें‍िाइट‍की‍यूनिट‍
िपत‍सिाि‍है।‍घर‍’B’ िें‍पंिों‍द्र्ारा‍उपभोग‍की‍
जािे‍र्ािी‍यूनिट‍घर‍A िें‍पंिों‍की‍यूनिट‍िपत‍
की‍तुििा‍िें‍60% अधर्क‍है।  

 घर‍C - तीिों‍घरों‍िें‍िाइट‍द्र्ारा‍उपभोग‍की‍जािे‍
र्ािी‍कुि‍यूनिट‍200 है‍और‍घर‍C िें‍पंिों‍और‍
िाइटों‍की‍यूनिट‍िपत‍सिाि‍है।‍अन्य‍उपकरणों‍
द्र्ारा‍ उपभोग‍की‍जािे‍र्ािी‍ यूनिट‍ इस‍घर‍िें‍
पंिों‍की‍यूनिट‍िपत‍की‍तुििा‍िें‍125% अधर्क‍
है।‍तीिों‍घरों‍िें‍अन्य‍उपकरणों‍द्र्ारा‍उपभोग‍की‍
गई‍कुि‍यूनिट‍320 है।  

http://www.gradeup.com/
https://xu75j.app.goo.gl/8sA6


www.gradeup.co 

 

 
(32) 

 

171. घर‍B िें‍िाइट‍द्र्ारा‍उपभोग‍की‍गई‍यूनिट‍की‍
संख्‍या‍घर‍C िें‍िाइट‍द्र्ारा‍उपभोग‍की‍गई‍
यूनिट‍से‍ककतिे‍प्रनतर्त‍अधर्क‍है? 

 A. 100%  B. 200%  

C. 120%  D. 50%  

E. 150%  

172. घर‍B, C और‍D िें‍अन्‍य‍उपकरणों‍द्र्ारा‍उपभोग‍
की‍गई‍औसत‍यूनिट‍संख्‍या‍110‍ है।‍घर‍D िें‍
अन्‍य‍उपकरणों‍द्र्ारा‍उपभोग‍की‍गई‍यूनिट‍संख्‍या‍
ज्ञात‍करें? 

 A. 110 यूनिट  
 B. दिए‍गए‍वर्कल्‍पों‍िें‍से‍कोई‍िहीं  
 C. 130 यूनिट  
 D. 120 यूनिट  
 E. 140 यूनिट 
173. घर‍A और‍C िें‍एक-साथ‍कुि‍यूनिट‍िपत‍ज्ञात‍

करें? 

 A. दिए‍गए‍वर्कल्‍पों‍िें‍से‍कोई‍िहीं  
 B. 410 यूनिट  
 C. 430 यूनिट  
 D. 400 यूनिट  
 E. 420 यूनिट  
174. घर‍B और‍घर‍C िें‍अन्‍य‍उपकरणों‍द्र्ारा‍यूनिट‍

िपत‍के‍बीच‍अंतर‍ज्ञात‍करें? 

 A. 10 यूनिट  
B. 20 यूनिट  
C. 30 यूनिट  
D. दिए‍गए‍वर्कल्‍पों‍िें‍से‍कोई‍िहीं  
E. 40 यूनिट  

175. घर‍C िें‍पंिों‍और‍िाइटों‍द्र्ारा‍एक-साथ‍उपभोग‍
ककए‍गए‍कुि‍यूनिट‍घर‍A िें‍िाइटों‍और‍अन्‍य‍
उपकरणों‍द्र्ारा‍एक-साथ‍उपभोग‍ ककए‍गए‍कुि‍
यूनिटों‍से‍ककतिे‍प्रनतर्त‍कि‍है? 

 A. 20%  B. 40%  

 C. 50%  D. 60%  

 E. 80%  

 निरे्दश (176-178):‍िीच‍े दिया‍गया‍ पाई‍चाटव‍
पांच‍ अिग-अिग‍ व्‍यक्त‍तयों‍ के‍ कुि‍ निर्ेर्‍ के‍
प्रनतर्त‍ वर्भाजि‍ को‍ िर्ावता‍ है।‍ प्रश्‍िों‍ को‍
ध्‍यािपूर्वक‍पढ़ें‍और‍उिके‍उत्‍तर‍िें। 

 

176. B और‍E िे‍साथ‍िें‍एक‍व्‍यर्साय‍प्रारंभ‍ककया।‍B 

व्‍यर्साय‍ प्रारंभ‍ होिे‍ के‍ 9‍ िहीिे‍ बाि‍ व्‍यर्साय‍
छोडकर‍चिा‍गया।‍यदि‍कुि‍र्ावषवक‍िाभ‍15,400‍
रुपये‍है‍तो‍B और‍E के‍िाभ‍के‍बीच‍अंतर‍ज्ञात‍
करें? 

 A. 2100 रुपये  B. 4200 रुपये  

C. 1400 रुपये  D. 2800 रुपये  

E. 3500 रुपये  

177. A और‍D िे‍साथ‍िें‍एक‍व्‍यर्साय‍आरंभ‍ककया, 
6‍िहीिे‍बाि‍A को‍C िे‍प्रनतस्‍थावपत‍ककया।‍D िे‍
A के‍2‍िहीिे‍बाि‍व्‍यर्साय‍छोड‍दिया‍जबकक‍C 

िे‍कुि‍‘x’ िहीिे‍काि‍ककया।‍13,050‍रुपये‍के‍
कुि‍िाभ‍िें‍से‍A को‍6750‍रुपये‍प्राप्‍त‍हुए।‍‘x’ 

का‍िाि‍ज्ञात‍करें। 
 A. 10  B. 8  

C. 6  D. 4  

E. 2  
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178. A, F और‍C िे‍साथ‍िें‍एक‍व्‍यर्साय‍प्रारंभ‍ककया।‍
F िे‍C से‍4000‍ रुपये‍अधर्क‍ निर्ेर्‍ ककए।‍F 

व्‍यर्साय‍ प्रारंभ‍ होिे‍ के‍ 6‍ िहीिे‍ बाि‍ व्‍यर्साय‍
छोडकर‍ चिा‍ गया।‍ अगिे‍ 2‍ िहीिों‍ बाि, C 

व्‍यर्साय‍छोडकर‍चिा‍गया।‍र्ावषवक‍िाभ‍िें‍से, 

यदि‍A और‍C को‍8750‍रुपये‍प्राप्‍त‍हुए‍हैं, तो‍
तीिों‍द्र्ारा‍अक्जवत‍ कुि‍र्ावषवक‍िाभ‍की‍गणिा‍
करें? 

 A. 11,250 रुपये  B. 10,000 रुपये  

C. 12,500 रुपये  D. 13,750 रुपये  

E. 15,000 रुपये  

179. एक पेि का िागत िूल्य 50 रुपये है और िोटबुक की 
कीित 140 रुपये है। यदि पेि को 200% िाभ पर 
बेचा जाता है, तो ऐसी 10 िोटबुक िरीििे के लिए 

ककतिे पेि को बेचिे की आर्श्यकता होगी यदिकेर्ि 

िाभ के पैसे का उपयोग ककया जाता है? 

 A. 14  B. 18  

C. 15  D. 20  

E. 16  

180. िो‍टे्रिों‍की‍िंबाई‍क्रिर्ः 150 िीटर‍और 200 िीटर‍
है‍और‍उिकी‍गनत‍का‍अिुपात (छोटी: िंबी)‍2:‍5 
है।‍यदि‍र्े 15 सेकंड‍िें‍एक‍िसूरे‍को‍वर्परीत‍दिर्ा‍
िें‍पार‍करती‍हैं‍तो‍ककतिे‍सिय‍िें‍तजे‍गनत‍र्ािी‍
टे्रि‍र्ीिी‍गनत‍र्ािी‍टे्रि‍से‍आगे‍निकि‍जाएगी। 

 A. 20 सेकें ड  B. 25 सेकें ड  
C. 32 सेकें ड  D. 35 सेकें ड  
E. 27 सेकें ड  

181. यदि‍एक आयत‍की‍िंबाई 6 सेिी‍कि‍हो‍जाती‍है, 
तो‍हिें‍एक‍र्गव‍प्राप्त‍होता‍है‍और‍निलिवत‍र्गव‍का‍
क्षेत्रफि‍उस र्गव‍के‍क्षेत्रफि‍से 252 सेिी‍कि‍होता‍
है, जो िूि‍ आयत‍ की‍ चौडाई‍ को 6 सेिी बढ़ािे 

सेलििता है।‍तो‍आयत‍की‍पररधर्‍ज्ञात‍कीक्जए। 
 A. 66 सेिी  B. 88 सेिी  

C. 80 सेिी  D. 72 सेिी  
E. 84 सेिी  

182. एक‍आयत‍की‍चौडाई‍र्गव‍के‍वर्कणव‍के‍बराबर‍है‍
क्जसकी‍भुजा 2.5√2 सेिी‍ है।‍आयत‍की‍िबंाई‍
और‍चौडाई‍के‍बीच‍का‍अिुपात 3 : 1 है।‍आयत‍
का‍क्षेत्रफि (सेिी2 िें) ज्ञात‍करें। 

 A. 75  B. 90  

C. 85  D. 80  

E. इििें‍से‍कोई‍भी‍िहीं 
183. एक‍िार्‍ििी‍की‍र्ारा‍की दिर्ा और उससे वर्परीत 

दिर्ा िें 5 घंटे‍िें‍सिाि‍िरूी‍तय‍करती‍है।‍र्ारा 
की दिर्ा और र्ारा के वर्परीत िार्‍की‍गनत‍का योग 

40 ककिी/घंटा‍है।‍र्ांत पािी‍िें‍िार्‍की‍गनत‍र्ारा‍
की‍गनत‍से 600% अधर्क‍है।‍र्ारा‍की गनत (ककिी‍
िें) िें िार्‍द्र्ारा‍तय‍की‍गई‍अिुिानित‍िरूी‍का‍
पता‍िगाएं। 

 A. 45  B. 50  

C. 55  D. 60  

E. इििें‍से‍कोई‍भी‍िहीं  
184. A और B िे‍क्रिर्ः 800 रुपये‍और 1600 रुपये‍की‍

साझिेारी‍की। 9र्ें‍िहीिे‍से‍िोिों िे‍प्रत्येक‍िहीिे‍
की‍रु्रुआत‍िें 100 रुपये‍और‍अधर्क निर्ेर्‍करि‍े
का‍फैसिा‍ककया।‍यदि‍कुि‍र्ावषवक‍िाभ 7700 रु.है‍
तो‍िाभ‍िें A की‍दहस्सेिारी‍का‍पता‍िगाएं। 

 A. 2550रु.  B. 3200रु.  
C. 2650रु.  D. 2450रु.  
E. 2750रु.  

185. A िे‍एक‍व्यर्साय‍ककया, 6 िहीिे‍बाि B भी‍उसके‍
साथ 4500 रुपये‍के‍निर्ेर्‍के‍साथ‍जुड‍जाता‍है‍
और B के‍जुडिे‍के 2 िहीिे‍बाि C भी 4500 रुपये‍
के‍ निर्ेर्‍ के‍ साथ‍ जुड‍ जाता‍ है। यदि A को 
10,000रुपये‍के‍कुि‍र्ावषवक‍िाभ‍िें‍से‍िगभग 

4900 रुपये‍लिित‍ेहैं, तो A के‍प्रारंलभक‍निर्ेर्‍का‍
अिुिानित‍िूल्य‍ज्ञात‍कीक्जए। 

 A. 4800रु.  B. 4200रु.  
C. 3600रु.  D. 4400रु.  
E. 5200रु.  
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 निरे्दश (186-190): िीच‍े दिया‍ गया‍ बार‍ चाटव‍
पांच‍र्स्‍तुओं‍के‍वर्क्रय‍िूल्‍य‍और‍रवर्‍द्र्ारा‍इि‍
र्स्‍तुओं‍ को‍ बेचिे‍ पर‍ अक्जवत‍ िाभ‍ प्रनतर्त‍ को‍
िर्ावता‍है।‍िी‍गई‍जािकारी‍को‍ध्‍यािपूर्वक‍पढ़ें‍और‍
निम्‍िलिखित‍प्रश्‍िों‍के‍उत्‍तर‍िें। 

 

186. रवर्‍ र्स्‍तु‍ 'D' श्‍याि‍को‍ बेचता‍ है‍जो‍ पुि:‍ इसे‍
25%‍ के‍िाभ‍पर‍ बेचता‍ है।‍ रवर्‍द्र्ारा‍अक्जवत‍
िाभ‍और‍श्‍याि‍द्र्ारा‍अक्जवत‍िाभ‍के‍बीच‍अंतर‍
ज्ञात‍करें? 

 A. 5 रुपये B. 10 रुपये 

C. 15 रुपये D. 20 रुपये 

E. 25 रुपये 

187. र्स्‍तु‍A का‍क्रय‍िूल्‍य‍र्स्‍तु‍C के‍क्रय‍िूल्‍य‍से‍
ककतिे‍प्रनतर्त‍अधर्क/कि‍है? 

 A. 62.5%  B. 37.5%  

C. 25%  D. 75%  

E. 50%  

188. रवर्‍र्स्‍तु‍B का‍िूल्‍य‍उसके‍क्रय‍िूल्‍य‍से‍50%‍
अधर्क‍अंककत‍करता‍ है, दिया‍गया‍िाभ‍अक्जवत‍
करि‍ेके‍लिए‍अंककत‍िूल्‍य‍पर‍ककतिे‍प्रनतर्त‍छूट‍
िी‍जािी‍चादहए? 

 A. 40%  B. 30%  
C. 25%  D. 20%  
E. 10%  

189. र्स्‍तु‍E को‍बेचिे‍पर‍अक्जवत‍िाभ‍र्स्‍तु‍C को‍बेचिे‍
पर‍अक्जवत‍िाभ‍से‍ककतिे‍प्रनतर्त‍अधर्क/कि‍है? 

 A. 40 रुपये  

B. दिए‍गए‍वर्कल्‍पों‍िें‍से‍कोई‍िहीं  
C. 30 रुपये  

D. 20 रुपये  

E. 10 रुपये  

190. रवर्‍िे‍र्स्‍तु‍A का‍िूल्‍य‍इस‍प्रकार‍अंककत‍ककया‍
कक‍र्स्‍तु‍A को‍16%‍छूट‍पर‍बेचिे‍पर‍दिया‍
गया‍िाभ‍अक्जवत‍करता‍है।‍र्स्‍तु‍A का‍अंककत‍
िूल्‍य‍उसके‍क्रय‍िूल्‍य‍से‍ककतिे‍प्रनतर्त‍अधर्क‍
है? 

 A.   B.   

C.   D.   

E.    

 

*** 
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 Solutions
1. Ans. C.  

Scheduled time for train to leave = “#&” = 
9:30  

Train late by 3 hrs.  

Train leaves from the station = 9 hours 30 

minutes + 3 hours = 12:30 = “@&” 
2. Ans. B.  

Bus to arrive at Delhi = “#$” = 9:25  

Bus to arrive Delhi at least 30 minutes before 

scheduled time = 9:25 – 25 minutes = 9:00  

Bus to depart from Ambala = 8:60 – 2 hours 

40 minutes = 6:20 = “&%” 
3. Ans. D.  

Scheduled time of train = “$% = 5:20  

To reach station 10 minutes earlier = 5:20 – 

10 minutes = 5:10  

Man take 25 minutes to reach station = 5:10 

– 25 minutes = 4:45 = “%#” 
4. Ans. C.  

Depart time of train = “$&” = 5:30  

It usually completes its journey in = 6 hours  

On Friday = 15 × 5 = 75 minutes  

Train is late by = 6 hours 75 minutes = 7 

hours 15 minutes  

Train reach Delhi = 5 hours 30 minutes + 7 

hours 15 minutes = 12 hours 45 minutes = 

12:45 = “@#” 
5. Ans. E.  

Scheduled time of the ceremony = “$$” = 
5:25  

Delay by 1 hour 20 minutes  

Ceremony will start on = 5 hour 25 minutes + 

1 hour 20 minutes = 6 hour 45 minutes = 

“&#” 
6. Ans. C.  

Vehicles - Cycle, Scooter, Car, Auto, Train, 

Boat, Truck, Helicopter, Motorcycle and 

Aeroplane  

Speed – 9, 17, 30, 35, 45, 55, 70, 224, 367 

and 575  

1. The car is sitting third to the extreme end. 

Truck faces car.  

  

2. The vehicle car is facing immediate 

neighbour of boat whose speed is 17km/hr.  

Case 1:  

  

Case 2:  

  

3. Only one vehicle comes in between Train 

Engine and Boat neither of them has speed of 

55 or 35 km/hr. Cycle and boat are immediate 

neighbours of each other.  

Case 1:  

  

Case 2:  

  

4. The one who faces Train Engine sits third to 

the right of scooter and both have a speed of 

multiple of 5.  
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This is not possible in case 2. So, case 1 is 

correct.  

  

5. Motorcycle and Helicopter are immediate 

neighbours of each other and one of them has 

even number speed and the other has odd 

number of speed. Aeroplane is sitting at the 

extreme end and has the highest speed.  

 
6. The one who has speed of 35 and 45 km/hr 

are immediate neighbours of each other. 

Motorcycle has more speed than Train Engine. 

Truck has speed more than 50 km/hr. All the 

vehicles are placed from east to west in the 

increasing order of their speeds.  

  

Hence, difference between speed of 

motorcycle and truck is 169km/hr. 

7. Ans. D.  

Vehicles - Cycle, Scooter, Car, Auto, Train, 

Boat, Truck, Helicopter, Motorcycle and 

Aeroplane  

Speed – 9, 17, 30, 35, 45, 55, 70, 224, 367 

and 575  

1. The car is sitting third to the extreme end. 

Truck faces car. 

  

2. The vehicle car is facing immediate 

neighbour of boat whose speed is 17km/hr.  

Case 1:  

  

Case 2:  

  

3. Only one vehicle comes in between Train 

Engine and Boat neither of them has speed of 

55 or 35 km/hr. Cycle and boat are immediate 

neighbours of each other.  

Case 1:  

  

Case 2:  

  

4. The one who faces Train Engine sits third to 

the right of scooter and both have a speed of 

multiple of 5.  

This is not possible in case 2. So, case 1 is 

correct.  
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5. Motorcycle and Helicopter are immediate 

neighbours of each other and one of them has 

even number speed and the other has odd 

number of speed. Aeroplane is sitting at the 

extreme end and has the highest speed.  

  

6. The one who has speed of 35 and 45 km/hr 

are immediate neighbours of each other. 

Motorcycle has more speed than Train Engine. 

Truck has speed more than 50 km/hr. All the 

vehicles are placed from east to west in the 

increasing order of their speeds.  

  

Hence, except auto all other vehicles are 

placed at extreme end. 

8. Ans. B.  

Vehicles - Cycle, Scooter, Car, Auto, Train, 

Boat, Truck, Helicopter, Motorcycle and 

Aeroplane  

Speed – 9, 17, 30, 35, 45, 55, 70, 224, 367 

and 575  

1. The car is sitting third to the extreme end. 

Truck faces car.  

 

2. The vehicle car is facing immediate 

neighbour of boat whose speed is 17km/hr.  

Case 1:  

  

Case 2:  

  

3. Only one vehicle comes in between Train 

Engine and Boat neither of them has speed of 

55 or 35 km/hr. Cycle and boat are immediate 

neighbours of each other.  

Case 1:  

  

Case 2:  

 
4. The one who faces Train Engine sits third to 

the right of scooter and both have a speed of 

multiple of 5.  

This is not possible in case 2. So, case 1 is 
correct.  
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5. Motorcycle and Helicopter are immediate 
neighbours of each other and one of them has 
even number speed and the other has odd 
number of speed. Aeroplane is sitting at the 
extreme end and has the highest speed.  

  
6. The one who has speed of 35 and 45 km/hr 
are immediate neighbours of each other. 
Motorcycle has more speed than Train Engine. 
Truck has speed more than 50 km/hr. All the 
vehicles are placed from east to west in the 
increasing order of their speeds.  

  
Hence, speed of auto is 35km/hr. 
9. Ans. E.  
Vehicles - Cycle, Scooter, Car, Auto, Train, 
Boat, Truck, Helicopter, Motorcycle and 
Aeroplane  
Speed – 9, 17, 30, 35, 45, 55, 70, 224, 367 
and 575  
1. The car is sitting third to the extreme end. 
Truck faces car.  

  
2. The vehicle car is facing immediate 
neighbour of boat whose speed is 17km/hr.  
Case 1: 

  

Case 2: 

  

3. Only one vehicle comes in between Train 

Engine and Boat neither of them has speed of 

55 or 35 km/hr. Cycle and boat are immediate 

neighbours of each other.  

Case 1:  

  

Case 2:  

 
4. The one who faces Train Engine sits third to 

the right of scooter and both have a speed of 

multiple of 5.  

This is not possible in case 2. So, case 1 is 

correct.  

  

5. Motorcycle and Helicopter are immediate 

neighbours of each other and one of them has 

even number speed and the other has odd 

number of speed. Aeroplane is sitting at the 

extreme end and has the highest speed.  
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6. The one who has speed of 35 and 45 km/hr 

are immediate neighbours of each other. 

Motorcycle has more speed than Train Engine. 

Truck has speed more than 50 km/hr. All the 

vehicles are placed from east to west in the 

increasing order of their speeds.  

  

Hence, truck is placed at the immediate left of 

boat. 

10. Ans. B.  

Vehicles - Cycle, Scooter, Car, Auto, Train, 

Boat, Truck, Helicopter, Motorcycle and 

Aeroplane  

Speed – 9, 17, 30, 35, 45, 55, 70, 224, 367 

and 575  

1. The car is sitting third to the extreme end. 

Truck faces car.  

  

2. The vehicle car is facing immediate 

neighbour of boat whose speed is 17km/hr.  

Case 1:  

 
Case 2:  

  

 

3. Only one vehicle comes in between Train 

Engine and Boat neither of them has speed of 

55 or 35 km/hr. Cycle and boat are immediate 

neighbours of each other.  

Case 1:  

  

Case 2:  

  

4. The one who faces Train Engine sits third to 

the right of scooter and both have a speed of 

multiple of 5.  

This is not possible in case 2. So, case 1 is 

correct.  

  

5. Motorcycle and Helicopter are immediate 

neighbours of each other and one of them has 

even number speed and the other has odd 

number of speed. Aeroplane is sitting at the 

extreme end and has the highest speed.  

  

6. The one who has speed of 35 and 45 km/hr 

are immediate neighbours of each other. 

Motorcycle has more speed than Train Engine. 

Truck has speed more than 50 km/hr. All the 

vehicles are placed from east to west in the 

increasing order of their speeds.  
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Hence, the sum of speeds of car and cycle is 

54km/hr 

11. Ans. D.  

From the given information, 

  

1. W’s brother S, sits on the immediate left of 

his mother whose lucky number is 6. P is the 

father of V and only one person sits between 

W’s mother and T. U, who is sister of V, her 
lucky number is 7 and is not an immediate 

neighbour of W’s husband. V is father of R and 
is not an immediate neighbour of T. P is 

married to W. 

 

2. S’s daughter lucky number is 1. Only one 
person is sitting between P and U. W’s brother 
S, sits on the immediate left of his mother 

whose lucky number is 6. P is the father of V 

and only one person sits between W’s mother 
and T. T sits on the immediate right of the 

person whose lucky number is 2. No female is 

an immediate neighbour of Q, who sits at the 

corner of the table. S’s daughter sits second 
to the right of U and on the immediate left of 

that person whose lucky number is 3. Q sits 

second to the left of W’s husband whose lucky 
number is neither 4 nor 7. U, who is sister of 

V, her lucky number is 7 and is not an 

immediate neighbour of W’s husband. Only 
one person sits between W and V. V sits 

second to the right of the person whose lucky 

number is 8. V is father of R and is not an 

immediate neighbour of T. 

  

Hence, Q is U’s grandmother. 
12. Ans. A.  

From the given information,  
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1. W’s brother S, sits on the immediate left 
of his mother whose lucky number is 6. P is 

the father of V and only one person sits 

between W’s mother and T. U, who is sister 
of V, her lucky number is 7 and is not an 

immediate neighbour of W’s husband. V is 
father of R and is not an immediate 

neighbour of T. P is married to W. 

 
2. S’s daughter lucky number is 1. Only one 
person is sitting between P and U. W’s brother 
S, sits on the immediate left of his mother 

whose lucky number is 6. P is the father of V 

and only one person sits between W’s mother 
and T. T sits on the immediate right of the 

person whose lucky number is 2. No female is 

an immediate neighbour of Q, who sits at the 

corner of the table. S’s daughter sits second 
to the right of U and on the immediate left of 

that person whose lucky number is 3. Q sits 

second to the left of W’s husband whose lucky 
number is neither 4 nor 7. U, who is sister of 

V, her lucky number is 7 and is not an 

immediate neighbour of W’s husband. Only 
one person sits between W and V. V sits 

second to the right of the person whose lucky 

number is 8. V is father of R and is not an 

immediate neighbour of T. 

  

Hence, U sits second to the right of P. 

13. Ans. E.  

From the given information, 

  

1. W’s brother S, sits on the immediate left of 
his mother whose lucky number is 6. P is the 

father of V and only one person sits between 

W’s mother and T. U, who is sister of V, her 
lucky number is 7 and is not an immediate 

neighbour of W’s husband. V is father of R and 
is not an immediate neighbour of T. P is 

married to W. 

  

2. S’s daughter lucky number is 1. Only one 

person is sitting between P and U. W’s brother 
S, sits on the immediate left of his mother 

whose lucky number is 6. P is the father of V 

and only one person sits between W’s mother 
and T. T sits on the immediate right of the 

person whose lucky number is 2. No female is 

an immediate neighbour of Q, who sits at the 
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corner of the table. S’s daughter sits second 
to the right of U and on the immediate left of 

that person whose lucky number is 3. Q sits 

second to the left of W’s husband whose lucky 
number is neither 4 nor 7. U, who is sister of 

V, her lucky number is 7 and is not an 

immediate neighbour of W’s husband. Only 
one person sits between W and V. V sits 

second to the right of the person whose lucky 

number is 8. V is father of R and is not an 

immediate neighbour of T. 

 
Hence, W’s lucky number is 8. 
14. Ans. D.  

From the given information,  

  

1. W’s brother S, sits on the immediate left of 
his mother whose lucky number is 6. P is the 

father of V and only one person sits between 

W’s mother and T. U, who is sister of V, her 

lucky number is 7 and is not an immediate 

neighbour of W’s husband. V is father of R and 
is not an immediate neighbour of T. P is 

married to W. 

  

2. S’s daughter lucky number is 1. Only one 
person is sitting between P and U. W’s brother 

S, sits on the immediate left of his mother 

whose lucky number is 6. P is the father of V 

and only one person sits between W’s mother 
and T. T sits on the immediate right of the 

person whose lucky number is 2. No female is 

an immediate neighbour of Q, who sits at the 

corner of the table. S’s daughter sits second 
to the right of U and on the immediate left of 

that person whose lucky number is 3. Q sits 

second to the left of W’s husband whose lucky 
number is neither 4 nor 7. U, who is sister of 

V, her lucky number is 7 and is not an 

immediate neighbour of W’s husband. Only 
one person sits between W and V. V sits 

second to the right of the person whose lucky 

number is 8. V is father of R and is not an 

immediate neighbour of T. 

  

Hence, except P all are facing away from the 

centre. 
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15. Ans. E.  

From the given information, 

  

1. W’s brother S, sits on the immediate left of 
his mother whose lucky number is 6. P is the 

father of V and only one person sits between 

W’s mother and T. U, who is sister of V, her 

lucky number is 7 and is not an immediate 

neighbour of W’s husband. V is father of R and 
is not an immediate neighbour of T. P is 

married to W. 

  

2. S’s daughter lucky number is 1. Only one 
person is sitting between P and U. W’s brother 
S, sits on the immediate left of his mother 

whose lucky number is 6. P is the father of V 

and only one person sits between W’s mother 
and T. T sits on the immediate right of the 

person whose lucky number is 2. No female is 

an immediate neighbour of Q, who sits at the 

corner of the table. S’s daughter sits second 
to the right of U and on the immediate left of 

that person whose lucky number is 3. Q sits 

second to the left of W’s husband whose lucky 
number is neither 4 nor 7. U, who is sister of 

V, her lucky number is 7 and is not an 

immediate neighbour of W’s husband. Only 
one person sits between W and V. V sits 

second to the right of the person whose lucky 

number is 8. V is father of R and is not an 

immediate neighbour of T. 

  

Hence, P and T are sitting opposite to each 

other. 

16. Ans. B.  

First row – 9 216 6  

According to step 4: “9 216” = 216 – 9 = 207  

According to step 1: “207 × 6” = 1242  

1242 is the resultant of first row.  

Second row – 1242 5 11  

According to step 3: “1242 5” = 1242 + 5 = 
1247  

According to step 5: “1247 11” = 1247 + 11 
= 1258  

1258 is the resultant of second row.  

Difference between the resultant of two rows 

= 1258 – 1242 = 16 

17. Ans. C.  

First row – 15 8 15  

According to step 1: “15 8” = 15 × 8 = 120  

According to step 2: “120 15” = 120 – 15 = 

105  

105 is the resultant of first row.  

Second row – 35 45 13  

According to step 5: “35 45” = 35 + 45 = 80  

According to step 3: “80 13” = 80 + 13 = 93  

93 is the resultant of second row.  

Addition of resultant of two rows = 105 + 93 

= 198 
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18. Ans. B.  

First row – 8 11 8  

According to step 3: “8 11” = 11 + 8 = 19  

According to step 4: “19 8” = 19 – 8 = 11  

11 is the resultant of first row.  

Second row – 26 21 7  

According to step 2: “26 21” = 26 – 21 = 5  

According to step 5: “5 7” = 5 + 7 = 12  

12 is the resultant of second row.  

Difference of resultant of two rows=12–11=1 

19. Ans. A.  

Second row - 45 33 3  

According to step 5: “45 33” = 45 + 33 = 
78  

According to step 3: “78 3” = 78 + 3 = 81  

81 is the resultant of second row.  

First row – 81 6 15  

According to step 1: “81 6” = 81 × 6 = 486  

According to step 2: “486 15” = 486 – 15 = 

471  

471 is the resultant of first row.  

Multiplication of resultant of two rows = 471 

× 81 = 38151 

20. Ans. B.  

First row – 3 27 15  

According to step 4: “3 27” = 27 – 3 = 24  

According to step 2: “24 15” = 24 – 15 = 9  

9 is the resultant of first row.  

Sum of resultant of two rows = 30  

9 + Resultant of second row = 30  

Resultant of second row = 30 – 9 = 21  

Second row – 7 3 X  

According to step 5: “7 3” = 7 + 3 = 10  

10 + X = 21  

X = 21 – 10 = 11  

Hence, value of X is 11. 

21. Ans. D.  

Horses - P, Q, R, S, T and U  

1. Distance between R and S is 60m and only 

two horses stand between them. 

Case 1:  

  

Case 2:  

  

 

Let distance between two horses be 4x. All the 

distances are consecutive integral multiple of 

4.  

4x + 4x + 4 + 4x + 8 = 60 12x + 12 = 60  

12x = 60 – 12  

12x = 48 x = 4  

Hence, distances are 16, 20, 24.  

2. U sits immediate left of R.  

Case 1:  

  

Case 2:  

3. P sits somewhere to the right of U and 

distance between them is in multiple of six. 

Distance between R and Q is 44m.  

Case 1:  

Distance between P and U must be multiple of 

6. There is only one possibility as 12 + 16 + 

20 = 48 which is multiple of 6.  

  

Distance between R and Q is 44m which is not 

possible in this case.  

Case 2:  

Distance between P and U must be multiple of 

6. There is only one possibility as 24 + 28 + 

32 = 84 which is multiple of 6. Distance 

between R and Q is 44m.  

  

4. Horse P starts moving towards east, after 

moving 12m, it turns to its right and moves 

60m. From there after turning to its left and 

walking for a distance of 5m, it comes to halt 

at a point X.  

Horse U moves in north direction for a 

distance of 20m and then turn to its left and 

moves 26m. After taking one more turn to its 

left it stops at a point Y after walking 5m.  
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Hence, distance between horses S and R is 

60m. 

22. Ans. D.  

Horses - P, Q, R, S, T and U  

1. Distance between R and S is 60m and only 

two horses stand between them.  

Case 1:  

  

Case 2:  

  

Let distance between two horses be 4x. All the 

distances are consecutive integral multiple of 

4.  

4x + 4x + 4 + 4x + 8 = 60  

12x + 12 = 60  

12x = 60 – 12  

12x = 48  

x = 4  

Hence, distances are 16, 20, 24.  

2. U sits immediate left of R.  

Case 1:  

  

Case 2:  

3. P sits somewhere to the right of U and 

distance between them is in multiple of six. 

Distance between R and Q is 44m.  

Case 1:  

Distance between P and U must be multiple of 

6. There is only one possibility as 12 + 16 + 

20 = 48 which is multiple of 6.  

 
Distance between R and Q is 44m which is not 

possible in this case.  

Case 2:  

Distance between P and U must be multiple of 

6. There is only one possibility as 24 + 28 + 

32 = 84 which is multiple of 6. Distance 

between R and Q is 44m.  

  

4. Horse P starts moving towards east, after 

moving 12m, it turns to its right and moves 

60m. From there after turning to its left and 

walking for a distance of 5m, it comes to halt 

at a point X.  

Horse U moves in north direction for a 

distance of 20m and then turn to its left and 

moves 26m. After taking one more turn to its 

left it stops at a point Y after walking 5m.  

  

Hence, horse P is now facing east direction. 

23. Ans. C.  

Horses - P, Q, R, S, T and U  

1. Distance between R and S is 60m and only 

two horses stand between them.  

Case 1:  
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Case 2:  

  

Let distance between two horses be 4x. All the 

distances are consecutive integral multiple of 

4.  

4x + 4x + 4 + 4x + 8 = 60  

12x + 12 = 60  

12x = 60 – 12  

12x = 48  

x = 4  

Hence, distances are 16, 20, 24.  

2. U sits immediate left of R.  

Case 1:  

  

Case 2:  

3. P sits somewhere to the right of U and 

distance between them is in multiple of six. 

Distance between R and Q is 44m.  

Case 1:  

Distance between P and U must be multiple of 

6. There is only one possibility as 12 + 16 + 

20 = 48 which is multiple of 6.  

 
Distance between R and Q is 44m which is not 

possible in this case.  

Case 2:  

Distance between P and U must be multiple of 

6. There is only one possibility as 24 + 28 + 

32 = 84 which is multiple of 6. Distance 

between R and Q is 44m.  

  

4. Horse P starts moving towards east, after 

moving 12m, it turns to its right and moves 

60m. From there after turning to its left and 

walking for a distance of 5m, it comes to halt 

at a point X.  

Horse U moves in north direction for a 

distance of 20m and then turn to its left and 

moves 26m. After taking one more turn to its 

left it stops at a point Y after walking 5m.  

  

Hence, horse U is on the immediate right of 

Q. 

24. Ans. E.  

Horses - P, Q, R, S, T and U  

1. Distance between R and S is 60m and only 

two horses stand between them.  

Case 1:  

  

Case 2:  

  

Let distance between two horses be 4x. All the 

distances are consecutive integral multiple of 

4.  

4x + 4x + 4 + 4x + 8 = 60  

12x + 12 = 60  

12x = 60 – 12  

12x = 48  

x = 4  

Hence, distances are 16, 20, 24.  

2. U sits immediate left of R.  

Case 1:  

  

Case 2:  

3. P sits somewhere to the right of U and 

distance between them is in multiple of six. 

Distance between R and Q is 44m.  
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Case 1:  

Distance between P and U must be multiple of 

6. There is only one possibility as 12 + 16 + 

20 = 48 which is multiple of 6.  

 
Distance between R and Q is 44m which is not 

possible in this case.  

Case 2:  

Distance between P and U must be multiple of 

6. There is only one possibility as 24 + 28 + 

32 = 84 which is multiple of 6. Distance 

between R and Q is 44m. 

  

4. Horse P starts moving towards east, after 

moving 12m, it turns to its right and moves 

60m. From there after turning to its left and 

walking for a distance of 5m, it comes to halt 

at a point X.  

Horse U moves in north direction for a 

distance of 20m and then turn to its left and 

moves 26m. After taking one more turn to its 

left it stops at a point Y after walking 5m.  

  

Hence, there are four horses between S and 

P. 

25. Ans. C.  

Horses - P, Q, R, S, T and U  

1. Distance between R and S is 60m and only 

two horses stand between them.  

Case 1:  

  

Case 2:  

  

Let distance between two horses be 4x. All the 

distances are consecutive integral multiple of 

4.  

4x + 4x + 4 + 4x + 8 = 60  

12x + 12 = 60  

12x = 60 – 12  

12x = 48  

x = 4  

Hence, distances are 16, 20, 24.  

2. U sits immediate left of R.  

Case 1:  

  

Case 2:  

3. P sits somewhere to the right of U and 

distance between them is in multiple of six. 

Distance between R and Q is 44m.  

Case 1:  

Distance between P and U must be multiple of 

6. There is only one possibility as 12 + 16 + 

20 = 48 which is multiple of 6.  

 
Distance between R and Q is 44m which is not 

possible in this case.  

Case 2:  

Distance between P and U must be multiple of 

6. There is only one possibility as 24 + 28 + 

32 = 84 which is multiple of 6. Distance 

between R and Q is 44m.  

  

4. Horse P starts moving towards east, after 

moving 12m, it turns to its right and moves 

60m. From there after turning to its left and 

walking for a distance of 5m, it comes to halt 

at a point X.  
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Horse U moves in north direction for a 

distance of 20m and then turn to its left and 

moves 26m. After taking one more turn to its 

left it stops at a point Y after walking 5m.  

  

Hence, point Y is in north-west direction with 

respect to point X. 

26. Ans. C.  

Persons - P, Q, R, S, T, U, V and W  

Fruits – Apple, Mango, Banana, Papaya, 

Orange, Cherry, strawberry and Guava  

1. There are only three floors gap between U 

and the one who likes Banana. U lives one of 

the floors below to the one who likes Banana. 

There are only three floors between U and S. 

S does not like Banana.  

Case 1:  

  

Case 2:  

  

2. There are three floors between P and Q. The 

person who likes mango lives below to both P 

and Q. The one who likes Apple lives 

immediately between P and W. W likes 

mango.  

Case 1:  

  

Case 2:  

  

3. There are two floors between W and R.  

This is not possible in case 2. So, case 1 is 

correct.  
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4. V lives immediately below the one who likes 

Cherry.  

  

5. The number of person lives between U and 

the one who likes Banana is same as the 

number of floors between U and the person 

who likes Orange.  

Hence, R likes Orange.  

  

6. The one who likes Guava lives below the 

one who likes Papaya but does not lives below 

the one who likes Strawberry.  

  

Hence, Q likes Papaya. 

 

27. Ans. B.  

Persons - P, Q, R, S, T, U, V and W  

Fruits – Apple, Mango, Banana, Papaya, 

Orange, Cherry, strawberry and Guava  

1. There are only three floors gap between U 

and the one who likes Banana. U lives one of 

the floors below to the one who likes Banana. 

There are only three floors between U and S. 

S does not like Banana.  

Case 1:  

  

Case 2:  

  

2. There are three floors between P and Q. The 

person who likes mango lives below to both P 

and Q. The one who likes Apple lives 

immediately between P and W. W likes 

mango.  

Case 1:  
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Case 2:  

  

3. There are two floors between W and R.  

This is not possible in case 2. So, case 1 is 

correct.  

  

4. V lives immediately below the one who likes 

Cherry.  

  

5. The number of person lives between U and 

the one who likes Banana is same as the 

number of floors between U and the person 

who likes Orange.  

Hence, R likes Orange.  

  

6. The one who likes Guava lives below the 

one who likes Papaya but does not lives below 

the one who likes Strawberry.  

  

Hence, the T lives immediately above the 

vacant floor. 

28. Ans. D.  

Persons - P, Q, R, S, T, U, V and W  

Fruits – Apple, Mango, Banana, Papaya, 

Orange, Cherry, strawberry and Guava  

1. There are only three floors gap between U 

and the one who likes Banana. U lives one of 

the floors below to the one who likes Banana. 

There are only three floors between U and S. 

S does not like Banana.  

Case 1:  
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Case 2:  

  

2. There are three floors between P and Q. The 

person who likes mango lives below to both P 

and Q. The one who likes Apple lives 

immediately between P and W. W likes 

mango.  

Case 1:  

  

Case 2:  

  

3. There are two floors between W and R.  

This is not possible in case 2. So, case 1 is 

correct.  

  

4. V lives immediately below the one who likes 

Cherry.  

  

5. The number of person lives between U and 

the one who likes Banana is same as the 

number of floors between U and the person 

who likes Orange.  

Hence, R likes Orange.  

  

6. The one who likes Guava lives below the 

one who likes Papaya but does not lives below 

the one who likes Strawberry.  
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Hence, 9 is a vacant floor. 

29. Ans. A.  

Persons - P, Q, R, S, T, U, V and W  

Fruits – Apple, Mango, Banana, Papaya, 

Orange, Cherry, strawberry and Guava  

1. There are only three floors gap between U 

and the one who likes Banana. U lives one of 

the floors below to the one who likes Banana. 

There are only three floors between U and S. 

S does not like Banana.  

Case 1:  

  

Case 2:  

  

2. There are three floors between P and Q. The 

person who likes mango lives below to both P 

and Q. The one who likes Apple lives 

immediately between P and W. W likes 

mango.  

Case 1:  

  

Case 2:  

  

3. There are two floors between W and R.  

This is not possible in case 2. So, case 1 is 

correct.  
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4. V lives immediately below the one who likes 

Cherry.  

  

5. The number of person lives between U and 

the one who likes Banana is same as the 

number of floors between U and the person 

who likes Orange.  

Hence, R likes Orange.  

  

6. The one who likes Guava lives below the 

one who likes Papaya but does not lives below 

the one who likes Strawberry.  

  

Hence, two persons lives between T and the 

one who likes Guava. 

 

30. Ans. C.  
(i) The statement can be concluded from the 
given statement because it describes that 
Republic day 2018 will witness so many 
leaders for the first time which is also 
mentioned in the given statement that for the 
first time India will invite heads of ten ASEAN 
nations for Republic day 2018 celebrations.  
(ii) This statement cannot be concluded from 
the given statement as it is not mentioned in 
the given statements.  
(iii) This also cannot be concluded as no 
information is given about India and Asian’s 
economic partnership. 
31. Ans. B.  
The given argument states that obesity should 
be categorized as a serious disease as it is 
known to decrease life expectancy and to 
harm the normal functioning of the body just 
like any other life-threatening disease. Option 
B undermines the argument by pointing out 
that obesity is mostly a lifestyle problem and 
not a disease. Compared to 40 years ago, 
people today spend more time commuting, 
sitting in front of a computer, watching 
television, playing video games, and generally 
exercising less, and end up burning fewer 
calories. Hence, option B is the correct 
answer. 
32. Ans. B.  
1. C likes grey colour and was born in the 
same month as E. Only B and H were born in 
March. The one who likes Pink colour was born 
in the month which has 30 days only. B is a 
scientist and the one who likes pink colour 
works is a doctor. D likes Orange colour and 
was born in the same month as F. H is a 
fashion designer. F does not like Black colour 
and the one who likes orange colour is an 
engineer.  
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2. The one who is a teacher was born on one 
of the months which have more than 30 days 
and the one who is an engineer was born on 
one of the months which have more than 30 
days. The one who is a scientist was born on 
one of the months which have more than 30 
days and the one who is a professor was born 
on one of the months which has less than 31 
days. The one who is a IPS was born on one 
of the months which have less than 31 days 
and the one who is a IAS was born on one of 
the months which has more than 30 days.  

 
3. C likes grey colour and was born in the 
same month as E. F was not born in the same 
month as E. D likes Orange colour and was 
born in the same month as F. C was not born 
in December. C is neither Fashion designer nor 
IPS. B does not like green colour and E does 
not like pink.  

 
4. The one who likes Black and the one who 

likes Blue were born in the same month. The 

one who likes Black was not born in the same 

month as H. F does not like Black colour and 

the one who likes orange colour is an 

engineer. The one who likes red colour was 

born in the same month as A. B does not like 

green colour and E does not like pink. 

  

Hence, G is an IAS. 

33. Ans. C.  

1. C likes grey colour and was born in the 

same month as E. Only B and H were born in 

March. The one who likes Pink colour was born 

in the month which has 30 days only. B is a 

scientist and the one who likes pink colour 

works is a doctor. D likes Orange colour and 

was born in the same month as F. H is a 

fashion designer. F does not like Black colour 

and the one who likes orange colour is an 

engineer.  

  

2. The one who is a teacher was born on one 

of the months which have more than 30 days 

and the one who is an engineer was born on 

one of the months which have more than 30 

days. The one who is a scientist was born on 

one of the months which have more than 30 

days and the one who is a professor was born 

on one of the months which has less than 31 

days. The one who is a IPS was born on one 

of the months which have less than 31 days 

and the one who is a IAS was born on one of 

the months which has more than 30 days.  
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3. C likes grey colour and was born in the 

same month as E. F was not born in the same 

month as E. D likes Orange colour and was 

born in the same month as F. C was not born 

in December. C is neither Fashion designer nor 

IPS. B does not like green colour and E does 

not like pink.  

  

4. The one who likes Black and the one who 

likes Blue were born in the same month. The 

one who likes Black was not born in the same 

month as H. F does not like Black colour and 

the one who likes orange colour is an 

engineer. The one who likes red colour was 

born in the same month as A. B does not like 

green colour and E does not like pink.  

 
Hence, D likes orange colour. 

34. Ans. E.  

1. C likes grey colour and was born in the 

same month as E. Only B and H were born in 

March. The one who likes Pink colour was born 

in the month which has 30 days only. B is a 

scientist and the one who likes pink colour 

works is a doctor. D likes Orange colour and 

was born in the same month as F. H is a 

fashion designer. F does not like Black colour 

and the one who likes orange colour is an 

engineer.  

  

2. The one who is a teacher was born on one 

of the months which have more than 30 days 

and the one who is an engineer was born on 

one of the months which have more than 30 

days. The one who is a scientist was born on 

one of the months which have more than 30 

days and the one who is a professor was born 

on one of the months which has less than 31 

days. The one who is a IPS was born on one 

of the months which have less than 31 days 

and the one who is a IAS was born on one of 

the months which has more than 30 days.  

  

3. C likes grey colour and was born in the 

same month as E. F was not born in the same 

month as E. D likes Orange colour and was 

born in the same month as F. C was not born 

in December. C is neither Fashion designer nor 

IPS. B does not like green colour and E does 

not like pink. 
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4. The one who likes Black and the one who 

likes Blue were born in the same month. The 

one who likes Black was not born in the same 

month as H. F does not like Black colour and 

the one who likes orange colour is an 

engineer. The one who likes red colour was 

born in the same month as A. B does not like 

green colour and E does not like pink.  

  

Hence, D,F and G was born in December. 

35. Ans. E.  

1. C likes grey colour and was born in the 

same month as E. Only B and H were born in 

March. The one who likes Pink colour was born 

in the month which has 30 days only. B is a 

scientist and the one who likes pink colour 

works is a doctor. D likes Orange colour and 

was born in the same month as F. H is a 

fashion designer. F does not like Black colour 

and the one who likes orange colour is an 

engineer.  

  

2. The one who is a teacher was born on one 

of the months which have more than 30 days 

and the one who is an engineer was born on 

one of the months which have more than 30 

days. The one who is a scientist was born on 

one of the months which have more than 30 

days and the one who is a professor was born 

on one of the months which has less than 31 

days. The one who is a IPS was born on one 

of the months which have less than 31 days 

and the one who is a IAS was born on one of 

the months which has more than 30 days.  

  

3. C likes grey colour and was born in the 

same month as E. F was not born in the same 

month as E. D likes Orange colour and was 

born in the same month as F. C was not born 

in December. C is neither Fashion designer nor 

IPS. B does not like green colour and E does 

not like pink. 

  

4. The one who likes Black and the one who 

likes Blue were born in the same month. The 

one who likes Black was not born in the same 

month as H. F does not like Black colour and 

the one who likes orange colour is an 

engineer. The one who likes red colour was 

born in the same month as A. B does not like 

green colour and E does not like pink. 
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Hence, except one who is an engineer all other 

are born in June. 

36. Ans. B.  

1. C likes grey colour and was born in the 

same month as E. Only B and H were born in 

March. The one who likes Pink colour was born 

in the month which has 30 days only. B is a 

scientist and the one who likes pink colour 

works is a doctor. D likes Orange colour and 

was born in the same month as F. H is a 

fashion designer. F does not like Black colour 

and the one who likes orange colour is an 

engineer.  

  

2. The one who is a teacher was born on one 

of the months which have more than 30 days 

and the one who is an engineer was born on 

one of the months which have more than 30 

days. The one who is a scientist was born on 

one of the months which have more than 30 

days and the one who is a professor was born 

on one of the months which has less than 31 

days. The one who is a IPS was born on one 

of the months which have less than 31 days 

and the one who is a IAS was born on one of 

the months which has more than 30 days.  

  

3. C likes grey colour and was born in the 

same month as E. F was not born in the same 

month as E. D likes Orange colour and was 

born in the same month as F. C was not born 

in December. C is neither Fashion designer nor 

IPS. B does not like green colour and E does 

not like pink. 

 
4. The one who likes Black and the one who 

likes Blue were born in the same month. The 

one who likes Black was not born in the same 

month as H. F does not like Black colour and 

the one who likes orange colour is an 

engineer. The one who likes red colour was 

born in the same month as A. B does not like 

green colour and E does not like pink.  

 Hence, C likes grey colour. 
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37. Ans. E.  
None of the courses of action follow. Banning 
the sale of knives just because one particular 
knife-wielding assailant went on a rampage 
makes no sense. Similarly, taking into police 
custody all those who are seen carrying knives 
is not something practical. Knives can be used 
for so many other purposes not involving the 
killing/harming of people. Finally, it is not a 
realistic expectation that posting policemen in 
all major tourist spots would reduce or 
altogether stop instances of such occurrences. 
Therefore, option E is the correct answer. 
38. Ans. C.  
Only III can be inferred. We can only deduce 
from the given statement that Putin and 
America have not been on good terms 
because President Trump was accused of 
treason simply because he embraced his 
Russian counterpart. We cannot draw any 
general conclusions about the relationship 
between both the countries. Also, we cannot 
infer anything about the prior presidents of 
America from what is given. Therefore, option 
C is the correct answer. 
39. Ans. C.  
Subjects - Mathematics, Hindi, English, 
Science, Accounts and Economics  
1. Mathematics class takes place from 11am 
to 12:30 pm. Time slot of Science is twice the 
time slot of mathematics.  
Hence, time slot of Science class is 3 hours.  
Time slot of English is 1 hour less than the 
time slot of Science.  
Hence, time slot of English class is 2 hours.  
Number of classes took place between 
Economics and Accounts is same as the 
number of classes between English and 
Economics. English class took place between 
Mathematics and Accounts but it did not takes 
place immediately after or before Accounts. 
Only one class took place between 
Mathematics and Science.  

  

2. Accounts classes starts from 5:30 pm.  

Hence, time slot of Economics class is 3 

hours.  

Total slot time of Hindi and Economics class is 

4.5 hours.  

Time slot of Hindi class is = 4.5 – 3 = 1.5 

hours  

Mathematics class takes place from 11am to 

12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours.  

  

Total time for the whole day = 14 hours  

3 hours + 1.5 hours + 1.5 hours + 2 hours + 

3 hours + Time slot of Accounts = 14 hours  

11 hours + Time slot of Accounts = 14 hours  

Time slot of Accounts = 14 – 11 = 3 hours  

  

Hence, total time slot of Accounts class is 3 

hours. 

40. Ans. B.  

Subjects - Mathematics, Hindi, English, 

Science, Accounts and Economics  

1. Mathematics class takes place from 11am 

to 12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours.  

Time slot of English is 1 hour less than the 

time slot of Science.  

Hence, time slot of English class is 2 hours.  

Number of classes took place between 

Economics and Accounts is same as the 

number of classes between English and 

Economics. English class took place between 
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Mathematics and Accounts but it did not takes 

place immediately after or before Accounts. 

Only one class took place between 

Mathematics and Science. 

  

2. Accounts classes starts from 5:30 pm.  

Hence, time slot of Economics class is 3 

hours.  

Total slot time of Hindi and Economics class is 

4.5 hours.  

Time slot of Hindi class is = 4.5 – 3 = 1.5 

hours  

Mathematics class takes place from 11am to 

12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours.  

  

Total time for the whole day = 14 hours  

3 hours + 1.5 hours + 1.5 hours + 2 hours + 

3 hours + Time slot of Accounts = 14 hours  

11 hours + Time slot of Accounts = 14 hours  

Time slot of Accounts = 14 – 11 = 3 hours  

  

Hence, Economics class is held after English 

class. 

41. Ans. E.  

Subjects - Mathematics, Hindi, English, 

Science, Accounts and Economics  

1. Mathematics class takes place from 11am 

to 12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours.  

Time slot of English is 1 hour less than the 

time slot of Science.  

Hence, time slot of English class is 2 hours.  

Number of classes took place between 

Economics and Accounts is same as the 

number of classes between English and 

Economics. English class took place between 

Mathematics and Accounts but it did not takes 

place immediately after or before Accounts. 

Only one class took place between 

Mathematics and Science.  

  

2. Accounts classes starts from 5:30 pm.  

Hence, time slot of Economics class is 3 

hours.  

Total slot time of Hindi and Economics class is 

4.5 hours.  

Time slot of Hindi class is = 4.5 – 3 = 1.5 

hours  

Mathematics class takes place from 11am to 

12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours.  

  

Total time for the whole day = 14 hours  

3 hours + 1.5 hours + 1.5 hours + 2 hours + 

3 hours + Time slot of Accounts = 14 hours  

11 hours + Time slot of Accounts = 14 hours  
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Time slot of Accounts = 14 – 11 = 3 hours  

  

Hence, five classes took place between 

Science and Accounts. 

42. Ans. C.  

Subjects - Mathematics, Hindi, English, 

Science, Accounts and Economics  

1. Mathematics class takes place from 11am 

to 12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours.  

Time slot of English is 1 hour less than the 

time slot of Science.  

Hence, time slot of English class is 2 hours.  

Number of classes took place between 

Economics and Accounts is same as the 

number of classes between English and 

Economics. English class took place between 

Mathematics and Accounts but it did not takes 

place immediately after or before Accounts. 

Only one class took place between 

Mathematics and Science.  

  

2. Accounts classes starts from 5:30 pm.  

Hence, time slot of Economics class is 3 

hours.  

Total slot time of Hindi and Economics class is 

4.5 hours.  

Time slot of Hindi class is = 4.5 – 3 = 1.5 

hours  

Mathematics class takes place from 11am to 

12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours. 

  

Total time for the whole day = 14 hours  

3 hours + 1.5 hours + 1.5 hours + 2 hours + 

3 hours + Time slot of Accounts = 14 hours  

11 hours + Time slot of Accounts = 14 hours  

Time slot of Accounts = 14 – 11 = 3 hours  

  

Hence, Hindi class starts at 9:30 am – 11:00 

am. 

43. Ans. D.  

Subjects - Mathematics, Hindi, English, 

Science, Accounts and Economics  

1. Mathematics class takes place from 11am 

to 12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours.  

Time slot of English is 1 hour less than the 

time slot of Science.  

Hence, time slot of English class is 2 hours.  

Number of classes took place between 

Economics and Accounts is same as the 

number of classes between English and 

Economics. English class took place between 

Mathematics and Accounts but it did not takes 

place immediately after or before Accounts. 

Only one class took place between 

Mathematics and Science. 
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2. Accounts classes starts from 5:30 pm.  

Hence, time slot of Economics class is 3 

hours.  

Total slot time of Hindi and Economics class is 

4.5 hours.  

Time slot of Hindi class is = 4.5 – 3 = 1.5 

hours  

Mathematics class takes place from 11am to 

12:30 pm. Time slot of Science is twice the 

time slot of mathematics.  

Hence, time slot of Science class is 3 hours.  

  

Total time for the whole day = 14 hours  

3 hours + 1.5 hours + 1.5 hours + 2 hours + 

3 hours + Time slot of Accounts = 14 hours  

11 hours + Time slot of Accounts = 14 hours  

Time slot of Accounts = 14 – 11 = 3 hours  

  

Hence, total time slot of English and Hindi 

class is 3.5 hours. 

44. Ans. A.  

Argument I is strong as it gives a proper 

reason as to why women should be included 

in combat arms – because they have already 

worked in this area in Iraq and other places 

and so it makes sense to include them 

officially. Argument II is weak because it talks 

about a general scenario in comparing an 

average female with an average male. 

However, what if a woman with exceptional 

athletic ability and toughness can meet and 

even exceed the standards currently set for 

male troops, on what basis should she be 

denied entry into combat arms? Therefore, 

option A is the correct answer. 

45. Ans. C.  

Pakistan is losing its reputation and other 

countries are planning to take strict action 

against Pakistan for supporting terrorism as 

an instrument of state policy. Hence, option C 

is the correct option. 

46. Ans. E.  

Persons: A, B, C, D, E, F, G and H  

Branches: Civil, Mechanical, Chemical,  

Electrical, Optical, Power, Computer and 

Geological.  

1) Immediate left of A likes Mechanical, who 

faces opposite the centre. E sits second to the 

left of A. F and E are facing the same side and 

only two persons are sitting between them. F 

does not sit immediately next to A. A and C 

are facing outward direction but not as F. 

  

2) D sits diagonally opposite to B who sits to 

the immediate right of E and both E and B  are 

facing same direction. The one who likes 

Chemical sits between F and B. D is facing 

same direction as F. 

Hence, E, D and F face the centre. 
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3) Only two persons sit between G and H. C 

sits second to the left of G. A and C are facing 

outward direction but not as F.  

Hence, G faces the centre.  

 
4) The one who likes Geological sits second to 

the right of the one who likes Chemical. The 

one who likes Optical faces the one who likes 

Geological.  

5) The one who likes Power sits immediately 

next to the one who likes Computer but not 

faces the one who likes Chemical. The one 

who likes Civil does not sit immediately next 

to F. 

Hence, F likes Electrical. 

47. Ans. B.  

Persons: A, B, C, D, E, F, G and H  

Branches: Civil, Mechanical, Chemical, 

Electrical, Optical, Power, Computer and 

Geological.  

1) Immediate left of A likes Mechanical, who 

faces opposite the centre. E sits second to the 

left of A. F and E are facing the same side and 

only two persons are sitting between them. F 

does not sit immediately next to A. A and C 

are facing outward direction but not as F.  

  

2) D sits diagonally opposite to B who sits to 

the immediate right of E and both of them are 

facing each other. The one who likes Chemical 

sits between F and B.  

Hence, E, D and F face the centre.  

  

3) Only two persons sit between G and H. C 

sits second to the left of G. A and C are facing 

outward direction but not as F.  

Hence, G faces the centre.  
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4) The one who likes Geological sits second to 

the right of the one who likes Chemical. The 

one who likes Optical faces the one who likes 

Geological.  

5) The one who likes Power sits immediately 

next to the one who likes Computer but not 

faces the one who likes Chemical. The one 

who likes Civil does not sit immediately next 

to F 

 
Hence, D sits between A and G. 

48. Ans. B.  

Persons: A, B, C, D, E, F, G and H  

Branches: Civil, Mechanical, Chemical, 

Electrical, Optical, Power, Computer and 

Geological.  

1) Immediate left of A likes Mechanical, who 

faces opposite  the centre. E sits second to the 

left of A. F and E are facing the same side and 

only two persons are sitting between them. F 

does not sit immediately next to A. A and C 

are facing outward direction but not as F.  

  

2) D sits diagonally opposite to B who sits to 

the immediate right of E and both of them are 

facing each other. The one who likes Chemical 

sits between F and B.  

Hence, E, D and F face the centre.  

  

3) Only two persons sit between G and H. C 

sits second to the left of G. A and C are facing 

outward direction but not as F.  

Hence, G faces the centre.  
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4) The one who likes Geological sits second to 

the right of the one who likes Chemical. The 

one who likes Optical faces the one who likes 

Geological.  

  

5) The one who likes Power sits immediately 

next to the one who likes Computer but not 

faces the one who likes Chemical. The one 

who likes Civil does not sit immediately next 

to F.  

 
Hence, G and C do not face the same 

direction. 

49. Ans. C.  

Persons: A, B, C, D, E, F, G and H  

Branches: Civil, Mechanical, Chemical, 

Electrical, Optical, Power, Computer and 

Geological.  

1) Immediate left of A likes Mechanical, who 

faces opposite the centre. E sits second to the 

left of A. F and E are facing the same side and 

only two persons are sitting between them. F 

does not sit immediately next to A. A and C 

are facing outward direction but not as F.  

  

2) D sits diagonally opposite to B who sits to 

the immediate right of E and both of them are 

facing each other. The one who likes Chemical 

sits between F and B.  

Hence, E, D and F face the centre.  

  

3) Only two persons sit between G and H. C 

sits second to the left of G. A and C are facing 

outward direction but not as F.  

Hence, G faces the centre.  
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4) The one who likes Geological sits second to 

the right of the one who likes Chemical. The 

one who likes Optical faces the one who likes 

Geological.  

5) The one who likes Power sits immediately 

next to the one who likes Computer but not 

faces the one who likes Chemical. The one 

who likes Civil does not sit immediately next 

to F.  

 
Hence, E faces the one who sits second to the 

left of C. 

50. Ans. D.  

Persons: A, B, C, D, E, F, G and H  

Branches: Civil, Mechanical, Chemical, 

Electrical, Optical, Power, Computer and 

Geological.  

1) Immediate left of A likes Mechanical, who 

faces opposite the centre. E sits second to the 

left of A. F and E are facing the same side and 

only two persons are sitting between them. F 

does not sit immediately next to A. A and C 

are facing outward direction but not as F.  

 

2) D sits diagonally opposite to B who sits to 

the immediate right of E and both of them are 

facing each other. The one who likes Chemical 

sits between F and B.  

Hence, E, D and F face the centre.  

 

3) Only two persons sit between G and H. C 

sits second to the left of G. A and C are facing 

outward direction but not as F.  

Hence, G faces the centre.  
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4) The one who likes Geological sits second to 

the right of the one who likes Chemical. The 

one who likes Optical faces the one who likes 

Geological.  

5) The one who likes Power sits immediately 

next to the one who likes Computer but not 

faces the one who likes Chemical. The one 

who likes Civil does not sit immediately next 

to F. 

 
Hence, C faces away from the centre while 

rest faces the centre. 

51. Ans. D.  

When a person sits on a scale, it is 

his weight against which the gold bars are 

measured. Also, we measure 

something with a scale, not against it. 

'Occasion' is a particular event or the time at 

which it takes place. 'Date' is the number of a 

day along with the month of the year specified 

by a number. Since no number is present, 

'occasion' is correct. Wherein and whereby 

have the same meaning in the sentence and 

since none of the options mention the 

combination, it can be ignored. 'Equity' is 

the quality of being fair and impartial, which 

will not suit the sentence. Hence, the correct 

answer is D. 

52. Ans. C.  

'Debate' results in only one of the parties 

involved in the argument to win. But, when 

employees and employers discuss the terms 

of working, the end results must satisfy both 

and not just one of them. This is called 

'negotiation', not a debate. Also, employees 

are the same as that of workers. So, no 

change is required here. A committee is 

formed by 'representatives' from various 

factions. 'Capital' doesn’t require 
representation.  

53. Ans. A.  

Scepticism refers to doubt. The incident that 

is discussed in the sentence shows love and 

the positive side of a human being. Thus 

'humanity' is the appropriate word. Hence (1) 

should be replaced by (5). When a person is 

charged with a crime, a formal allegation (a 

statement not yet proven) of an offence is 

made. But the sentence says he was going to 

jail, which means the allegations have been 

proved to be true. He has already 

been sentenced. Thus, (4) must be replaced 

by (8). 

Vandalised and destroyed are synonyms. 

Also, if the Masjid forgot about the boys, they 

wouldn’t have bothered to pay his fine. So, no 

changes in these two options. Hence, the 

correct answer is A. 
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54. Ans. E.  

All the words in the sentence are correct and 

require no changes. Hence, the correct answer 

is option E. 

55. Ans. B.  

Abilities belong to humans, not of institutions. 

The number of beds in a hospital are fixed. 

They cannot be increased beyond a certain 

limit. So, if the number of beds is less, the 

number of patients often exceed the number 

of beds. Insipid and tasteless are 

synonymous, so no change there. 

Both medication and medicine have bills, so, 

changing hem wouldn’t make a difference. 
Hence, the correct answer is B. 

56. Ans. D.  

To infer means to deduce or conclude 

something from evidence and reasoning 

rather than from explicit statements.  

Option I: It can be inferred from the following 

lines, ‘In this context, an article titled Lessons 
on Food and Hunger in 2013… found out that 
natural and intimate narratives of food and 

hunger, reflecting the lives of a majority of 

children, are generally absent from the 

discourse of education. What can be found, 

instead, are clinical and insensitive 

descriptions of what constitutes a healthy diet, 

often illustrated with visuals of food far 

beyond the reach of most children.’  
Option II: It can’t be inferred from the 
passage.  

Option III: It can be inferred from the 

following lines, ‘It is suggested that hunger 
can only be dealt with by, “carrying out 
policies of income redistribution,…..In most 
developing countries one of the biggest 

issues, with respect to public provisioning 

towards social protection, to address hunger 

and food insecurity is organically connected 

with that of adequate “fiscal” or “expenditure” 
space.’  
Therefore, option E is the apt answer. 

57. Ans. B.  

An assumption is something supposed or 

taken for granted. An inference is a piece of 

information which can be logically deduced 

from the given statement.  

Option I: There is no such mention that ‘poor 
have been increasingly forced to spend more.’ 
Thereby, this statement is incorrect.  

Option II: Again, there is no such mention of 

‘increases in household incomes.’ Thereby, 
this statement is incorrect.  

Option III: The statement can be inferred 

from the paragraph. Increased dependence on 

private entities for essential services like 

education and transportation on the demand 

side, and a retreat of government provisioning 

of education, health, nutrition and 

transportation on the supply side, could 

interact to effect a squeeze on the food 

budget.  

Option IV: The statement is an assumption. 

The passage says that “shrinking social 
expenditure by the government” makes “poor 
dependent on private entities for essential 

services” as a result “the portion of income 

that can be spent on food” shrinks. This 
means that private entities are expensive, 

thereby absorbing a larger portion of income 

and a small portion of income is left to spend 

on food.  

Therefore, option B is the apt answer. 

58. Ans. E.  

To infer means to deduce or conclude 

something from evidence and reasoning 

rather than from explicit statements.  

Option I: It is stated in the last paragraph.  

Option II: It can be inferred from the following 

lines, ‘Researchers explain that India’s rank 
fell from 2016 because, from 2015, the 

conception of malnutrition was reformulated. 

New parameters were introduced to expand 

what is understood as hunger to include 

stunting and wasting in children,…….. The 
inclusion of stunting ensures consideration of 

rigid cultural factors, while that of wasting 

represents aspects of diet quality as well. 

Also, stunting is an indicator of long-term 

growth failure, and therefore, must be 

accounted for in any analysis of potential 

threat a given level of child malnutrition poses 

for a country.’  
Option III: The passage states, ‘It is 
suggested that hunger can only be dealt with 

by, “carrying out policies of income 
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redistribution, which respond to objectives of 

social justice rather than economic efficiency 

as perceived by neo-liberalism.”..’ This 
statement does not say that the neo-liberals 

prefer to brush off the issue of “chronic” 
hunger. Thereby, this option is incorrect.  

Option IV: This statement can be inferred 

from the first and the last paragraph.  

Therefore, option E is the apt answer. 

59. Ans. C.  

To understand the last line of the first 

paragraph, it is important to understand the 

following lines first, ‘Instead, it is kept under 
the larger purview of economic development 

which expects that wealth will percolate to 

solve the problem of hunger. This formulation 

makes a number of incorrect assumptions 

about the relationship between hunger and 

other social structures. It is, at best, an 

indirect method that does nothing to 

immediately address the alarming issue of 

hunger that India is facing at present.’  
The author says that the issue of hunger is 

always kept under the idea that with economic 

development, i.e. with more wealth or money 

flowing in the country, the problem of hunger 

will be solved. Fast and good economic 

growth/development will eliminate hunger. 

The author says that this relationship between 

hunger and economic development is an 

indirect method for solving the issue of 

hunger. This method is good for the long run, 

but it does nothing to immediately address the 

problem. This is best described in option C. 

Therefore, option C is the apt answer. 

60. Ans. A.  

The National Food Security Act, 2013 (also 

Right to Food Act) is an Act of the Parliament 

of India, which aims to provide subsidized 

food grains to approximately two-thirds of 

India's 1.2 billion people. The highlighted 

statement states that during the Food 

Security Bill debate in Parliament, the concept 

of hunger and malnutrition must have 

presented in a way that would allow one to see 

how the government presents access to food 

as a right. The law failed to present that the 

right to food is one of the most basic human 

rights, closely linked to the right to life. So, 

option A comes out as most logical. The other 

options either do not speak of this point or 

give extraneous information, which cannot be 

deciphered from the highlighted part.  

Therefore, option A is the apt answer. 

61. Ans. D.  

Disdainful refers to a piece of writing that 

shows contempt or lack of respect.  

Evocative refers to a piece of writing that 

brings strong images, memories, or feelings 

to mind.  

Partisan refers to a piece of writing that 

prejudice in favour of a particular cause.  

Pragmatic refers to a piece of writing that 

deals with things sensibly and realistically in a 

way that is based on practical rather than 

theoretical considerations.  

Peremptory refers to a piece of writing that 

insists on immediate attention or obedience, 

especially in a brusquely imperious way.  

Among all the options, ‘pragmatic’ can be 
used as the tone of the passage. The passage 

is about the social issue of hunger. The author 

is trying to rethink our understanding of 

hunger and how we address it. He deals the 

issue with sensibility and reality.  

Therefore, option D is the apt answer. 

62. Ans. E.  

Percolate is a verb which means to spread 

gradually through an area or a group of 

people. It also refers to a liquid or gas that 

filter gradually through a porous surface or 

substance. We prepare coffee in a percolator.  

Permeate means to spread throughout 

something. Hence, all three options are 

synonymous to ‘percolate.’  
Therefore, option E is the apt answer. 

63. Ans. B.  

The passage is based on economic 

development of the bank. It says that the 

economic growth of the bank in terms of the 

money is based on the cost of settlement. If 

this cost is reduced amongst the countries 

then the flow of payment will be maintained 

or vice versa. It is nowhere mentioned in the 

passage about rural or urban areas so we will 

take a general context. Hence option B is the 

correct option. 
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64. Ans. A.  

Choice A is correct as it matches with the flow 

after a statement praising the professionalism 

of Indians, it is only logical to mention their 

excellence of working in a competitive 

environment. It also keeps up with the tone 

and general subject of the passage. Option B 

is a bad choice as it talks about being in their 

company which is not relevant in the context 

of the paragraph and therefore is incorrect as 

it is beyond the general theme. Option C is 

overall correct but we as we have to choose 

the best option so we have to cancel out on C. 

Option D is obviously a lengthy reproduction 

of the sentence preceding the blank. As for 

option E, it is incorrect as the statement does 

not keep up with the flow of the paragraph. 

Neither does it logically follow the previous 

sentence nor is it related to the next sentence. 

65. Ans. A.  

Choice A is correct as it matches with the flow 

of the passage. The whole paragraph is about 

the devastating effects that nuclear weapons 

have due to certain curtailments on part of the 

scientists in the moral and the conscience 

aspect. It is only logical to mention an 

argument to support the next statement. It 

also keeps up with the tone and general 

subject of the passage. 

Option B is a bad choice as it talks about 

absolutely nothing and is too naïve. Therefore 

is incorrect as it is beyond the general theme. 

Option C is incorrect as it obviously does not 

go with the flow of the Para.  

As for option D, it is incorrect as the statement 

is illogical.  

As for E, neither does it logically follow the 

previous sentence nor is it related to the 

anything in the next sentence. 

66. Ans. A.  

The correct sequence is ACB. 

67. Ans. E.  

The correct sequence is CBA. 

68. Ans. B.  

‘Assets’ mean things that have earning power 

or some other value to their owner. ‘Auction’ 
means a public sale in which goods or 

property are sold to the highest bidder. 

‘Autarky’ refers to the idea that a country 

should be self-sufficient and not take part in 

international trade. ‘Arbitrage’ means the 

simultaneous buying and selling of securities, 

currency, or commodities in different markets 

or in derivative forms in order to take 

advantage of differing prices for the same 

asset. ‘Amortisation’ means the running down 

or payment of a loan by instalments. The 

given passage includes the presence of an 

‘auctioneer’ who is defined as a person who 

conducts auctions by accepting bids and 

declaring goods sold. Thus, option B is the 

correct fit for all three blanks. 

69. Ans. C.  

‘Brand’ refers to a particular identity or image 
regarded as an asset. ‘Stock’ refers to the 
capital raised by a company or corporation 

through the issue and subscription of shares. 

‘Bond’ is an interest-bearing security issued 

by governments, companies and some other 

organisations. ‘Barter’ refers to exchange 
(goods or services) for other goods or services 

without using money. ‘Bankruptcy’ means the 
state of being bankrupt. The given blanks can 

either use ‘bond’ or ‘stock’ as both are similar 
in meaning. Bonds and stocks are both 

securities, but the major difference between 

the two is that (capital) stockholders have an 

equity stake in a company (that is, they are 

owners), whereas bondholders have a creditor 

stake in the company (that is, they are 

lenders). Being a creditor, bondholders have 

priority over stockholders. Thus, ‘bond’ is the 
best fit word for the given blanks as it is 

clearly stated that it is a form of loan. This 

makes option C the correct answer. 

70. Ans. D.  

From the given passage it is evident that we 

have to take the word filling the blanks in 

relation to the word ‘emission’ which 
means the production and discharge of 

something, especially gas or radiation. 

‘Norms’ refer to a standard or pattern, 
especially of social behaviour, that is typical or 

expected. Thus ‘emission norms’ cannot be a 
correct term as it is not related social 

behaviour. ‘Pollutants’ mean a substance that 
pollutes something, especially water or the 

atmosphere. If this word is used in the given 
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first blank it does not provide the correct term 

being defined. ‘Factors’ refer to a 
circumstance, fact, or influence that 

contributes to a result. ‘Standards’ refer to a 
required or agreed level of quality or 

attainment. ‘Limits’ means a restriction on the 
size or amount of something permissible or 

possible. Of all the given options ‘factors’ and 
‘standards’ can be seen as the most 
appropriate words for the given blanks. But an 

emission factor is a representative value that 

attempts to relate the quantity of a pollutant 

released to the atmosphere with an activity 

associated with the release of that pollutant. 

Thus, option D is the best fit answer for the 

given blanks. 

71. Ans. E.  

‘Aspects’ mean a particular part or feature of 

something. ‘Pollutants’ mean a substance that 
pollutes something, especially water or the 

atmosphere. ‘Employ’ means give work to 

(someone) and pay them for it. ‘Operate’ 
means (of a person) control the functioning of 

(a machine, process, or system). ‘Manipulate’ 
means control or influence (a person or 

situation) cleverly or unscrupulously. The 

passage hints towards unscrupulous usage of 

the environment for our own betterment. 

Thus, option E is the best fit answer for the 

given blanks. 

72. Ans. E.  

The given blank is to be taken in consideration 

with the word ‘administrative’. ‘Administrative 
Adjudication’ means a decision or sentence 

imposed by a judge. ‘Administrative Division’ 
refers to is a portion of a country or other 

region delineated for the purpose of 

administration. ‘Administrative hearing’ refers 
to an informal way of resolving disputes 

between agencies and citizens without the 

strict procedural rules of a court. 

‘Administrative Service’ refer to managing, 
planning, directing, and coordinating 

supportive services of an organization. 

‘Administrative legislation’ is the body of law 
and legal work that deals with government 

agencies. Thus, option A fits all three blanks 

correctly. 

 

73. Ans. A. 

Subdued means restrained in style or quality. 

Softened means being or made softer or less 

loud or clear. 

Dampened means to suppress or constrain so 

as to lessen in intensity. 

Quite means to a degree (not used with a 

negative). 

Silenced means reduced to silence. 

The reaction of the authorities is already 

mentioned, i.e. muted. All the options, except 

'quite', are synonymous with 'muted'. But the 

reaction was toned-down. Hence, the correct 

answer is (A). 

74. Ans. E.  

Defragmented means to run a process that 

collects fragments of files and sorts them into 

contiguous sections on one or more hard disks 

or hard disk partitions, thus speeding up file 

management. 

Ambiguous means to be of uncertain nature or 

significance. 

Definitive means clearly defined or 

formulated. 

Anecdotal means to have the character of an 

anecdote. 

Speculative means not based on fact or 

investigation. 

Hence, the correct answer is (E). 

75. Ans. B. 

Marginal means to be of questionable or 

minimal quality. 

Immaterial means to be of no importance or 

relevance especially to a law case. 

Unrelated means lacking a logical or causal 

relation. 

Extraneous means something that is not 

pertinent to the matter under consideration. 

Academic means marked by a narrow focus on 

or display of learning especially its trivial 

aspects. 

Despite being young, Bennett's property was 

already entailed to the male heir. This means 

that she did not have a significant place in 

the rural society of 18th century England. 

Hence, the correct answer is (B). 
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76. Ans. C.  

The passage clearly states that several 

characteristics are shared between humans 

and primates with respect to their taste 

profiles. It also states that it is because of 

evolution. But to infer that both species share 

the same profile would be incorrect making 

option a incorrect. The passage is all about the 

human ability to discern different tastes. One 

cannot infer about the likability of certain 

tastes from the given passage making option 

b incorrect. In the first sentence itself the 

passage talks about how majority of the 

human population can taste a certain artificial 

flavour. Thus, it can be inferred that majority 

of the human population have a determinant 

taste profile making the opposite as stated in 

option c also correct. This also makes option d 

incorrect. 

77. Ans. A.  

The passage states that reality is not an 

absolute truth, but a result of our consistent 

experiences. This makes option a is a correct 

inference made from the passage. Option b is 

a direct statement already made in the given 

passage. Option c cannot be inferred from the 

passage as ‘pragmatism’ is considered as a 
philosophy while ‘reality’ is considered as an 

amalgamation of our experiences. According 

to the given passage our experiences enables 

us to determine what is the reality which may 

or may not be the truth. This makes option d 

incorrect. 

78. Ans. B.  

The meanings of the given words are as 

follows: 

Tremulous: shaking or quivering slightly 

Stringent: (of regulations, requirements, or 

conditions) strict, precise, and exacting 

Garrulous: excessively talkative, especially on 

trivial matters 

Quivery: shaking or trembling slightly 

Steady: firmly fixed, supported, or 

balanced; not shaking or moving 

Conjunctive: relating to or forming a 

connection or combination of things 

Desist: stop doing something; cease or 

abstain 

Abstain: restrain oneself from doing or 

enjoying something 

Defer: put off (an action or event) to a later 

time; postpone 

Terse: sparing in the use of words; abrupt 

Abrupt: sudden and unexpected 

Therefore, it can be observed that option B i.e. 

‘quivery, steady’ forms a synonym-antonym 

pair of ‘tremulous’. 
79. Ans. A.  

The meanings of the given words are as 

follows: 

Histrionic: excessively theatrical or 
dramatic in character or style 

Melodramatic: characteristic of 
melodrama, especially in being 
exaggerated or overemotional 

Theatrical: exaggerated and excessively 
dramatic 

Conscientious: wishing to do one's work or 

duty well and thoroughly 

Diligent: having or showing care and 

conscientiousness in one's work or duties 

Tenacious: tending to keep a firm hold of 

something; clinging or adhering closely 

Retentive: (of a person's memory) effective in 

retaining facts and impressions 

Thrive: (of a child, animal, or plant) grow or 

develop well or vigorously 

Tussle: a vigorous struggle or scuffle, typically 

in order to obtain or achieve something 

Pertinent: relevant or applicable to a 

particular matter; apposite 

Appropriate: suitable or proper in the 

circumstances 

Therefore, it can be observed that option A i.e. 

‘melodramatic, theatrical’ forms a synonym-

synonym pair of ‘histrionic’. 
80. Ans. E.  

The meanings of the given words are as 

follows: 

Nefarious: (typically of an action or 
activity) wicked or criminal 

Sloppy: careless and unsystematic; 

excessively casual 

Flurry: a small swirling mass of something, 

especially snow or leaves, moved by sudden 

gusts of wind 
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Unassertive: (of a person) not having or 

showing a confident and forceful personality 

Ignoble: not honourable in character or 

purpose 

Modest: unassuming in the estimation of one's 

abilities or achievements 

Subtle: (especially of a change or distinction) 

so delicate or precise as to be difficult to 

analyse or describe 

Gregarious: (of a person) fond of company; 

sociable 

Magnanimous: generous or forgiving, 

especially towards a rival or less powerful 

person 

Iniquitous: grossly unfair and morally 
wrong 

Atrocious: horrifyingly wicked 

Therefore, it can be observed that option E i.e. 

‘iniquitous, atrocious’ forms a synonym-

synonym pair of ‘nefarious’. 
81. Ans. B.  

The meanings of the given words are as 

follows: 

Recalcitrant: having an obstinately 
uncooperative attitude towards authority 

or discipline 

Peculiar: different to what is normal or 

expected; strange 

Convivial: (of an atmosphere or event) 

friendly, lively, and enjoyable 

Amenable: open and responsive to 
suggestion; easily persuaded or 

controlled 

Docile: ready to accept control or 
instruction; submissive 

Taciturn: (of a person) reserved or 

uncommunicative in speech; saying little 

Withering: intended to make someone feel 

humiliated; scornful 

Voluble: (of a person) talking fluently, readily, 

or incessantly 

Turgid: swollen and distended or congested 

Pendulous: hanging down loosely 

Jocular: fond of or characterized by joking; 

humorous or playful 

Therefore, it can be observed that option B i.e. 

‘amenable, docile’ forms an antonym-

antonym pair of ‘recalcitrant’. 
 

82. Ans. C.  

The meanings of the given words are as 

follows: 

Zealous: having or showing zeal 
Droopy: hanging down limply 

Gigantic: of very great size or extent; huge or 

enormous 

Tenacity: the quality or fact of being able to 

grip something firmly; grip 

Assiduity: constant or close attention to what 

one is doing 

Fervent: having or displaying a 
passionate intensity 

Apathetic: showing or feeling no interest, 

enthusiasm, or concern 

Conceited: excessively proud of oneself; vain 

Capacious: having a lot of space inside; roomy 

Hilarity: extreme amusement, especially 

when expressed by laughter 

Livid: furiously angry 

Therefore, it can be observed that option C i.e. 

‘fervent, apathetic’ forms a synonym-

antonym pair of ‘zealous’. 
83. Ans. A.  

To give a benefit of doubt means to decide 

that you will believe someone, even though 

you are not sure that what the person is 

saying is true. 

84. Ans. B.  

The phrase refers to a specific, rational 

purpose in what one is doing or planning, even 

though it may appear crazy or absurd to 

another person. 

85. Ans. C.  

If you say that you wouldn't be seen dead or 

be caught dead in particular clothes, places, 

or situations, you are expressing strong dislike 

or disapproval of them. 

86. Ans. D.  

According to the passage, some of the defence 

mechanisms against phishing attacks lie with 

the clients as users often share confidential 

information voluntarily. Thus, unknown 

people on friend lists can endanger the user. 

Hence statement I is an inference. Again, 

since spammers can often exploit social-

engineering tricks to enhance viral 

marketing’s effectiveness it is evident that 
viruses and malware can find their way into 
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our computers via the advertisements. This 

suggests that statement II can also be 

inferred. But the passage does not explicitly 

state the various consequences of a cyber-

attack on an individual. Though statement III 

is true, it cannot be said that it can be inferred 

from the passage. Hence option D is the 

correct answer. 

87. Ans. E.  

All the given statements except for E are true 

with respect to the given passage. Statement 

A is proven by the first sentence of the 

passage. The passage also states that users 

often share confidential information 

voluntarily which makes statement B true. 

The passage states that ‘spamming’ enhances 
viral marketing’s effectiveness. Thus, 
statement C is also true. Statement D is also 

true as it falls under the various steps a user 

can take to protect themselves. But statement 

E is not true as OSNs often assume that 

anybody accepted as a friend online is 

trustworthy, thereby revealing sensitive 

information to them. 

88. Ans. A.  

The last sentence of the given passage states 

that – ‘Their future development hinges on 

their ability to deliver enjoyable services 

without undermining users’ information 
security.’ From this it is evident that option A 
is the correct answer. 

89. Ans. B.  

The passage categorically states that, 

‘Digitally signed emails can prevent spoofed 

email messages from fooling recipients…’. 
Thus, option B is the correct answer. 

90. Ans. C.  

The passage is about the prevalence of online 

social networks (OSNs) in modern life and the 

security risks accompanying the same. Option 

A is very specific in its terminology, whereas 

the passage goes beyond the scope of the 

heading. Option B is extremely wide as 

common security problems can range from 

thievery to threats to national security. Option 

E can refer to an introduction to various OSNs. 

Option D mentions a very specific problem 

with online users. Only option C encompasses 

what has been described in the passage 

making it the ideal title for the passage. 

91. Ans. D.  

The National Statistics Day (NSD) is 

celebrated every year in India on 29th June to 

create public awareness about importance of 

statistics in socio-economic planning and 

policy formulation. 

Note: The 2017 theme is “Administrative 
Statistics” 
92. Ans. D.  

The United States of America, Mexico and 

Canada have won the right to host the 23rd 

FIFA 2026 World Cup after beating Morocco in 

a vote by FIFA member nations in Moscow.  

The North American bid received 134 of the 

203 votes, while Morocco polled 65 in the 

ballot at a FIFA Congress held in Moscow. 

93. Ans. D.  

‘Paytm’ has launched the first wealth 

management product ‘Digital Gold’ on its 
platform to allow customers to buy and sell 

gold through electronic platform.  

Note: Consumers can purchase 24K 999.9 

purity gold online and store it in MMTC—
PAMP’s secure vaults free of charge. 

94. Ans. D.  

Veteran journalist and editor of Srinagar 

based ‘Rising Kashmir’ newspaper was shot 
dead by unidentified gunmen outside his office 

in the Press Enclave area of Srinagar in 

Jammu & Kashmir.  

Bukhari was instrumental in organising 

several conferences for peace in the Kashmir 

Valley. 

95. Ans. B.  

LRS stands for - Liberalised Remittance 

Scheme.  

LRS is a facility provided by the Reserve Bank 

of India for all resident individuals to freely 

remit certain amount in terms of US dollar 

every financial year for a permissible set of 

current or capital account transactions.  

Note:  
* In April 2018, the Reserve Bank of India 

(RBI) has tightened reporting norms for the 

Liberalised Remittance Scheme (LRS) under 

which individual can transfer up to US 
$2,50,000 abroad in a year.  
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* The purpose of tightening of norms is to 

improve monitoring and to ensure compliance 

with LRS limits.  

* The scheme was introduced in February 

2004 and its regulations are provided 

under Foreign Exchange Management Act 
(FEMA), 1999. 

96. Ans. A.  

Explanation: The Asian Infrastructure 

Investment Bank (AIIB) is a multilateral 

development bank (MDB) conceived for the 

21st century. The Bank's foundation is built on 

the lessons of experience of existing MDBs 

and the private sector. Its modus operandi will 

be lean, clean and green: it is situated in 

Beijing, China. 

97. Ans. B.  

The ASEAN India Film Festival 2018 was held 

in New Delhi. It was inaugurated 

by Information and Broadcasting 
Minister Col. (Retd) Rajyavardhan Singh 

Rathore. 
98. Ans. C.  

Bharti Airtel will acquire the business of 

Telenor India for an undisclosed sum in all 

seven circles Andhra Pradesh, Bihar, 

Maharashtra, Gujarat, UP (East), UP (West) 

and Assam.  

Note: Telenor India (formerly known as 

Uninor) was an Indian mobile network 

operator based in Gurgaon, Haryana, India. 

The company is a wholly owned subsidiary of 

Telenor Group, a telecommunications 

company headquartered in Oslo, Norway. 

99. Ans. D.  

The Union Cabinet has approved an ordinance 

to set up India’s first national sports university 

in Imphal, Manipur. The proposed university 

will be spread over 325 acres and cost Rs 524 

crore. 

100. Ans. C.  

Punjab state government along with World 

Wildlife Fund (WWF) India conducted the first 

organized census for the conservation of 

Indus dolphins on their population. 

101. Ans. B.  

National Payments Corporation of India is the 

umbrella organisation for all retail payment 

systems in India, which aims to allow all 

Indian citizens to have unrestricted access to 

e-payment services 

102. Ans. B.  

International Conference on Information and 

Communication Technology (ICT) will be held 

in Kathmandu, Nepal (from 17th June).  

The Theme of the two-day conference is 

“Sustainable Development Goals for Smart 
Society”.  
The objective of the conference is to bring 

government and private sector together for 

developing a plan of action using sustainable 

ICT applications. 

103. Ans. C.  

The headquarter of Organisation for Economic 

Cooperation and Development (OECD) is in 

Paris, France. 

104. Ans. C.  

Patratu Thermal Power Station is a coal-based 

thermal power plant located near Patratu town 

in Ramgarh district in the Indian state 

of Jharkhand. The power plant is operated by 

the Jharkhand State Electricity Board.  

It has an installed capacity of 840 MW. The 

generating units of the power plant are very 

old and are operating at around 10% PLF, 

generating about 110 MW per day. 

105. Ans. A.  

The 2018 theme of the International Yoga Day 

is “Yoga for Peace”.  
International Yoga Day (4th) is being 

celebrated worldwide on 21st June to promote 

yoga and make it a part of people’s daily 
routine. 

106. Ans. C.  

Hirakud dam is located in Odisha on 

Mahanadi. 

107. Ans. C.  

The Dudhwa National Park is a national park 

in the Terai of Uttar Pradesh, India. It is part 

of the Dudhwa Tiger Reserve. 

108. Ans. C.  

The Republic of Zambia is a landlocked 

country in Southern Africa. The capital city 

is Lusaka and currency is Kwacha. 

109. Ans. E.  

The Insurance Regulatory and Development 

Authority (IRDAI) has set up a 10-member 

committee headed by Suresh Mathur (ED-IMF, 
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IRDAI) to review norms related to Insurance 

Marketing Firms (IMF) with an aim to increase 

insurance penetration in the country. 

110. Ans. A.  

The SKOCH has conferred the ‘Best 
performing Social Sector Ministry’ award to 
“Ministry of Women and Child Development” 
as it has delivered the promises made and for 

its significant achievements and initiatives 

from the last 4 years. Smt. Maneka Sanjay 

Gandhi has received the award on behalf of 

the Ministry. 

111. Ans. E.  

The ICC Women’s World T20 championship 
2018 will be held in the West Indies from 9 –
24th November this year. 

112. Ans. B.  

The Certificate of Deposit (CD) is a negotiable 

money market instrument and issued in 

dematerialised form or as a Usance 

Promissory Note against funds deposited at a 

bank or other eligible financial institution for a 

specified time period. (Usance Promissory 

Note has to be paid after certain time period). 

113. Ans. B.  

The Indian Science Congress – the largest 

gathering of Indian scientists – was scheduled 

to be held at Osmania University in Hyderabad 

from January 3 to 7. For the first time in its 

history, it was rescheduled to March 16-March 

20 and its venue was moved to the Manipur 

University, Imphal after the Osmania 

University administration said it would not be 

able to host the event fearing agitations on 

campus. 

114. Ans. B.  

Life Insurance Corporation of India is all set to 

become a knight in shining armour for the 

ailing IDBI Bank. In a first-of-its-kind 

transaction, the Insurance Regulatory and 

Development Authority of India (IRDAI) has 

approved a proposal allowing the former to 

acquire a majority stake in the bank. 

115. Ans. C.  

SAARC Development Fund Headquarters are 

located in Thimpu, Bhutan. SAARC 

Development Fund (SDF), the umbrella 

financial institution for projects in SAARC 

member countries. 

SDF has been established 

(i) to promote the welfare of the people of 

SAARC region,  

(ii) to improve their quality of life and (iii) to 

accelerate economic growth, social progress 

and poverty alleviation in the region.  

The Fund is to serve as the umbrella financial 

institution for SAARC projects and 

programmes and is aimed to contribute to 

regional cooperation and integration through 

project collaboration. 

116. Ans. A.  

Bhumi Pednekar bagged the best actress at 

Dada Saheb Phalke award ceremony for Toilet 

Ek Prem Katha. 

117. Ans. B.  

A non-trading company used as a vehicle for 

various financial manoeuvres or kept dormant 

for future use in some other capacity is known 

as shell companies. 

118. Ans. D.  

Indira Sagar dam is located in Madhya 

Pradesh. 

119. Ans. A.  

Assumption Island is located in Seychelles. 

Assumption Island is a small island situated 

southwest of Seychelles main and largest 

island of Mahe. It is situated very close to the 

Mozambique Channel from where much Indian 

Ocean maritime routes pass. Its location lends 

its strategic importance for monitoring 

shipping in the Mozambique Channel. 

120. Ans. B.  

The two day ‘Kabir Mahotsav’ in UP organized 
by Ministry of Culture. 

121. Ans. A.  

Pilibhit wildlife sanctuary is located in Uttar 

Pradesh. 

122. Ans. C.  

Rani Rampal is the captain of Indian women 

hockey team. 

123. Ans. A.  

The Victorian Gothic and Art Deco is situated 

in Mumbai. 

India gets its 37th WORLD UNESCO World 

HERITAGE SITE. 

Victorian Gothic and Art Deco Ensemble of 

Mumbai declared as a World Heritage Property 

by UNESCO. This makes Mumbai city the 

http://www.gradeup.com/
https://xu75j.app.goo.gl/8sA6


www.gradeup.co 

 
(42) 

 

second city in India after Ahmedabad to 
be inscribed on the World Heritage List. 
In the past 5 years alone, India has managed 

to get inscribed seven of its properties/sites 

on the World Heritage List of UNESCO. India 

now has overall 37 World Heritage Inscriptions 

with 29 Cultural, 07 Natural and 01 Mixed 

sites. While India stands second largest in 

number after China 

124. Ans. B.  

IIM Ahmedabad launches Bharat Inclusive 

Initiative.  

IIM-Ahmedabad’s Centre for Innovation, 
Incubation and Entrepreneurship (CIIE) has 

launched a Bharat Inclusion Initiative to build 

knowledge and foster innovation and 

entrepreneurial activity across areas such as 

financial inclusion, livelihood, education and 

health. 

Centre for Innovation Incubation and 

Entrepreneurship (CIIE) at IIM Ahmedabad 

helps entrepreneurs turn ideas into viable 

businesses. 

125. Ans. D.  

Ajay Thakur is associated with Kabaddi. 

126. Ans. C.  

CBLO stands for Collateralized Borrowing and 

Lending Obligation. CBLO is a money market 

instrument that represents an obligation 

between a borrower and a lender as to the 

terms and conditions of a loan. So, C stands 

for Collateralized. 

127. Ans. E.  

PMLA stands for Prevention of Money 

Laundering Act, 2002. So, L stands 

for Laundering. Prevention of Money 

Laundering Act, 2002 is an Act of the 

Parliament of India enacted by the NDA 

government to prevent money-laundering and 

to provide for confiscation of property derived 

from money-laundering. 

128. Ans. D.  
PMVVY (Pradhan Mantri Vaya Vandana Yojana) 

pension limit extends to March, 2020.  

The Union Cabinet, chaired by Prime Minister 

Narendra Modi approved extending the 

investment limit from Rs 7.5 lakh to Rs 15 lakh 

under the Pradhan Mantri Vaya Vandana 

Yojana (PMVVY). 

It also extended the last date for a 

subscription to the scheme till March 31, 

2020. The time limit was earlier supposed to 

end on May 4, 2018. 

The PMVVY is being implemented through Life 

Insurance Corp (LIC) to provide social 

security during old age and protect the elderly 

aged 60 years and above against a future fall 

in their interest income due to uncertain 

market conditions.  

The scheme provides an assured pension 

based on a guaranteed rate of return of 8 

percent per annum for 10 years. 

129. Ans. C.  

The Communications Compatibility and 

Security Agreement dialogue between foreign 

and defence ministers of India and US 

scheduled to be held in Washington. 

130. Ans. D.  
International Organization for Migration 
Headquarters is located in Geneva, 
Switzerland. 
The International Organization for Migration 
(IOM) is an intergovernmental organization 
that provides services and advice concerning 
migration to governments and migrants, 
including internally displaced persons, 
refugees, and migrant workers. 
In September 2016, it became a related 
organization of the United Nations.  
It was initially established in 1951 as the 
Intergovernmental Committee for European 
Migration (ICEM) to help resettle people 
displaced by World War II. As of June 2018, 
the International Organization for Migration had 
172 member states & eight observer states. 
131. Ans. C.  
Malabo is the capital of Equatorial Guinea. 
132. Ans. B.  
Informal summit held in Sochi, Russia. 
133. Ans. B.  
CAGR stands for Compound Annual Growth 
Rate. So, C stands for Compound. 
Compound annual growth rate (CAGR) is a 
business and investing specific term for the 
geometric progression ratio that provides 
a constant rate of return over the time period. 
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134. Ans. D.  
5th International conference on human 
excellence on Yoga (2019) was held in 
Uttarakhand. 
135. Ans. A.  
Kishori amonkar died recently. He was 
associated with Classical Vocalist. 
136. Ans. B.  
The Union Cabinet Chaired by Prime Minister 
Shri Narendra Modi has approved the 
establishment of National Institute of Mental 
Health Rehabilitation (NIMHR) at Bhopal. 
137. Ans. B. 
• SAWEN stands for South Asia Wildlife 
Enforcement Network. So, E stands for 
Enforcement. 
• The South Asia Wildlife Enforcement 
Network (SAWEN), an inter-governmental 
wildlife law enforcement agency, in its first 
ever meeting in India, adopted many 
resolutions to curb wildlife crime in the region. 

138. Ans. A.  

Prime minister Narendra Modi has 

inaugurated the 15th Pravasi Bharatiya Divas 

at Varanasi in Uttar Pradesh in January 2019. 

The theme this year is, 'Role of Indian 

Diaspora in building New India'. 

139. Ans. C.  
* Prime Minister Narendra Modi on 25th Dec 
2018 inaugurated the 4.94 km long Bogibeel 
Bridge in Assam.  
* It is India’s longest rail-cum-road road 
bridge, on the river Bramhaputra.  
* The bridge is constructed at an estimated 
cost of 5,800 crore rupees.  
* It is situated 17 km downstream of 
Dibrugarh city in Assam. 
140. Ans. B.  
Reinsurance is insurance that is purchased by 
an insurance company from one or more 
insurance companies (the "reinsurer") directly 
or through a broker as a means of risk 
management. 
141. Ans. C.  𝐈. (x − 2)² = 9 ⇒ (x − 2) = ± 3 ⇒ x = 5, −1 𝐈𝐈. (2y + 8)² = 16 

(2y + 8) = ± 4 ⇒ 
y = −2, −6 

so, x > y 
142. Ans. E.  𝐈. x² − 16x + 64 = 0 
x² − 8x – 8x + 64 = 0 
x(x − 8) − 8(x − 8) = 0 
(x − 8) (x − 8) = 0 
x = 8, 8 𝐈𝐈. y² − 16y + 63 = 0 
y² − 7y – 9y + 63 = 0 
y(y − 7) − 9(y − 7) = 0 
(y – 9) (y – 7) = 0 
y = 9, 7 
so, No relation can be established between x 
and y. 
143. Ans. D.  𝐈. 25/x² − 15/x + 2 = 0 ⇒ 2x2 − 15x + 25 = 0 ⇒ 2x2 − 10x − 5x + 25 = 0 
2x(x − 5) − 5(x − 5) = 0 
(2x − 5)(x − 5) = 0 

x = 5/2 , 5 𝐈𝐈. 40/y² + 1 = 13/y ⇒ y 2 − 13y + 40 = 0 ⇒ y 2 − 8y − 5y + 40 = 0 ⇒ y(y − 8) − 5(y − 8) = 0 

(y − 5)(y − 8) = 0 

y = 5, 8 

so, x ≤ y 

144. Ans. D.  𝐈. 48/x² − 14/x + 1 = 0 ⇒ x2 − 14x + 48 = 0 ⇒ x2 − 8x − 6x + 48 = 0 ⇒ x(x − 8) − 6(x − 8) = 0 ⇒ (x − 8)(x − 6) = 0 

x = 8, 6 𝐈𝐈. 45/ y² + 1/y = 2 ⇒ 2y2 − y − 45 = 0 ⇒ 2y2 − 10y + 9y − 45 = 0 ⇒ 2y(y − 5) + 9(y − 5) = 0 ⇒ (2y + 9)(y − 5) = 0 

y = 5, − 9/2 

so, x > y 

145. Ans. E.  𝐈. x² + 3x – 4 = 0 

x² + 4x – x – 4 = 0 

x(x + 4) – 1 (x + 4) = 0 

(x − 1) (x + 4) = 0 

x = 1, −4 

II. y² + 10y + 24 = 0 
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y² + 4y + 6y + 24 = 0 

y(y + 4) + 6(y + 4) = 0 

(y + 6) (y + 4) = 0 

y = −4, −6 

so, x ≥ y 

146. Ans. B.  

Let amount of milk removed = 2x litre 

So, amount of water added = x litre 

Now → (165 − 2𝑥)/𝑥 = 5/3 

x = 45 lit 

147. Ans. C.  

At least one black can be chosen in two ways 

from each box: 

Now, probability of choosing at least one 

black ball from first box  

= 1/2 × [ (2C1× 2C1)/4C2 + 2C2/4C2 ]= 5/12 

Probability of choosing at least one black ball 

from 2nd box  

= 1/2 × [(4C1×12C1)/16C2 + 4C2/16C2] = 9/40 

Final probability  

= 5/12 + 9/40 = (50 + 27)/120 = 77/120 

148. Ans. E.  

Let speed of train B be 𝑥 m/s And length of 

train B be 𝑦 m 

Then length of train A is 2𝑦 m 

Speed of train A = 84 × 5/18 = 210/9 m/s = 

70/3 m/s 

A.T.Q, (2𝑦+𝑦)/10 = 70/3 − 𝑥 ………….(i) 
and (2𝑦+𝑦)/ 22.5 = 70/3 − 2𝑥 …………….(ii) 
solving (i) and (ii), 𝑦 = 50 m 

149. Ans. C.  

Let, inner radius of cylinder be ‘𝑥’ cm. 

4/3 𝜋(6)3 = 𝜋 × 32 (52 − 𝑥2 ) 

or, (4 × 6 × 6 × 6) / (3 × 32) = 25 − x2 

or, 𝑥2 = 25 − 9 

or, 𝑥 = 4 cm 

Hence, thickness = 5 – 4 = 1 cm. 

150. Ans. B.  

Profit ratio X & Y = (700 × 3) + (700 × 5/7 

× 3) + (700× 5/7 + 200 × 3/5 )× 6 : 600 × 

12 

X:Y= 7320 : 7200= 183:180 ∴ X’s share from profit = 183 × 726 

/(183+180) = 𝑅𝑠. 366. 

151. Ans. A.  

 
 

Total man-hours on odd days of March = 300 

x 16 x 8  

And, the total man-hours on even days of 

April = 1200 x 15 x 8  

So,  

  

So,  

  

So option (a) is the correct answer. 

152. Ans. D.  

 
 

Total man-hours of April = 1500 x 15 x 8 = 

180000  

Total man-hours of August = 57600 + 36000 

= 93600  

So, required difference = 86400  

So option (d) is the correct answer. 

153. Ans. B.  

 
Total man-hours on even days of March = 

700 x 15 x 8  

And, the total man-hours on even days of 

August = 300 x 15 x 8  

So,   

So option (b) is the correct answer. 

154. Ans. C.  

  

Total man-hours on odd days of April = 300 

x 15 x 8 = 36000  

And, the total man-hours on odd days of 

August = 450 x 16 x 8 = 57600  

So, 

 
So option (c) is the correct answer. 
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155. Ans. A.  

  

So, required average 

=   

So option (a) is the correct answer. 

156. Ans. C.  

From I, II & III 

Let speed of Amit and Abhi be 4x and 5x 

km/hr respectively. 

5x – 4x = 20 ∴ x = 20 km/hr 

So speed of Abhi= 20×5= 100 km/hr 

Speed of Amit= 20×4= 80 km/hr 

Let distance be D km 

D/80 – D/100 = 1 ∴ D = 80 × 100/20 = 400 km 

All I, II and III required to answer. 

157. Ans. B.  

From I and II, Let length and breadth be 3x m 

and 2x m respectively 

2πr = 440 [r → radius of circle] 

r = 70 m ∴ breadth = 70 ×1/7 =10 m 

& length = 15 m ∴ Area = 10 × 15 = 150 m² 

From statement III, length : breadth= 150 : 

100= 3:2 

So Statement I and III are same. 

Only II and either I or III required to answer. 

158. Ans. A.  

From statement I, Passed = 400 

From statement III, Let number of appeared 

& Failed students be 5x and 3x respectively 

2x = 400 ⇒ x = 200 ∴ failed = appeared – passed = 1000 – 400 

= 600 

So, Only I and III required to answer. 

159. Ans. A.  

From statement I, PR × 2/100 = 44000 

PR = 2200000 …….(i) 
From statement II, P + PRT/100 = 154000 

.........(ii) 

From statement III, Difference = PR2/1002 

PR2/1002 = 120 ………(iii) 
by solving (i)&(iii) R can be found. 

Only I and III required to answer 

160. Ans. E.  

Let the smaller no. is x & bigger no. is y. 

From statement I, y = x + 6 

From statement II, (40/100) × 𝑥 = (30/100) 

× 𝑦 
From statement III, 𝑦/2 : 𝑥 /3 = 2 : 1 ⇒ 3y = 4x 

statement II & From statement III give only 

ratio between the numbers, so we statement 

I also along one of II or III. ∴ from I and II or I and III we can find the 

Answer. 

161. Ans. C.  

Rahul runs 40 minutes.  

For starting 15 minutes  

Speed = 5 km/hr  

Distance =  km  

For next 25 minutes  

Speed = 9 km/hr  

Distance =  km  

Total distance =   

So, he runs total 5 km on treadmill.  

P1 can complete that work in 6 hours  

Efficiency of P1 and P2 = 5: 4.  

So, P2 can complete the work in  

  hours  

So, the number of units of work done by them 

in one hours =   

So, they together can complete the work in 

10/3 hours  

P1 and P2 together complete 75% of that work 

at 12:30 p.m.  

100% of the work is completed in 10/3hours  

So, 75% of the work will be completed 

in hours  
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So, in office Rahul gives some work to his 

subordinates P1 and P2 at 12.30 – 2.5 hours 

= 10 am.  

Rahul and P2 together can complete same 

work in 3 hours.  

  

 
So, Rahul can complete the whole work in 5 

hours  

Also, P1 can complete that work in 6 hours  

So, ratio of the efficiency of P1 and 

Rahul=6:5  

So, required percentage 

=   

So, Rahul is 20 % more efficient than P1.  

Distance between house and office = 45km.  

Time taken to reach office = 1.5 hours at 9:30 

a.m.  

Speed =   

Speed of stream = 3km/hr  

Therefore, required time 

=  

So, he takes  hours to reach home.  

Total outcomes in a single throw of 2 dice =  
(1, 1) (1, 2) (1, 3) (1, 4) (1, 5) (1, 6)  
(2, 1) (2, 2) (2, 3) (2, 4) (2, 5) (2, 6)  
(3, 1) (3, 2) (3, 3) (3, 4) (3, 5) (3, 6)  
(4, 1) (4, 2) (4, 3) (4, 4) (4, 5) (4, 6)  
(5, 1) (5, 2) (5, 3) (5, 4) (5, 5) (5, 6)  
(6, 1) (6, 2) (6, 3) (6, 4) (6, 5) (6, 6)  
So, total number of outcomes in a single throw 
of two dice = 36  
When first Rahul and then Aman throw their 
respective dices, total number of outcomes = 
36 + 36 = 72  
In a game, all three throw their dices and each 
one of them get 8 as the sum of numbers in 
their dices and any one of two not get same 
outcomes.  
So, the required possibility = (2, 6) (3, 5) (4, 
4) (5, 3) (6, 2)  

Winner is the one who gets highest number as 
the sum of the square of the number comes in 
dices.  
(2, 6) =   

(3, 5) =   

(4, 4) =   

(5, 3) =   

(6, 2) =   

So, Raman will get (2, 6) and the other two 
will get (3, 5) and (4, 4)  
So, he runs total 5 km on treadmill.  
So option (c) is the correct answer. 
162. Ans. E.  
Rahul runs 40 minutes.  
For starting 15 minutes  
Speed = 5 km/hr  

Distance =  km  

For next 25 minutes  
Speed = 9 km/hr  

Distance =  km  

Total distance =   

So, he runs total 5 km on treadmill.  

P1 can complete that work in 6 hours  

Efficiency of P1 and P2 = 5: 4.  

So, P2 can complete the work 

in  hours  

So, the number of units of work done by them 

in one hours =   

So, they together can complete the work in 

10/3
 
hours  

P1 and P2 together complete 75% of that work 

at 12:30 p.m.  

100% of the work is completed in 10/3
 
hours  

So, 75% of the work will be completed in  

hours  

So, in office Rahul gives some work to his 

subordinates P1 and P2 at 12.30 – 2.5 hours 

= 10 am.  

Rahul and P2 together can complete same 

work in 3 hours.  
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So, Rahul can complete the whole work in 5 

hours  

Also, P1 can complete that work in 6 hours  

So, ratio of the efficiency of P1 & Rahul= 6: 5  

So, required percentage 

=   

So, Rahul is 20 % more efficient than P1.  

Distance between house and office = 45km.  

Time taken to reach office = 1.5 hours at 9:30 

a.m.  

Speed =   

Speed of stream = 3km/hr  

Therefore, required time 

=    

So, he takes  hours to reach home.  

Total outcomes in a single throw of 2 dice =  

(1, 1) (1, 2) (1, 3) (1, 4) (1, 5) (1, 6)  

(2, 1) (2, 2) (2, 3) (2, 4) (2, 5) (2, 6)  

(3, 1) (3, 2) (3, 3) (3, 4) (3, 5) (3, 6)  

(4, 1) (4, 2) (4, 3) (4, 4) (4, 5) (4, 6)  

(5, 1) (5, 2) (5, 3) (5, 4) (5, 5) (5, 6)  

(6, 1) (6, 2) (6, 3) (6, 4) (6, 5) (6, 6)  

So, total number of outcomes in a single throw 

of two dice = 36  

When first Rahul and then Aman throw their 

respective dices, total number of outcomes = 

36 + 36 = 72  

In a game, all three throw their dices and each 

one of them get 8 as the sum of numbers in 

their dices and any one of two not get same 

outcomes.  

So, the required possibility = (2, 6) (3, 5) (4, 

4) (5, 3) (6, 2)  

Winner is the one who gets highest number as 

the sum of the square of the number comes in 

dices.  

(2, 6) =   

(3, 5) =   

(4, 4) =   

(5, 3) =   

(6, 2) =   

So, Raman will get (2, 6) and the other two 

will get (3, 5) and (4, 4)  

So, in office Rahul gives some work to his 

subordinates P1 and P2 at 12.30 – 2.5 hours 

= 10 am.  

So option (e) is the correct answer. 

163. Ans. B.  

Rahul runs 40 minutes.  

For starting 15 minutes  

Speed = 5 km/hr  

Distance =  km  

For next 25 minutes  

Speed = 9 km/hr  

Distance =  km  

Total distance =   

So, he runs total 5 km on treadmill.  

P1 can complete that work in 6 hours  

Efficiency of P1 and P2 = 5: 4.  

So, P2 can complete the work 

in  hours  

So, the number of units of work done by them 

in one hours =   

So, they together can complete the work 

in hours  

P1 and P2 together complete 75% of that work 

at 12:30 p.m.  

100% of the work is completed in hours  

So, 75% of the work will be completed 

in hours  

So, in office Rahul gives some work to his 

subordinates P1 and P2 at 12.30 – 2.5 hours 

= 10 am.  

Rahul and P2 together can complete same 

work in 3 hours.  
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So, Rahul can complete the whole work in 5 

hours  

Also, P1 can complete that work in 6 hours  

So, ratio of the efficiency of P1 and Rahul = 6: 

5  

So, required percentage 

=   

So, Rahul is 20 % more efficient than P1.  

Distance between house and office = 45km.  

Time taken to reach office = 1.5 hours at 9:30 

a.m.  

Speed =   

Speed of stream = 3km/hr  

Therefore, required time 

=   

So, he takes  hours to reach home.  

Total outcomes in a single throw of 2 dice =  

(1, 1) (1, 2) (1, 3) (1, 4) (1, 5) (1, 6)  

(2, 1) (2, 2) (2, 3) (2, 4) (2, 5) (2, 6)  

(3, 1) (3, 2) (3, 3) (3, 4) (3, 5) (3, 6)  

(4, 1) (4, 2) (4, 3) (4, 4) (4, 5) (4, 6)  

(5, 1) (5, 2) (5, 3) (5, 4) (5, 5) (5, 6)  

(6, 1) (6, 2) (6, 3) (6, 4) (6, 5) (6, 6)  

So, total number of outcomes in a single throw 

of two dice = 36  

When first Rahul and then Aman throw their 

respective dices, total number of outcomes = 

36 + 36 = 72  

In a game, all three throw their dices and each 

one of them get 8 as the sum of numbers in 

their dices and any one of two not get same 

outcomes.  

So, the required possibility = (2, 6) (3, 5) (4, 

4) (5, 3) (6, 2)  

Winner is the one who gets highest number as 

the sum of the square of the number comes in 

dices.  

(2, 6) =   

(3, 5) =   

(4, 4) =   

(5, 3) =   

(6, 2) =   

So, Raman will get (2, 6) and the other two 

will get (3, 5) and (4, 4)  

So, Rahul is 20 % more efficient than P1.  

So option (b) is the correct answer. 

164. Ans. D.  

Rahul runs 40 minutes.  

For starting 15 minutes  

Speed = 5 km/hr  

Distance =  km  

For next 25 minutes  

Speed = 9 km/hr  

Distance =  km  

Total distance =   

So, he runs total 5 km on treadmill.  

P1 can complete that work in 6 hours  

Efficiency of P1 and P2 = 5: 4.  

So, P2 can complete the work 

in  hours  

So, the number of units of work done by 

them in one hours =   

So, they together can complete the work 

in hours  

P1 and P2 together complete 75% of that 

work at 12:30 p.m.  

100% of the work is completed in hours  

So, 75% of the work will be completed 

in hours  

So, in office Rahul gives some work to his 

subordinates P1 and P2 at 12.30 – 2.5 hours 

= 10 am.  

Rahul and P2 together can complete same 

work in 3 hours.  
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So, Rahul can complete the whole work in 5 

hours  

Also, P1 can complete that work in 6 hours  

So, ratio of the efficiency of P1 and Rahul = 6: 

5  

So, required percentage 

=   

So, Rahul is 20 % more efficient than P1.  

Distance between house and office = 45km.  

Time taken to reach office = 1.5 hours at 9:30 

a.m.  

Speed =   

Speed of stream = 3km/hr  

Therefore, required time 

=    

So, he takes  hours to reach home.  

Total outcomes in a single throw of 2 dice =  

(1, 1) (1, 2) (1, 3) (1, 4) (1, 5) (1, 6)  

(2, 1) (2, 2) (2, 3) (2, 4) (2, 5) (2, 6)  

(3, 1) (3, 2) (3, 3) (3, 4) (3, 5) (3, 6)  

(4, 1) (4, 2) (4, 3) (4, 4) (4, 5) (4, 6)  

(5, 1) (5, 2) (5, 3) (5, 4) (5, 5) (5, 6)  

(6, 1) (6, 2) (6, 3) (6, 4) (6, 5) (6, 6)  

So, total number of outcomes in a single throw 

of two dice = 36  

When first Rahul and then Aman throw their 

respective dices, total number of outcomes = 

36 + 36 = 72  

In a game, all three throw their dices and each 

one of them get 8 as the sum of numbers in 

their dices and any one of two not get same 

outcomes.  

So, the required possibility = (2, 6) (3, 5) (4, 

4) (5, 3) (6, 2)  

Winner is the one who gets highest number as 

the sum of the square of the number comes in 

dices.  

(2, 6) =   

(3, 5) =   

(4, 4) =   

(5, 3) =   

(6, 2) =   

So, Raman will get (2, 6) and the other two 

will get (3, 5) and (4, 4)  

So, he takes  hours to reach home.  

So option (d) is the correct answer. 

165. Ans. A.  

Rahul runs 40 minutes.  

For starting 15 minutes  

Speed = 5 km/hr  

Distance =  km  

For next 25 minutes  

Speed = 9 km/hr  

Distance =  km  

Total distance =   

So, he runs total 5 km on treadmill.  

P1 can complete that work in 6 hours  

Efficiency of P1 and P2 = 5: 4.  

So, P2 can complete the work 

in  hours  

So, the number of units of work done by them 

in one hours =   

So, they together can complete the work 

in hours  

P1 and P2 together complete 75% of that work 

at 12:30 p.m.  

100% of the work is completed in hours  

So, 75% of the work will be completed 

in hours  

So, in office Rahul gives some work to his 

subordinates P1 and P2 at 12.30 – 2.5 hours 

= 10 am.  

Rahul and P2 together can complete same 

work in 3 hours.  
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So, Rahul can complete the whole work in 5 

hours  

Also, P1 can complete that work in 6 hours  

So, ratio of the efficiency of P1 and Rahul = 6: 

5  

So, required percentage 

=   

So, Rahul is 20 % more efficient than P1.  

Distance between house and office = 45km.  

Time taken to reach office = 1.5 hours at 9:30 

a.m.  

Speed =   

Speed of stream = 3km/hr  

Therefore, required time 

=   

So, he takes  hours to reach home.  

Total outcomes in a single throw of 2 dice =  

(1, 1) (1, 2) (1, 3) (1, 4) (1, 5) (1, 6)  

(2, 1) (2, 2) (2, 3) (2, 4) (2, 5) (2, 6)  

(3, 1) (3, 2) (3, 3) (3, 4) (3, 5) (3, 6)  

(4, 1) (4, 2) (4, 3) (4, 4) (4, 5) (4, 6)  

(5, 1) (5, 2) (5, 3) (5, 4) (5, 5) (5, 6)  

(6, 1) (6, 2) (6, 3) (6, 4) (6, 5) (6, 6)  

So, total number of outcomes in a single throw 

of two dice = 36  

When first Rahul and then Aman throw their 

respective dices, total number of outcomes = 

36 + 36 = 72  

In a game, all three throw their dices and each 

one of them get 8 as the sum of numbers in 

their dices and any one of two not get same 

outcomes.  

So, the required possibility = (2, 6) (3, 5) (4, 

4) (5, 3) (6, 2)  

Winner is the one who gets highest number as 

the sum of the square of the number comes in 

dices.  

(2, 6) =   

(3, 5) =   

(4, 4) =   

(5, 3) =   

(6, 2) =   

So, Raman will get (2, 6) and the other two 

will get (3, 5) and (4, 4)  

When first Rahul and then Aman throw their 

respective dices, total number of outcomes = 

36 + 36 = 72  

So option (a) is the correct answer. 

166. Ans. E.  

Rahul runs 40 minutes.  

For starting 15 minutes  

Speed = 5 km/hr  

Distance =  km  

For next 25 minutes  

Speed = 9 km/hr  

Distance =  km  

Total distance =   

So, he runs total 5 km on treadmill.  

P1 can complete that work in 6 hours  

Efficiency of P1 and P2 = 5: 4.  

So, P2 can complete the work in 

  hours  

So, the number of units of work done by them 

in one hours =   

So, they together can complete the work 

in hours  

P1 and P2 together complete 75% of that work 

at 12:30 p.m.  

100% of the work is completed in hours  

So, 75% of the work will be completed 

in hours  

So, in office Rahul gives some work to his 

subordinates P1 and P2 at 12.30 – 2.5 hours 

= 10 am.  

Rahul and P2 together can complete same 

work in 3 hours.  
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So, Rahul can complete the whole work in 5 

hours  

Also, P1 can complete that work in 6 hours  

So, ratio of the efficiency of P1 & Rahul= 6: 5  

So, required percentage 

=   

So, Rahul is 20 % more efficient than P1.  

Distance between house and office = 45km.  

Time taken to reach office = 1.5 hours at 9:30 

a.m.  

Speed =   

Speed of stream = 3km/hr  

Therefore, required time 

=   

So, he takes  hours to reach home.  

Total outcomes in a single throw of 2 dice =  

(1, 1) (1, 2) (1, 3) (1, 4) (1, 5) (1, 6)  

(2, 1) (2, 2) (2, 3) (2, 4) (2, 5) (2, 6)  

(3, 1) (3, 2) (3, 3) (3, 4) (3, 5) (3, 6)  

(4, 1) (4, 2) (4, 3) (4, 4) (4, 5) (4, 6)  

(5, 1) (5, 2) (5, 3) (5, 4) (5, 5) (5, 6)  

(6, 1) (6, 2) (6, 3) (6, 4) (6, 5) (6, 6)  

So, total number of outcomes in a single throw 

of two dice = 36  

When first Rahul and then Aman throw their 

respective dices, total number of outcomes = 

36 + 36 = 72  

In a game, all three throw their dices and each 

one of them get 8 as the sum of numbers in 

their dices and any one of two not get same 

outcomes.  

So, the required possibility = (2, 6) (3, 5) (4, 

4) (5, 3) (6, 2)  

Winner is the one who gets highest number as 

the sum of the square of the number comes in 

dices.  

(2, 6) =   

(3, 5) =   

(4, 4) =   

(5, 3) =   

(6, 2) =   

So, Raman will get (2, 6) and the other two 

will get (3, 5) and (4, 4)  

So, Raman will get (2, 6) and the other two 

will get (3, 5) and (4, 4)  

So option (e) is the correct answer. 

167. Ans. C.  

3x+5.92x−4 = 95x−14 

9(x+5)/2.92x−4 = 95x−14 

Comparing powers, 

(x+5)/2 + 2x-4 = 5x-14 

x = 5 

And, 2y2 −15y−28 = 3y2 −23y−13 ⇒ y2 −8y+15 = 0 ⇒ y2−3y−5y+15 = 0 ⇒ y(y−3)−5(y−3) = 0 ⇒ (y−5)(y−3) = 0 ⇒ y = 5 ,3 

Quantity I: - Value of x = 5 

Quantity II: - Value of y = 5 , 3 

So option C Quantity I ≥ Quantity II 
168. Ans. B.  

Quantity I: Let C.P. → Rs 100 

So, S.P. → (100+ 29.6)=Rs 129.6 

ATQ, M.P. → 129.6/72 ×100 ⇒ Rs 180 

‘x’ ⇒ [180 × (100 – 30)/100] -100 ⇒ 26% 

Quantity I: 26% 

Quantity II: 38 

So Quantity I < Quantity II 

169. Ans. A.  

Let efficiency of 1 man, 1 woman and 1 child 

is m, w and c respectively 

ATQ, 10 × 12m = 18w × 20 = 27c × 20 

2m = 6w = 9c 

So, 9w=3m & 9c=2m 

Let total work = 120 m 

Quantity I: (9w + 9c) × 16 = (3m + 2m) × 

16 = 80 m 

Remaining work = 120 m – 80 m = 40 m 

Number of men required to complete 

remaining work in one day = 40 

Quantity I= 40 

Quantity II = 36 

Quantity I > Quantity II 
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170. Ans. A.  

Quantity I:- 

Let total capacity of tank be 60 unit. 

A capacity= 60/20= 3 unit/min 

B capacity= 60/15= 4 unit/min 

C capacity= 60/12= 5 unit/min 

Units filled in first three minutes = 3 + 4 + 5 

= 12 unit 

12 unit filled time= 3 min 

60 unit filled time= 3×60/12= 15 min 

Hence, total time taken= 15 minutes 

Quantity II:- Let waste pipe can empty the 

cistern in x min 

1/ 10 + 1 /15 − 1 /𝑥 = 1 /18 ⇒ 1 /𝑥 = (9+6−5)/ 90 = 10/90 ⇒ x = 9 minutes 

Quantity I= 15 

Quantity II=9 

Quantity I > Quantity II 

171. Ans. A.  

Total units consumed by House A: 250  

Units consumed by Fans in House A: 50  

Units consumed by Lights in House A: 80  

Units consumed by Other Appliances in 

House A: 120  

Total units consumed by House B: 270  

Units consumed by Fans in House B: 80  

Units consumed by Lights in House B: 80  

Units consumed by Other Appliances in 

House B: 110  

Total units consumed by House C: 170  

Units consumed by Fans in House C: 40  

Units consumed by Lights in House C: 40  

Units consumed by Other Appliances in 

House C: 90  

Units consumed by Lights in House B: 80  

Units consumed by Lights in House C: 40  

Therefore, required percentage 

=   

So option (a) is the correct answer. 

172. Ans. C.  

Total units consumed by House A: 250  

Units consumed by Fans in House A: 50  

Units consumed by Lights in House A: 80  

Units consumed by Other Appliances in 

House A: 120  

Total units consumed by House B: 270  

Units consumed by Fans in House B: 80  

Units consumed by Lights in House B: 80  

Units consumed by Other Appliances in 

House B: 110  

Total units consumed by House C: 170  

Units consumed by Fans in House C: 40  

Units consumed by Lights in House C: 40  

Units consumed by Other Appliances in 

House C: 90  

Units consumed by Other Appliances in 

House B: 110  

Units consumed by Other Appliances in 

House C: 90  

Units consumed by Other Appliances in 

House D: x  

Given,  

  

  

  

So option (c) is the correct answer. 

173. Ans. E.  

Total units consumed by House A: 250  

Units consumed by Fans in House A: 50  

Units consumed by Lights in House A: 80  

Units consumed by Other Appliances in 

House A: 120  

Total units consumed by House B: 270  

Units consumed by Fans in House B: 80  

Units consumed by Lights in House B: 80  

Units consumed by Other Appliances in 

House B: 110  

Total units consumed by House C: 170  

Units consumed by Fans in House C: 40  

Units consumed by Lights in House C: 40  

Units consumed by Other Appliances in 

House C: 90  

Total units consumed by House A: 250  

Total units consumed by House C: 170  

So, required sum = 250 + 170 = 420 units  

So option (e) is the correct answer. 

174. Ans. B.  

Total units consumed by House A: 250  

Units consumed by Fans in House A: 50  

Units consumed by Lights in House A: 80  

Units consumed by Other Appliances in 

House A: 120  
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Total units consumed by House B: 270  

Units consumed by Fans in House B: 80  

Units consumed by Lights in House B: 80  

Units consumed by Other Appliances in 

House B: 110  

Total units consumed by House C: 170  

Units consumed by Fans in House C: 40  

Units consumed by Lights in House C: 40  

Units consumed by Other Appliances in 

House C: 90  

Units consumed by Other Appliances in 

House B: 110  

Units consumed by Other Appliances in 

House C: 90  

So, required difference = 110-90 = 20 units  

So option (b) is the correct answer. 

175. Ans. D.  

Total units consumed by House A: 250  

Units consumed by Fans in House A: 50  

Units consumed by Lights in House A: 80  

Units consumed by Other Appliances in 

House A: 120  

Total units consumed by House B: 270  

Units consumed by Fans in House B: 80  

Units consumed by Lights in House B: 80  

Units consumed by Other Appliances in 

House B: 110  

Total units consumed by House C: 170  

Units consumed by Fans in House C: 40  

Units consumed by Lights in House C: 40  

Units consumed by Other Appliances in 

House C: 90  

Units consumed by Lights in House A: 80  

Units consumed by Other Appliances in 

House A: 120  

So, total units consumed by Lights and Other 

appliances together in House ‘A’ = 200  

Units consumed by Fans in House C: 40  

Units consumed by Lights in House C: 40  

So, total units consumed by Fans and Lights 

together in House ‘C’ = 80  

So, required percentage 

=   

So option (d) is the correct answer. 

176. Ans. B.  

Total investment = 80000  

Investment of A 

=   

Investment of B 

=   

Investment of C =   

Investment of D =   

Investment of E =   

Investment of B 

=   

Investment of E =   

Total investment of B = 28000 × 9  

Total investment of E = 12000 × 12  

Ratio of profit of B and E   

= 28 × 9 : 12 × 12 = 7 : 4 

Profit of B =   

Profit of E =   

So, required difference 

=   

So option (b) is the correct answer. 

177. Ans. D.  

Total investment = 80000  

Investment of A =   

Investment of B =   

Investment of C =   

Investment of D =   

Investment of E =   

Investment of A =   

Investment of C =   

Investment of D =   

Total investment of A = 20000 × 6  
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Total investment of D = 8000 × 8  

Total investment of C = 12000 × x  

Ratio of profit of A, D and C = 120: 64: 12x 

= 30: 16: 3x  

Total profit = 13050  

Share of A =   

So,   

So,   

So, x = 4  

So option (d) is the correct answer. 

178. Ans. A.  

Total investment = 80000  

Investment of A =   

Investment of B =   

Investment of C =   

Investment of D =   

Investment of E =   

Investment of A =   

Investment of C =   

Investment of F = 12000 + 4000 = 16000 

Total investment of A =   

Total investment of C =   

Total investment of F =   

Ratio of profit = 20 x 12: 12 x 8: 16 x 6 = 

20: 8: 8 = 5: 2: 2  

Profit of A and C =   

So, total profits =   

So option (a) is the correct answer. 

179. Ans. A.  

C.P. of 10 note books ⇒ 140 × 10 = 1400 Rs. 

Profit on selling one pen ⇒ 50×200/100 = Rs 

100 

Number of pen required ⇒ 1400/100 = 14 

 

180. Ans. D.  

Let speed of slower train = 2x ⇒ speed of faster train = 5x 

ATQ, (150 + 200)/(2x + 5x) = 15 

x = 10/3 

Time required=350/[50/3–20/3]= 35 seconds 

181. Ans. E.  

Let length and breadth of rectangle be L cm 

and B cm respectively So, ATQ 

Area1= (L-6)×B 

But this is square, so L-6=B 

Area1= (L-6) × (L-6) 

Case 2, Area2= L × (B+6), 

L=B+6 

So, Area2= L × L, 

Given, Area2-Area1= 252 

(L)2-(L-6)2=252 

Solving this, L= 24 

B= 18 

Perimeter= 2(L+B)= 2(24+18)= 84 cm 

182. Ans. A.  

Diagonal of Square = Side √2= 2.5√2 × √2 
= 5 cm 

Breadth = 5 cm 

Length of rectangle = 5 × 3 = 15 cm 

Area of rectangle = 15 × 5 = 75 cm2 

183. Ans. B.  

let speed of boat= X, speed of stream= Y 

Upstream speed= X-Y 

Downstream speed= X+Y 

Sum of upstream & downstream= (X-Y) + 

(X+Y)= 2X 

So, 2X= 40 

X= 20 km/hr 

Speed of boat : speed of stream= 600+100 : 

100= 7:1 

So speed of Stream= 20/7 km/hr 

ATQ, D/( X-Y) + D/( X+Y) = 5 

D/(120/7) + D/(160/7)= 5 

D= 480×5/49= 48.97 km= 50 Km(approx) 

184. Ans. C.  

Ratio of profit, 

A : B = (800 × 8+ 900+ 1000+ 1100+ 1200) 

: (1600 × 8+ 1700+ 1800+ 1900+ 2000) 

A : B = 53 : 101 

Profit of A ⇒ 7700 ×53/154 = 2650 Rs. 
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185. Ans. C.  

Let initial investment of A = x 

Ratio of profit A : B : C = 12 × x : 6×4500 : 

4×4500 

A :B:C = x : 2250: 1500 

Now ATQ 

x/(x+2250+1500) = 4900/10000 

solving this we get, 

x ≈ Rs 3600 

186. Ans. C.  

  

Selling price of A = 105  

Profit Percentage = 40%  

CP =   

Selling price of B = 60  

Profit Percentage = 20%  

CP =   

Selling price of C = 150  

Profit Percentage = 25%  

CP =   

Selling price of D = 120  

Profit Percentage = 60% CP =   

Selling price of E = 90  
Profit Percentage = 80%  

CP =   

Selling price of D = 120  
Profit Percentage = 60%  

CP =   

For Ravi,  
Profit = 120 – 75 = 45  
CP of Shyam = 120  
Profit = 25%  

SP =   

For Shyam,  
Profit = 150 – 120 = 30  
So, required difference = 45 – 30 = 15  
So option (c) is the correct answer. 
 
 
 

187. Ans. B.  

  
Selling price of A = 105  
Profit Percentage = 40%  

CP =   

Selling price of B = 60  
Profit Percentage = 20%  

CP =   

Selling price of C = 150  
Profit Percentage = 25%  

CP =   

Selling price of D = 120  
Profit Percentage = 60%  

CP =   

Selling price of E = 90  
Profit Percentage = 80%  

CP =   

CP of article A =   

CP of article C =   

Required percentage 

=   

So option (b) is the correct answer. 

188. Ans. D.  

  

Selling price of A = 105  

Profit Percentage = 40%  

CP =   

Selling price of B = 60  

Profit Percentage = 20%  

CP =   

Selling price of C = 150  

Profit Percentage = 25%  

CP =   

Selling price of D = 120  
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Profit Percentage = 60%  

CP =   

Selling price of E = 90  

Profit Percentage = 80%  

CP =   

Selling price of B = 60  

Profit Percentage = 20%  

CP =   

Profit = 60 – 50 = 10  

Marked price =   

Let, the percentage discount given = x  

  

  

So option (d) is the correct answer. 

189. Ans. E.  

  

Selling price of A = 105  

Profit Percentage = 40% CP =   

Selling price of B = 60  

Profit Percentage = 20%  

CP =   

Selling price of C = 150  

Profit Percentage = 25%  

CP =   

Selling price of D = 120  

Profit Percentage = 60%  

CP =   

Selling price of E = 90  

Profit Percentage = 80%  

CP =   

Selling price of C = 150  

Profit Percentage = 25%  

CP =   

Profit = 150 – 120 = 30  

Selling price of E = 90  

Profit Percentage = 80%  

CP =   

Profit = 90 – 50 = 40  

Required difference = 40 – 30 = 10  

So option (e) is the correct answer. 

190. Ans. B.  

  

Selling price of A = 105  

Profit Percentage = 40%  

CP =   

Selling price of B = 60  

Profit Percentage = 20%  

CP =   

Selling price of C = 150  

Profit Percentage = 25%  

CP =   

Selling price of D = 120  

Profit Percentage = 60%  

CP =   

Selling price of E = 90  

Profit Percentage = 80%  

CP =   

Selling price of A = 105  
Profit Percentage = 40%  

CP =   

Let marked price = x  

So,   

So, x =   

Required percentage 

=   

So option (b) is the correct answer

 

http://www.gradeup.com/
https://xu75j.app.goo.gl/8sA6

